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UPSC =T |91 Uit 9T (WeTdeh shaiee) Udiat, 2023
UPSC CAPF (Assistant Commandant)
Paper-I : General Ability and Intelligence
AT Higd g YoH-U

1. Pointing towards a photograph Mr. Ajit said,
"She is my father's wife's son's only sister."

What is the relation of the person in the

photograph with Mr. Ajit?

= Teh WIS, &t AN Hohd T T

‘o WY faar i Oelt % A @ TS

WU | ST s §, @ oft 3tfvra & ==
(a) Daughter/Ti  (b) Mother's sister/AT &I &
(c) Cousin/fs< (d) Sister/ag

Ans. (d) : IAER,
et foreetard @ - _
il
A =0 =&, A=T8Y
fq—'“T O-=nfezn

aﬁ:?aﬁwmgﬁﬁgmﬁa}wﬁs%,a%aﬁﬁﬁ
T §

2. Three circles of radius 5 cm each, touch each
other. If the points of contact are P, Q and R,
then what is the area of the triangle PQR in sq.
cm?

T 5 cm ﬁwmﬁ?ﬁ'—rﬁ@?aﬁmﬁ
w81 Afe et P, Q 3iR R ¥, df =
PQR T QHW sq.cm 7
@ 253 ®) 25\3
6 4
(©) # (d) 253
Ans. (b) : I¥THER,

AB =BC = AC = 10 I,
a9 AP=AQ=5cm
37d: HaTg S AABC 1 &%ha

- gaz =?(10)2 = 253 (&)’

APQR ! &% = iXAABCEﬂ &,

lx25\/7 :&sz
4 4

3.

The right-angled triangle ABC is such that /B
= 90°. Point D is picked on BC such that
triangles ABC and DBA are similar. If AB : BC
= m : n, what is AABC : AABD, where A
denotes the area of a triangle?

1<t ABC 39 Y&R fR /B = 90° R
BC W f3ig D 36 W& A1 wian ¢ for B
ABC 3T DBA HH®U R A AB: BC=m : n
¥, @ AABC : AABD &R &, W&f A Brast &
&ISTOheT Rl QUTIT 82
(3 n:m
(¢) (m+n):n

(b) n*: m’
(d) (m+n)*: n?

Ans. (b) : I¥THR,
A
D C B
/B =90
qaoar
AABC 3R ADBA ¥9&T g
qad
2
AB_BC _ AB” o5
DB AB BC
2
BD = &
BC

.. ArcaABC _ AB?

" AreaABD pp2

_AB? _BC?

AB* AB?
BC’
2
Area ABC _ n™ {+AB:BC=m:n}
Area ABD 2

4.

On a large ground, there is a straight tall
vertical wall of length 28 m. A goat is tied to a
point on the ground which is at the middle of
the wall, using a rope. If the length of the rope
is 21 m, what is the area of the region (in sq. m)
around the wall that the goat can access?

forelt a1 g Tt WE el

Tl @t @emE 21 m 2, A fER % = SR

% IH G N AR (sq. m ) FAT &, T&l aF
TR T

(a) 847 (b) 851

(c) 693 (d) 654
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Ans. (a) : F¥ER, B
' ?m\
i (wall)
Goat o
v 21m
\ I4ml 2B
; Tm 4
2 2 2
§ 2 R 8 =TC><(21) wx(7) +Tc><(7)
2 2 2
= 22 x21x21+ 22 xXTxT+ 22 xTx7
X X X
=693 +77+77=847m’

5. A rectangular wall is divided into four squares
of equal size where there are two rows each
having two squares. The top left square is
coloured with green. If, including green, there
are three colours available and each square is
coloured using any one of these three colours
such that no two adjacent squares get painted
with the same colour; then how many colour
combinations are possible?

Teh AMIATRR AR i TH ATATT o =7 ot
# forentsre feram s @ fraw o el € 3iR
Wedeh Ufth | oF o g1 Iftd o g et eht 'Y T
¥ T AT {1 Afg, g0 ated, @ G suers §
R wees ot @t 3 o= @it ' @ foreft wes
W W YR O rar ¢ foh & ores ot
ThEHE 18 T & W1, | fohe &1 Hefre
(@)2 (b) 4 () 6 (d38
Ans. (¢) :
|
gl
A% Il

AT & SR T ol 7 el 8

-1

w3 g e T ) om 2 i ot

7 e 31 9 T SR AW B A §

g | e
et | @

3T0: T & T = 2

-1

g I & 1 T e @ (R e @) e/ g e =iy

F A G H TSR AR F A g G

B | @l
e | e

3A: HWEAT o e = 2

IE-111

Ted At F R 1 ¥ (R @) o g Fi A qen =9

F AA § T 39 AR a1 H g T F T

g | e

e | &
3d: G9IEl @ G= = 1
I -IV-
%ﬁaﬁﬁ@mﬁwwé(ﬁm%mﬁﬁm
T =Y W A § O a9 T A R Y

| | &

dier | 80
GrqET & §E@ =
T ol G H F@T =2+2+1+1=6

6. Which of the following statements about

National Emergency is/are correct?
MUt %k ¥ | wA-
/- e G 8/82
1. A proclamation of Emergency may be
made by the President only when the
security of India or any part there of is
threatened by war or external aggression
or armed rebellion./3TdTd At

TPl GRT hael ad i T AR T Tg
o1 ST SHA AT T RIRE W HW
TR a7 S feRdt ST St GRam Gehe ¥ )

The Government of India acquires power
to give directions to a State on any matter.

O Wi feredt T <y femeft oft fomar &
Forcfor 2 o oI wifvh arfsta st €1
The Proclamation of Emergency does not
suspend the state legislature. .

T fau=-vsa @
frreifera = et 71
The Proclamation of Emergency can
continue for a maximum period of six
months at a time only if approved by

resolutions of both the Houses of
Parliament./3TqTd &t Teh X

ST B WTE wht T o forg ot sl
T Hehelt § W& ek Toh WES & S Tl
& HeheUl T SHERT ITHIGT &t & fear
T B
Select the correct answer usin
below : QT <he <Al

(a) 1 only/&aa 1

(b) 1and20n1y/a\v'5|?T 1 32

(c) 1,2 and 3 only/3da 1, 2 3 3

(d) 2,3 and 4 only/&aet 2, 3 3R 4
Ans. (d) : IR0 HfouM % Fw=e-352 H UM
ATTbTe T a0 f3har T §1 9Ra 3teer fRd m &
T FI IF AT TR SHA ] T g e
HAET The & HNUT Tl 399 e W qyud e
SH AN H WA g1 APU g g
AT Sl SO | o ymg uftafera @i
(l)wwmwaﬁﬁ@%ﬂﬁmﬁﬁ%ﬂéﬁ%

fore wifeh arfsfa &t 21

the code given
w & 3T
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(ii)?&ﬁéﬁmmﬁmﬁwaﬁﬁﬁmﬁ

|

(iii) 3T T ST U IR H IHaH B AE H
W%Wmﬂaﬁwmémﬁﬁsw%
A Tl F e BN IS AR & H f
ST 2

7. Which one of the following statements with

regard to the impeachment of a Judge of the
Supreme Court of India is not correct?

ORA o ITIAH TS o TeRET T
TEIRTENT T & Heier # fefaiad wmeet o
¥ H-11 W T &2

(a) A motion addressed to the President, signed
by at least 100 members of both the Houses
of the Parliament is delivered to the
Speaker./H8e B [ & FT-9-F9 100
gedl g gwERa iR uyufy @ Heifm

YIS TR Bl WA foha S 21

The motion is investigated by a Committee of
three (2 Judges of the Supreme Court and a
distinguished  Jurist)/d gfyfa
(STIAH IEd & 2 ey i uw i
Tt SR 39 ST i ST f3haT ST 2|
If the Committee finds the Judge guilty of
misbehaviour or that he suffers from
incapacity, the motion together with the
report of the Committee is taken up for
consideration in the House where the motion

is pending./af% qfafa g9 fspd W
FEER A A 2 A q 7%
g, @ dfufy & RUd & Go-g 39 sE W
we # foram fovan S St 7% e o g
The Judge will be removed after the President
gives his order for removal./TFUfd R 82TT
S H Ry AU 9 6 gHe e &
(ARSI
IRA & SeadH IR % (hal =ATTE W
F gy § ey (a) @ 2 il
1968 # & ¥ FH 100

ArHET

TRIFYEIT T W = 30T & Y & S Hid
F ulsear S W §1 IwIad e @ R 3=
I & fRE EEY & demEm @ rEmddr &
AT HR Had H AN TEE g YPUR B THEE
wﬁﬁmaﬁaﬁmm%ﬁaﬂqaﬁ%mam
3 fawe & fou awg e aw 1 seum =
(st sifeferem, 1968 # fafed 21

8. Which of the following _are India's G20

T q &t

(b)

(©)

(d)

Ans. (a) :
TR

priorities? AR G20
umﬁraﬁrrq = &2
Green Development/&Ra faerra

2. Women-led Development

3. Climate Finance/Sterag faet
Digital Public Infrastructure
lgigﬂaﬁ AETTAT

Select the correct answer usin

below : QT ke <Al

the code given
w & 3T

(a) 1and20n1y/a\v'5|?T ] 3R 2
(b) 1,2 and 3 only/&a 1, 2 3 3
(c) 3 and 4 only/&ad 3 3 4
(d) 1,2,3and 4/1, 2, 3 3 4
Ans. (d) : YR 7 a9 2023 H G-20 R qwem &
am&m#sﬂaﬁmwmwﬁqéﬁwﬁﬁ
Fowed” fowg ¥ fFa w1 G20 TEEH @
ajr;%?r-v Yoad UE G SEer ¥ @Y ST b
AT 8| 9 & G-20 & Sefiehard fre @ -
(i) T foprd, SToar fom i Sfem
(ii) BRa, gamEsh R e fame
(iii) T fag T (TEES) i wfa § oS A
(iv) T qRed o fefee s smEgEa
(v) 218 98 & fou agoefia demd
(vi) Afgensii & g & fomre
9. Which of the following are the obectives of
SAARC? U ¥ ¥ (SAARC) &

ﬁwﬁw T

To promote the welfare of the peoples of
South _Asia and to_improyve the quality of
life. & W % HedTuT

ST T iR Sfraw @ qurasr § guw
T

2. To promote and strengthen collective self-
reliance among the countries of South
Asia. qEex

m—ﬁﬁmaﬁmémaﬁww&%gg
HET

3. To contribute to mutual trust, understanding
and appreciation of one another's
problems./ ﬁm, LLE) R Teh-
TE T AT R A B AR AT

4. To work towards ending cross-border
terrorism./HHT-UR  37dehalg el THTE
T i e A W T

Select the correct answer using the code given
below :

=frer fau 7T e 1 FET W TE ST G
(a) 1 and 2 only/&ae 1 3 2

(b) 1,2 and 3 only/&ad 1, 2 3 3

(c) 1,2,3and 4/1, 2, 3 3 4

(d) 3 and 4 only/3dd 3 3R 4

Ans. (b) : 9% (SAARC) 8 f&mR 1985 =& wifuq
T TR B A B U S SR TeE e
TS 21 THH T FIUVE, AU § g1 3W TS
* 32vd fm &
(i) 30T TRET F AN F HeAmT B oSQE & K
e 1 TqurET #§ gUR ST
(u)‘q’f%mmﬁsﬁsﬁéaquﬂ%ﬁsm—ﬁﬁwﬁ
T 3R 3H 3§ B
(111)34Tcre°r foar, @y o uH-qW F guemnd &
Wﬁmmlmmﬁim
fompra # o @, i @R S gEEgEs e
aﬁimﬁ{ﬂwwwmwwm

AT
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10. Pure, demineralized water, free from all

soluble mineral salts is obtained by which of
the followiong method?/AHWET

waun W e g, fomiiaa wior ffefaa

(a) Passing  water microfiltration

membrance.
S 1 GeH-freiad feelt § ER R
(b) Calgon's method/aeni fafer

(c) Passing water through a cation exchange and
an anion exchange resin bed/SIcl H A

fafme SR Fomee fafr I TR ¥ R &®
(d) By boiling/3aTeiaR
Ans. (¢) : TA oo @i @au 9 18 306, faaied
S & gaEe fafmE e wmomee Bt T 9
TR W A S 21 3 fafy o e fafa fafy
& &Y § S S 2

11. the following  redox
U=

foem st
2Cu,0(s) + Cu,S(s) - 6Cu(s)+S0, (g)

Identify the species among the following acting
as oxidant and reductant, respectively :

W HUIT: U 3TN U=
& wu o feramvfier wiivfist = ugenfau:
(a) Cu(I) and S of Cu,S/ Cu(I) 3R Cu,S &1 S
(b) Cuand S of SO,/Cu 3R SO, & S
(¢) Cuand O of SO,/Cu 3T SO, F O
(d) Cu(l) and O of SO,/Cu(l) 31R SO, F O
Ans. (a) : f33T T FHHT -

through

reaction:/
w

Consider

2Cu,0 (s) + Cu,S (s) = 6Cu(s) + So, (g)
sifufsher & @l tfrerenl @t o g
fera w,
+1 2 +1 2 0 +4 2

2Cu2 O(s)+ Cu2 S(s)—>6Cu(s)+ S O2 (2)

79 AR H SR @ +1 oFaRn ¥ I e
LT T YA AT T HT —2 T +4 b SHATFIBIT
g W 2?1 SOy Iueh e Sy etRfmar
(Redox Reactions) 81 39% 3R Cu,S ¥ Tewt &t
HFfieer G & gfE § Cu,0 TeEs® 21 3 Cu(l)
SFHIST g T Cu,S 1 T @A Cu,S 3R Cu,0 |
HR H SFRNHO-T H FH § Fg 81 3 Cu,S
feade gam

12. Which one of the following statements is not
correct regarding the setting of cement? .
Mg o Haer )
WHA-TT HYT T T &2

(a) The addition of a small percentage of gypsum
(CaSO,) Iengthens the setting period of
cement. (CaS0y) T ki

§ difie ageq & A 93 Sl |

(b) According to the colloidal theory, gels of
hydrated silicates are formed and when these
gels harden, the set cement loses strength.
Fraree! frEia & TR,

S B3R B A §, d Mg W I Seear
9 & I 2

(c) Tricalcium silicates is responsible for initial
setting of cement./ 3Tg e
z fferhe sowerh 2|
(d) Dicalcium silicate and tricalcium silicate are
responsible for the final strength which
occurs in about a year/ EEEGI
S 3R grghfovam faferese
S § ot 78 o s oy # ufed 2 )

Ans. (b) : YW T& Hequl aTRAAT AT 2| 9Rd |
Fﬁﬁﬁfﬁ?ﬂ?’?&ﬂﬁ@{?ﬂﬁzﬁq@ww#

1904 H Tonfyd fopam Tam ol @ & 3Mged & ey §

forfefaa som 9 &-

(i) RE| (CaSO,) ®' 31ey v # fyo= ¥ g &
3MgE I 3rafe o ST 21

(ii)!ﬂﬂ?%;ﬁ%ﬂ@q%maﬁwm
I 21

iii)3ifm geem % foau sEefevem  fufdee 3k
()aﬁwmméaﬁiﬁwqmaﬁ

T ufed 2 21

13. Which one is the most abundant of all the

elements on Earth?

geat uT g weft 9t § ¥ -9 waitew
TR AT B UrET S 82

(a) Silicon/fafwA  (b) Aluminium/TegHifaw
(c) Carbon/®@H  (d) Oxygen/3aeT

Ans. (d) : 9% & HE & 0T H 8§ yg@ d@l &
ATEH JqE 21 9 A § -
qw TS o ITEAR ot
SIS 46.60
ISIGET] 27.72
[UELIERL] 8.13
e 5
FHfeerm 3.63
Tifeam 2.83
e fyrEm 2.59
Frfferm 2.09
14. Which one of the following metals does not
react with oxygen directly?
Proriad & & - a1 st % T
e arfuferar T @t 82
(a) Ti (b) Fe (c) Pt (d) Zn
Ans. (¢) : =ifeaq (Pt) SIS & 919 T &9 9
sfufshar & el

| 3HY W1 €1 T
WWZn,E’B@ﬁWTiﬁ@[@TF afrg el
%ﬁw(gm%%amg)@ﬁ%
FF GaIlerd STFIEE a9 3 |

15. Consider the following observations about the
largest stupa at Sanchi:

WY & 9N ¥ FrAfaiad sEeiea W e

1. Going by information available from the
inscriptions on the railings of the stupa,
the construction of part of one of its
gateways was financed by the_ Guild of
Ivory workers./&[q g w

‘ ¥ YT AR % AR, gl
Jid T T S el FOTeueRil et Sifurat
U fqu U o= ¥ 3EeR U ANUBRT

TeEar I T em
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2. In its original early form, this stupa was
plain except for the stone railings and the
gateways, which were rlchly carved./dg

Sk ey e phepiys i

ar el

T
2l

3. The panels on the four gateways contain
sculptures only in the front and have no
sculptures on the rear side./=T w

hHeel FUHTT o HeTehi H HfdAT Sehiul sht
¢ off of wgamr ¥ W gRt st @
&t e oy

4. 1In 1918, when the stupa was discovered, all

of its four gates were intact but the mound
was in poor condition./1918 H, SI& 38 U
aafer T wgeh off, fohg e woi fafa & am
5. Art historians have established clear
connections between the sculptures of the

stupa with events described in Jataka
Tales./&eTl wa &

3R ST wemedt § aftta HemTeR & s
g ety wenfud femam 7

6. War scenes have also been depicted in
these sculptures./s g5 D

goat e oft frsror femam T &)

Which of the observations given above are
correct?

IULTH AR | A hiA-T WL &2
(a) 1,2,3 and 4 only/&ad 1, 2, 3 3 4
(b) 2,3,4and 5 only/det 2, 3, 4 3N 5
(©) 3,4,5and60nly/§h—°|ﬁ 3,4,5 36
(d) 1,2,5and 6 only/&ad 1, 2, 5 3R 6
Ans. (b) : =l & WeM &U I 0T el v 2.
e e ST AT T AT1 Wi WO % fo
# feferfiad sae 9o &-
(i) I8 WU 3 g RS &9 H A7 ciwwor & o,
sﬂ%ﬁawﬁwaﬁéﬁaﬂqﬁtaﬁmm@r
ﬁmﬁqaqa‘m"rsﬁﬁns‘?m
(if) FeT SFeEN 3 WU it fiwan R AaH FaAred #
fofe st éamzr Wmﬁﬁﬁwé
(iii) IR TG W Fael TAAMT F Belhi | Wﬁﬂf
& T It S g # i g st T
(iv)1918ﬁ & 39 H @ saﬁaaﬁr;ﬁwmﬁ
R HE @ T T A, b e o R & e
Which of the followmg airs are correctl
matched" '§ F'%

16.

(Inscription/Event
(TTeE /e
1. Prayag Prashasti by : 4“‘century CE
Harishena LU 4t CE
Tfera wamT gt
2. Chinese traveller Fa 6th century CE

Xian's Account ' 6ot CE
==t Tt wifga=

T gia

(Time Period)

3. Mudrarakshasa of 5™ century CE
Vishakhadatta 5eff CE
Ca)
e EARL R
4.  Harshacharita of 6" century CE
Banabhatta ot CE
STUTHE ST FHEARA
5. Aihole Prashasti of 7™ century CE
Ravikirti Ed) f CE
LR R NI
6. Kavirajamarga of 8" century CE
Amoghavarsha geft CE
Ea)
SHTSRTSTHTT
Select the correct answer using the code given
below :
et fqu 7T e ST TERT T WE ST G
(a) 1,2 and 3 only/ad 1, 2 3R 3
(b) 2, 3 and 4 only/&ad 2, 3 3 4
(c) 4,5 and 6 only/3dd 4, 5 3 6
(d) 1,3 and 5 only/&ee 1, 3 3 5
Ans. (¥) :
(3T /Tre) (SRTEATATET)
1. | 3RuOT g0 T wam weia | 43 v 8.9
2. | I aEf wRIE @ am gaid | 5E S 8.
3. | fommEEa @1 qEOEE 63 T ..
4. | amTg N AR 7 T 2.,
5. | fa=ifd &t vgra s 74 T 3.,
6. | eTEEY 1 HiGTSHRT ot v 5.9,
17. Which one of the following statements is
correct? -
Preaferiaa st § ¥ w=-ar1 adt 82
(a) Brahmi, used for writing many Ashokan

inscriptions, shows local Varlatlons

oREe % forw
aﬁﬁwﬁamﬁa‘raﬁa’sﬁr% W

(b) The system of hieroglyphic writing was
developed in ancient Mesopotamia.

: &1 fom o= et
T g3
(c) The system of cuneiform writing developed

around 3" millennium BCE in Egypt
FAFER TR 1 fawEw e

dredt weefsa BCE # §37 411

(d) An ancient script, Kharoshthi was widely
used in the southern part of India

T I faft, @l & s 9rd & <of
arT § =9 &9 F i ol

frm & o

Ans. (a) : 3% % 3% ReTerdl & a@d & T 5w
STel, T wUd F awid 81 T fafy 5 S
o A F o T serdl § et 81 A A %
afydt it § @A frfy B SuEn oA T @1 et &
SAfeRdl # g 9 A 21 37 fest # 9R fafre
Tell, WA, A (FAFT) 3R SWEES F AN 3:rr%|
Ae o SIS H v 9w fEY A 1837

Tel 9Tl
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18.  Which one of the following activities was not a

part of the daily time-table for a_King ag
prescribed in  Arthashastra?/ T

frefafaa & 9 ®E-91 SEdwa

T o e wo-wrvft s feear T om?
(a) Receive reports on defense

e o Hefe H FEAr I HET
(b) Visit the town incognito

Td 9 § TR T GHT FAT
(c) Receive revenue in cash

TS S Fohdl H A HTAT
(d) Consult his Council of Ministers

Ree 9 st ST

Ans. (b) : Wﬁmﬁmwwﬁwww

AT FEFAG TS B S THA-GRON 1 R A
ﬁﬁwaﬁwmﬁw%w@wwml%
o4 gEed & s e % T e §
H&H‘iﬁf{il TR TeHIfd R oeia geas evdvme @
T |

(a) Spleen/iaT
(c) Kidney/g&h

(b) Intestine/37
(d) Liver/ashd

Ans. (d) : UGBS H, IFd (Liver) Hl SRR F

forehett St Sferer & fammes ifTent & faaferieeor &

mw i siaged et Fedt @t 2,

EES

3 ﬁlﬁ?ﬁgﬁ STferl ®ed ¥ g Wi |

fefrs w?rsm * 7= W e 2

22. The rate of of an enzyme catalyzed reaction
depends : W‘q & T
fore w foreft weelt €2

(a) upon substrate concentration, temperature and
pH./3TE&R Higul, d9AHE 3R pH
(b) only on substrate concentration and pH, t?;%l_;
not on temperature. HIERX |07
pH W, fohg AoHM W & |
(c) only on pH and temperature, but not on
substrate concentration./ pH GISEIC)
W, fohr STEER HIgT R T |

19. Which organelle other than nucleus in (d) only on temperature, but not on pH and
eukaryotic cells has its own DNA, ribosomes substrate concentration./ GICRIGERTS ﬁﬁ
and proteins? Eaicac k] pH 3 37a&R HigoT W 8|
sfafien form o & oo e, e Ans. (a) ol USTeH 3R SAMRRaT 3 & TR WE(UT
3T Wit g €2 Wi T 81 gerew el ufve @
(a) Golgi/mesi aﬁﬁmeéw%mﬁmmélmmmm
(b) Mitochondria/ATg2ishif~g 4T ERciEC) Ee) ‘Eﬁ?ﬂ 2 @ 3fehier IS &
(c) Lysosomes/@T3HIEH H 3T &Wﬂg 3 €1 domew A fufkar § pH &
(d) Nucleosomes/=IfFer3TrHIT i W TSEH H1 R 3R YT 58 St 21

b 5% 5o cbll?lehlaﬁ T hsdh & offai<s||23. Both starch and glycogen are made up_of

q]gﬁm%‘q‘[ 3F F 379 STAT, YLAEH R WA B glucose, however o gaﬁ'{' p?:ﬁ:ﬁ

&1 wavem FfE 3 1857 § WgSEtEa % @ &) A &, qATY

ST AFARET g Fo-a Sard a?rl%maﬁ F (a) startch is present in liver and glycogen is

Brgay il qer Siqslt # T Shfad SifvERe § o present in red blood cells./®T= THq H %"EITTH

M §| ARSI B RN B TR TPH FEd 8, TS AT T e H

Fiifs et T wft @ gerel 1 ST B 2 | ferera & 21

TTZE IR ST THTETE e (b) glycogen is made in animal cells, but starch is

e - 65.70% made 1n plant cells.

7 # a1 2, fehg T 91 i # e 2
B 25-35% (c) both starch and glycogen are_present in

RNA. - 0.5% animal and plant cells. [T TATRhIST

DNA. - % AT T 0T AR ITET HITSTBI § e g

20. For protein synthesis, the amino acids are (d) both starch and glycogen are present in plant
recognized and carrled b cells only «.ld a%( ‘(’1I$°h|\r1-| $hdd Uy

T
aﬁ-{mmmmm%’ Ans. (b) : ©F aﬁI TeTg o ‘rﬁ=ﬁ TS 4 & %
(a) mRNA (b) snRNA Fifh TR T SRS 8§ o 8, feq W
(c) miRNA (d) RNA eq ﬁf?ﬁ?{sﬁ ¥ o9 81 W 3R TelgheH, o[
Ans. (d) : S Gyemor & fofw, T el 1 TeEH AR IR

3N 98T t-RNA ZH fohal STl @1 SNl ST, (t-
RNA) &I & 3ufteq RNAEBTISQZS%

| 78 T FHR F RNA # §o¥ B ‘aﬁﬂT%lTﬁ'
W Gvawer ¥ fafte yeR & oAl el & Ugem
W AR T T B
21. In vertebrates, smooth endoplasmic reticulum

in cells of which organ plays a crucial role in
detoxification of toxic compounds?

o, ferm T ot IR ® Torenst
Fasedt feTeRr Rt drfireRt &
Frrrfersftenur & wgeergul sfireRT Bt &2

IUghRdl § o1 Uielahiss TSI o

T@amﬁ@aﬁﬁﬁélwﬁﬁaw%m
AN TAEANERT @ €1 TAgSST @ HCE

@E@r&ﬁw%wﬁ%l Tﬁﬁ%‘ﬁ?ﬁmm%

&9 H S ST 21 T8 Tpd, WHURE R Afdsh

Hafed g 21 vHR & mﬁ e Wﬁﬁ%@ﬂ W

fshAT & ERT TEEHISH 1 TephieT | drg faar S |

24. In same viral infections, number of platelets

are reduced quickly. Platelets are essential
because :

HeRATUT |, aﬁ(@zﬁmaﬂ
%T;ﬁmﬁaﬁﬁ% ﬁ%%
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(a) they along with red blood cells carry
oxygen./d AT Th e 3
P & FA

(b) platelets are 1mp0rtant to carry food to cells
through blood. [ & ﬂ% ke

o o S o fore fefamo] weeagef §|

(c) platelates remove carbon dioxide from
blood./fEeTT] T T HEA SEHFEE & ¢ |

(d) platelets have a role in blood clottmg /I%ITSTI'U}?vﬁ
T The (FAfeT) H e 21

Ans. (d) : RELLE: 3 (wiecied) &
el %TW mﬁaﬁmﬁrﬁ fasoraT Y
ﬁ%(mﬁ)ﬁiﬁm%wmm
AreaEe Fad FF 5 SER § U I 81 e g
i o . w § 154 arg @ 21 g i
ftemssT # 2T & T g S 7-10 & & g 21
25.  The focus of the Second Five Year Plan was :
i o ww s oft?

(a) establishment of a self-reliant and self-
generating economy with emphasis on
agriculture./&% I I I g 3TH-
-3cdTeh 3l TITAT T

(b) rapid industrialization with emphasis on the
development of basic and heavy industries.

%ﬂmsﬁﬂﬁ%ﬁmmwéﬁ@

(c) removal of poverty and attainment of self-
reliance. ane-fonefee &t wiftg ™

(d) acceleration of food-grain production and
increase in employment opportunites and
overall productivity./@TeTd 3G |

3N YR & a3 g Seareehdl # 9fg W

Ans. (b) : IO THEEE ASET (1956-61) STERHA 3R
a AT % M W ae 3 gC g sanie wm
Hisd 4t g8 dgEdg A GEL meeEiey giesd W)
ameRg ot 39 UYmEsta A % 3fdid USTehell
(Afswm), e (sxieTe) wd g (4. se) § ge
ESRE TRWA i Gl TH e

% Y- Wy
AT HT b HEAT o)
26. An Indian businessperson buys shares in a

British car company. This transaction will be
reflected in :

Tw AR s fafeet wn dud 7 9w
Tiftgar 1 9 A=-F fRad wefvta drm?
(a) Balance of Trade, but _not in Balance of

ga%ents SR Hqeq #, fohq qae S

(b) Balance of Payments, but not in Balance of

:Tép?de./glmm e #, fhq SR SqeH

(c) both Balance of Payments and Balance of

Trade./STTA T 3R SR Tqe a4 &

(d) neither Balance of Payments nor Balance of
Trade/A T A e ¥, 7 & R gaq §

Ans. (b) Th AR A e #R e § W
Tl 21 T8 e grm # gm A f6 =mR
Tqaq #1 qrae a@m Hufy & gfs i sfae wfafe &

| |ser o : G of srdorawen § uw ¥ F A Sanfed

27. Which of the following are High Frequency

Indicators of the Indian economy"
-9, VR rderaar &

oo MG Goreh 82

1. Power Consumption/fSISeft &t @ua

2. TIP General Index/IIP WA= YeIchich

3. 10-year G-sec yield

et Sfi-Aeh (G-sec) Tferthet
Select the correct answer using the code below.
fer fau 7T e 1 FET R HE ST G

(a1 only/m 1

(b) 1 and 2 only/3ea 1 3R 2

(c) 2and 3 only/a\v'al?T 2 3R 3

(d) 1,2 and 3/1, 2 3R 3
Ans. (d) : RAE TEE qeAq T ATell fobrasie
TR 3 1 THR 2| AR sreferawen uh fAfe
seforaeyr § o9l g srdemawn &1 s fewwm SR
SRE, SAafaE R SufEl & @it § @ Seih
{@ﬂmmwmwmmw%w

(ii) TTP HHT geehich
(iii) 10-a8fa Sfi-Teh (G-Sec) Tfaher
28.

Suppose an Indian citizen makes an investment
abroad and earns a positive return on her
investment. Which of the following is correct?

T T T R Arie
w?ﬁ g aﬁ'{ I fEer ¥ oAt Widens
R Tt §) FrAfeTRad o & SiF-91 98 82

a) Her income is part of India's , but not
H f India's GDP, b
part of India's national income.

IHSH 3T 9RA FI GDP 1 fewmm g, fohg 9Ra
& T o R @ 2

(b) Her income is part of India's national income,
but not part of India's GDP.

IUH AT GG H AT 3T B R 7, by
9RA # GDP &1 few 7 7

(c) Her income is part of boh India's GDP and
national income . 39 9RA $ GDP 3R
g e i o R 2

(d) Her income is neither part of India's GDP, nor
its national income/39®l 3T = AT &
GDP &1 & 8, 7 & s5a Uf &1 &)

Ans. (b) : TF olNT T 9RAE MRS &9 § awr
FA 2 SR AT PRV W oS SR s e d
T YR IHE! T URA & T o1 F feww 2, fhy
9 # G.D.P. (. 1 B @ 2

siferm Fegett qor Farst P g TP S S 2|
Hehe! Tie] IauTg : foreft 2w & e dr & i fed
Pt e qem A% FEr S e 5w us Ay i
Faafed qoft aeqedt i aeit &1 sifqw wifss god webt
T I FEART 2|

29. If the Cash Reserve Ratio is lowered by the
RBI, supply of money in the economy will:

Jf RBI R 3Rt Aehet A e1guma wreran

®Y § &5 fopal S @

T &, A sretemeer § W @ smafd -
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(a) remain unchanged/ﬂﬁqﬁﬁ it
(b) decrease/Sic ST |
(c) increase/H g5 il
(d) have ambiguous impact/9X 3THE JHIT TS|
Ans (c) : a&ﬁaé%mgfw RBI)QWSTRTEW
T e ST e ¥ 35 &
aﬂ{ﬁfﬁgﬁs’gﬁﬂﬁ@ﬂ@mﬁméﬁ%wmﬁ
Wéﬁaﬁ%ﬁ ﬁ%w&ﬁaﬁé&smsﬁm
GRS
Sht % g ;%ma
gt & oft mﬁ ﬁ'cﬁ %l
30. Which one of the following is the main cause of
the acid rains?/ <l HEI iU
frfefge § @S- 82
(a) The Sun causes heating of upper layer of
atmosphere./ g ELRUESH] H FA T
|
(b) The burning of fossil fuels releases oxides of
carbon, nitrogen and _ sulphur in the
atmosphere. 39 & @4 § agHed |
Fm“%, TE2ISA 3R oo & sfemne fuw
|
(c) The electrical charges are produced due to
friction amongst clouds. )
0T SRER S
(d) The atmosphere of the Earth contains acids.
% agHEe H 37T 2 ¢ |
) : amﬁ?:r ot 0T ST So % qg
wred # e, 3R ol e 19
3T €1 S ant T pH AT 4.2 31K 4.4 % A
E, oo o o 3 P AT ST 2 5
TS 3N ToH TESAGEES Bied 2l d
TENE ST AN H HROT G 2 |
31. Biogas is considered to be an excellent fuel

which burns without smgke. The main
constituent of biogas is : Tch Scchy

B WHT 9T ¥ Een 9 gW-Rd gar #)

AT T T HedH BHA-HT §2

(a) methane/He

(b) hydrogen/‘a'rﬁ:ﬁ?

(c) carbon dioxide/FE SEHTFIES

(d) hydrogen sulphide/g 33: ST Hethigs
Ans. (a) : IEAFYE F TH IHY 3899 THT ST &, TG
EE??{H—T%H‘@HT% T SR e e
s gm=E: 60% HeF, 40% HEA TEIAFEES T
TS TET H AR 3R FRSSH GehEs UE SR 2l
e 9 A & e qe Y STARE 9 S He
& sramf fehva SR sTanTy @ i fepar S 21
32. The depletion in atmospheric_ozone layer in

last century was due to : b}

A o G T HRUT AT &2

(a) chloroﬂuorocarbomﬁﬁqﬁﬁﬁaﬁracq

(b) carbon monoxide/HE- HHEES

(©) methane/389

(d) pesticides/drga-Tsit

Ans
%ﬁ
g 8

é Q%ﬁ Ea) gﬁ il Erﬁm QST FepeoTt ﬁ EEiil
| S
a?vﬁm‘s’ ﬁraﬂ%ﬁ BIIES] £ sit m@w%ﬁmh g
33.  Which one of the following holds true_for a
freely falling object? T 9
arelt awg % fere Frmfofiaa § & SE-1 9 &
(a) It moves with a uniform velocity.
Tg THTHH 3T F TR BT 21
(b) It moves with a uniform speed.
& THHHH =1l ¥ T HL |
(c) It moves with a non-uniform acceleration.
Tg YU @ T T L 2
(d) It moves with a uniform acceleration.
TE THTAM T § T HeeT B |
Ans. (d) : ﬁ?@ﬁﬁa’fww@ﬁlﬁaﬁa@%m
quE RO B 21 g & W&“UT JA_ &
AR faom § & gﬁs‘ ag T FA & ar ge
% W%w% a #§ Wﬁaa‘:f B %,
| T EAg @ .) N HHE 9.8
Vol % W W e (—-g%% H A G
9 9 gal © Flgg il
34. A sound wave of frequency of 2 kHz has a
wavelength of 35 cm in a given medium. How
long will it take to travel a distance of 2.1 km

through the medium?
%Eq Tq e H 2 kHz gl @t fwedt

%w%@

&arﬁ‘rawzm 35 cm ¥ ST "eAW W W
2.1 km &t T 79 &R | feha=m oI wm?
(a)30s  (b)2.1s (c) 3.0s (d) 4.1s

Ans. (¢): R 8 -

G (v) = 2kHz =2000 Hz

T (L) =35cm = 0.35m

7 ST §

T T (v) = W x g

V=AU
) v =0.35m x2000Hz = 700m/s
T 5 2.1 fft. i g d @ T@ A H forn @ T
_d_21x1000m _ 21 4

v 700m/s 7
Wwwﬁfﬁzlﬁmﬂ gt 7 B § 3 YT w
9T S

35.  Which one of the following conservation laws is

f .
i‘n (ft?;lsgtguence of tl‘lﬁe; ge'gﬁtgrl-l ‘{:T third la]v%rq(_):tr'
e o T o dE e s i €2

(a) Conservation of energy/?n_vl'f T HEI0T

(b) Conservation of momentum/daT s HET0T

(c) Conservation of charge/aTla'QT I G

(d) Conservation of mass/SeIHI T HL&UT

A - T e § E 5 SAEAT WEY- Tgh N Ml W A ad F WA 3
e s e & T |97 & e st e 35 aoor s 19 o e vy
teel § U o7 2, orEd Sieie i & $= gz e 21| | [3 2

UPSC CAPF (Assistant Commandant) Exam-2023 12 YCT



Which one of the following is a permeable rock
that allows water to pass through it?

[ -1 IO 9 § S AU
& a2
(a) Granite/J-TgS (b) Limestone/TAT-9e2
(¢) Quartzite/Faesge  (d) Sill/faa
Ans. (b) : 1 J@R TF G0 9 7, S 94§ § g
TR 2 31 T TR A WgH SR R
Jedl 0 W AT 9 TG dgHl bl AaHrd a@rﬁ
Fed 1 AE TEER GgM oW & au1 3§ Sfere @
et AT ol S 2

37.  Which one of the following is the deepest, inland
%&q port on the east coast of India?
) 9T, YRG & Jd d€ W
(a) Chennai/==g
(b) Paradip/9RIgIq
(c) Tuticorin/TARIRA
(d) Visakhapatnam/faem@rge4
Ans. (d) : IR0 & 9 de R o[ o9 Teq, Adasiy

iR TR T TS 31 9 T 3W 5 g9
TFfeh SS0TE 71 AR Sifew Al s el % bt
ﬁﬁ%wagww@mwﬁﬁw%wﬁ
Wl 379, USIferad a1, 3dieh, Ahgl, HiFeT e &
-t fhan S 2

38.

The greatest diversity of animal and plant
species is found in : qlca

Td 2firer ferfererar wat utg St 82

(a) Temperate forests/3fdrT

(b) Deserts and Savannas/H&¥Id 3N e

(¢) Arctic and Alpine systems

e dF

(d) Tropical moist forests/SUTHIEALT 3T A
Ans. (d) : SOl R uey el @ Teg 3ifees fafaemr
swrhfadtd g 9 # ol S 81 Swisfee o a
200 . § 250 F It & H ww S ¥ and # ord
TEER afal sfeuH-feer, Teafs wd Ao &
TR % &l § gl S € s:fﬁaﬁﬁ‘trrqaﬁarré 'ff
AR, B, $l, o, AR, 99, I9GE IR TG

40. Which one of the following is the busiest sea

route and links two industrially developed
regions of the world? T | SH-91

FEaq qud qnt & iR oy & 9 sienfies
®U ¥ et & i Srger 2

(a) Mediterranean - Indian Ocean sea route

(b) The Northern Atlantic sea route
I TS

(c) Cape of Good Hope sea route
H 3 TS AT T A
(d) The North Pacific sea route
I T WS W
Ans. (b) : U0 il art s 3fy °
ot o % 4 RE (S g TsT SfE
afyedt W)aﬁﬁam%ﬁ%rm@aﬁ%ns‘ﬁ%sﬁw
@ A gR uRafed @ 21 °% f9Y F we9 oA
O o 7 |

41. Using the code given below identify the type of
farmlng on the basis of given characteristics :

o faw T wE @ Rl
¥ IR W Y % Yo T T A

1. The produce is consumed entirely or
mainly by the family who work the land or
tend the livestock./SUST <Al

I URER gRT TR wiman & =i Tgﬁr
aﬂ%r % =1 uwaﬁ T AT I B
2. If small surplus is produced, it may be sold
or barteredp 3%? T W’éﬁm
Jrar ¥, @ FH S W Wehdl § AT a%g-
farforerr foper =T TR 2l
It is generally small scale and labour
intensive with little. or nq technological
input./Ig ATHT: w
AR sm-wur At & foed denfret @
HH TN feRaT SraT & a1 T feRam S §1

Code/he :
(a) Extensive farming/fa&gd $fdr

(b) Intensive farming/Seq %’)ﬁ
(c) Subsistance farming/f¥atd Hfy
(d) Commercial farming/zTaReE HY

39. Which one among the followiong statements
about 'Drumlin' is correct?/ "®HER T

frefaiad § § SIH-97 %I 98 £?

(a) It is a streamlined hill moulded in glacial drift
on the till plains./dg ﬁarsﬂ’rd{%m

(feen)

HoEl R BEAdE e ¥ wWitm (dew)
YNNG TETel |

(b) It is a city located in central Europe./d8 H&J
T 7 Red T TR 2

(c) Itisa river./dg Tk &l 21

(d) It is a narrow road in Tibet./38 fead & TH
ol Tgeh 3|

Ans. (c) : Gd 9T § & T8 fO9Iaisti & MER W
ﬁ?ﬂc@ HW (Subsistence formlng) 1 fafAfeeE e
‘@Eiﬁmgﬁwqmm Gﬁ‘ﬁlﬁa@fﬁgﬁmm
fepem ST o <ifehd 31 I A g
@%@ﬁﬁmﬁﬁ%sﬂwaﬁwqgiwé
(1) 39S AT S EG\
w%sﬁwm%m%wwm%
(ii) w&ma&ﬁnwﬁa%mw%a‘rsﬁﬁm
el @ A1 Fq-fafeme fpan S e 21
(m)a'a'wqmﬁ ﬁnﬁmaﬁwﬁéaﬁtm-w:r
2, fored S &1 &9 Fa R S @
q‘zﬁﬁ»‘mw%

Ans. (a) : S MarH-gRe (ffa) dami R feaada| | 42-  Car A takes 1 hour more than car B, which
it Flﬁlﬁ S TRl sfer feet travels at a speed of 60 km per hour, to cover

i (AIees) WQ@ ¢l ik 3 some fixed distance. If car A had doubled its
SUEEHR AR 1 T el S-Gﬁ&;g asf ul speed, it could cover the distance in 1 hour less
21 gAfer o1 fmfor st et firdt & 2rar 21 time than car B travelling at 60 km per hour.
UPSC CAPF (Assistant Commandant) Exam-2023 13 YCT



What is the original T=g}eed of car 1 n km per
hour?/&T A, &« B , feh 60 km
gfq T & o | i W @Y, T it

g&waﬂﬁﬁlwa@mﬁ?ﬁ%laﬁw[s
ST o QAT A &, A AT 3@ I HN HR
B‘eﬁrmﬁsﬁﬁssokmuﬁru&aﬁwﬁ
TR & W, 1 el Ugel a9 X wehdt §1 R
A&?gﬁ%kmuﬁrwﬁﬁmﬁ%"
()30 (b) 40 ()45  (d)50
Ans. (c) : TFT A T 916 x 79T THT t §

TR,
x(tH1) =60t (i)
e
2x(t-1) = 60t (ii)
iR (i) 3R (i) &
x(t+1) = 2x(t-1)
t+1 = 2t-2

t=3
t ST A THHWOT (1) WA T
xx4 =60 x 3
X =15%3

I A H ETeT 45 fRe e )
43. Suppose A, B and C are three taps fixed to the
bottom of a tank with draining capacity 1:2:3.
When all three of them are on, it takes 1 hour
to drain out the full tank. If A and C are on
bout B is off, then how much time, in minutes,
will it take to empty out a full tank of water?

U e feret et & a7 WX A, B 1R C &=
T o g & et e g 1:2:3 1 9w
&?ﬁﬁwgﬁ@%%,ﬁwzﬁﬁ@?ﬁ@ﬁ
H 1 € & T T B chﬁ‘g—q

i el @t

SEE

(@75  (b)90 (c) 105
Ans. (b) : AT 7 A &l &HdT = x

(d) 120

I B & 8T =

T C FF &0 =

WM o

’ .
A, B, C & & @reft & | o g5y
1 2 3
—+—+—=1
X X X
S __[x=s
X

T: 99 99 B #8 @ T@ Ad A 3R C IH @i w |
T T -

44. Assume that the Earth is a spherical ball of
radius x km with a smooth surface so that one
can travel along any direction. If you have
travlled from point P on the Earth's surface
along the East direction a distance of nmx km,
which direction do you have to travel to return
to P so that the dlstance re uired to travel is

mlnlmum"/tlF[

% fere srafere ot =gmaw &
(a) East only/%?f E[q;
(b) West only/&ae ufam
(c) East or West but not any other direction
& a1 ufem fohq foeelt ot foem | @
(d) Any fixed direction/®iE ff ffem fawm
Ans. (d) :

P
TR get i e x @
T MR geat #1 akfy = 2mx
Wﬁﬁm?‘l’qaﬁﬂgﬂﬁ— X
nx T T B F Uqed g b A MR get s
ameft gft @@ X @
T TE & 5 3 P frg AT o ¥ fw B o i
ferem & I S Hehe 21
ara: faehed (d) & 21
45. If x and y are two-digit prime numbers such

that y is obtained from x by interchanging its
digits and x—y = 36, then what is the value of

xy?/afe x 3Ty T VTS WETd Ut &
foh x & 3kl I TGETT-SEet Y y Y feRar
T ¥ 3 x—y =36 €, A xy T AT T &2
(@) 1611 (b)2701  (c)4031 (d) 5603
Ans. (b) : THT x 3R y 379 T ¢ T A 3R B 37
?Wxaﬁy%wﬁ'@nz
(10A+B)J

(y=(10B+A)

TR,
AB — BA= 36

(10A + B) — (10B+A)= 36

9A —9B = 36

37d: S A=7 3K B=3 W W™

131,41 @ x = 10x7+3= 73
X X tr@ﬁ X ot y=10x3+7 =137
X ol 44 W - : xxy &l " = 73%x37 =2707
4 1 i 6 46. Sixty-four cubes of sides 2 cm each are
6 t 4 combined to form a cube of side 8 cm. If four of
_ . — 90 firge the smaller cubes along the diagonal of a
t=15¥T = t=90 surface are removed from the surface of the
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large cube, which one of the following
statements about the surface area of this solid
object is true? 2 cm ST 64 T

fireeRT 8 cm FTEAT Ueh o9 S=TET |16l §

i ferdlt gz o faemul ot @ § oI B2 o=

o 9 U9 o U5 ¥ fHehter forar Srem §, 9 3@

TAH SR % gH &%e % AR |

frefafiaa & 9 SF-91 wew 9 €2

(a) It is equal_to the surface area of the large
cube./78 5 ¥ % B R 2|

(b) It is less than the surface area of the large
cube./T8 I 5 % YT &ABA 9 FA B

(c) It is more than the surface area_of the large
cube./T8 I 5 F YT &G T A 2|

(d) Insufficient data/3T9aT 3TiHg

Ans. (¢) :

Which of the following statements about
Organization for Security and Cooperation in
Europe (OSCE) are correct?
TOT | H&T & T WeT (OSCE)
& IR H ffaiEd § § ®iE-W we" 9@ 82
1. There are total 57 states from Europe, Central
Asia and America./ )
AR § F 57 39 WA &)

2. It offers a forum for political negotiations and
decision-making, in the field of early
warning, conflict prevention, crisis
management and post-conflict rehabilitation.
I8 qd Faedt, Hed # JHgm, e wEER
3R IR GE & & § eHifas At 3R
fofa o % fow weh Hwr sra e 21

3. OSCE has the primary responsibility of
providing military security in the European

Region./OSCE bl
¥ T g WeE & &
4. The decisions of OSCE are legally binding.
OSCE & faufa s smeasdt €1
Select the correct answer using the code given
below: few @ e Rl C2y I

(a) 1and20nly/§?°|?[ ] 3R 2

(b) 1,2 and 3 only/1, 2 3 3

(¢) 1,2,3 and 4/1,2, 3 3 4

(d) 3 and 4 only/Fad 3 3R 4
Ans. (2) T 3R T A & feq ¥4 (OSCE
] (,)%ﬁﬁﬂm%ﬂﬁﬂ%g
57 <X % WF OSCE I & wad a9T aHid gl
Hed 21 9 qd W, GO @ Ubdm, e FEe
TR HESToR At & & § Toeifae amt SR fvf ow

% foIw W% H9 FEE BT &1 OSCE % Mafiys Sotaie
i gt WEl W ferege-sen e @ ford ded
T Tpom, MM o 1 agEn &, MFHlas dEre

T @ & Qof g # aerEr 3 o w2l
OSCE % fufa usHifis &9 & wdgmfy & fow sm §
AT T BT AN W eI T8 B |
48.  Which of the following statements about Quad
is/are correct?/adTS (Quad) ED TrfafEa
¥ | RE-91/A-9 huT & 3/82
1. It is a group of four contries, namely, India,
Australia, USA and France./d8 d@R Ea)
TUE 8, F91, 9NA, Lfern, Juam ik B
2. Maritime cooperation is an important binding
force among members of the Quad./&TE
TeEl & 99 WEE Wedm T Heayul
ST I |
3. The Quad members formed a working grpug
on COVID-19 vaccines./saTS
FHifas-19
fepami
Select the correct answer using the code given

below: feu @ Fe = H TE W

(a) lonly/av_cﬁf 1
(b) 1and 2 only/é?cl?[ 1 32
(¢c) 2and 3 only/a\v'al?[ 2 33
(d) 1,2and 3/1, 2 3R 3
Ans. (c) : ¢ Gae' o &Y 8 A1 S 91l Th
AT a9 2017 H g5 @1 e & wafhs kw4 9
T ‘@, Td, 99¢ iR goEsh {e-ifufes &7 &
fore &M & 21”7 A 2021 # FA€ & qE= | Hifge-
19 T R T HESR TUE & T f5ar 21 37 WE
2 6 %2 (2) 3k (3) W 21
49. The National Human Rights Commission was
established under the statute of :ATSiT W=
IUHR AT &1 T4 fohe wA & 3w
feRar T o
(a) The Protection of Human Rights Act, 1993.
e AfEeR GeroT fefEm, 1993
(b) The Protection and Implementation of Human
Rights Act, 1993./Ad 3TfE@RI I T&I0T
FrRtaaa e, 1993
(c) The Human Rights Act, 1993
HHe AfRRR 3fif=E, 1993
(d) The Human Rights Commission Act, 1993
Ta SRR AR e, 1993

Ans. (a) : TP AFd RER AT & TeA HHEA
Afeepr. Teeror fufaw, 1993 & 3t fham war em
TF TAIERR ST &1 134 12 3R, 1993 S g3l
ol SN B SAREY TG ARBR WO (TINEA)
afafEm, 2006 S TN GIIRE HME SRR HETOT
AR, 1993 ¥ fafea 21

IFT R TF BRI FYE FT A
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50. Which of the following is/are not an official

language(s) of the United Nations?
ﬁt:d%rﬁa?r ¥ 9 wa-di, @gw Ty W

STTRARTIReR WTST/ Ao =72t &/82

1. Arabic/3Tst 2. German/STHT
3. Spanish/@ﬁw 4. Chinese/=ft=t
Select th

correct answer using the code given
below: WWQE‘WQ?%‘TW@W :
(a) land 3 only/a\v'al?T 1 3R 3
(b) 1 and 4 only/3aad 1 3R 4
(¢) 1 and 2 only/&ae 1 3 2
(d) 2 only/&aa 2
Ans. (d) : § T i SRR AT §
SR

3 3R e Bl TR B F A &9 A
fepar T 21
51. The method used in separating a mixture of

two miscible liquids having sufficient difference

in their boiling points is :

ESPE] yate e ot & fagfia

Fal & TS0 & gUw w & 0 gET @

A ATt fafer we-E 82

(a) Filtration/freies

(b) Solvent Extraction/fairas fsseor

(c) Centrifugation/aTCI%sﬁWUT

(d) Simple Distillation/S¥ 3ATHaH
Ans.%‘(g%_; HY T H FA S aTed (T 25°C)
a fir 5at % MY H gus B & AT W 3HEA
fafer 1 T foher ST @1 W ege fafyr seed wa
fisor § S SRR H SR % MR W sy it 7
F T A 2
52. Which one of the following statements_ is

correct? HAA T F 9T T 2

(a) Alloys are mixtures./3eitd T 814 €1

(b) Alloys are compounds./Tca 2ifih &1 €1

(c) Alloys are always made up of metals.

Aot T e @ o A )

(d) All alloys contain carbon as one of their

components./HH! Th ¥deh
o b e ik

:
g
|
3
K
{
3
El

et (fasrrg) —> @rer + FEA

The common element in graphite, fullerene,
diamond and graphene is :/E"FIEZ‘

TEAME T HA-|1 82
(a) Oxygen/3ediS  (b) Nitrogen/AE2 IS
(¢) Hydrogen/8gglSH  (d) Carbon/&E
Ans. (d) : T%ES, HorH, B0 AR %A H FoHS
ama%f(i?l €/, IHRS 3R Poie Fed & fFEdE &9
(&) 1 AP ff e Bl TH ATWET &1 Fg Fiad
N TH A G & S AT TS # uhd W
% e B R

53.

’

54. The gas generated on reacting zinc with_dilute

sulphuric acid is : A K WA
fifer = sififren & B-T T S gt £

(a) Argon/3Ta (b) Helium/gferad
(c) Hydrogen/%'l%iiﬁﬁ? (d) Nitrogen/:ﬂ%@ﬁ:f
Ans. (¢) : N& a1g @ B PR

T 8 N EES N Sl 2 |
Zn (S) + H,SO4 (aq) + Ha (2)

g Teh oI S0 Ueh 371 i Uehel foreemoe SAfHfshar
ISR 2|
55. An aqueous solution of a salt is known as brine.

The salt is : T R IauT-

T (STS) gl AT &1 T AT -4 82

(a) Sodium chloride/HEa™ FANZS

(b) Potassium chloride/T2RTEH FANES

(¢) Calcium chloride/hfeaa™ FANES

(d) Sodium nitrate/TifEem e
Ans. (a) : Tfeaq FARES (NaCl) & S =i &l
TEAU-SI (S18) el Sl &1 a0 Sl HiSaH FRANgs
% I= Higdl Il ST Hict @1 Tpfas I F T8 A0
EIH‘%&ITH T i efel § A T 99 & ®9 F R
ST 1 ST SUAT WiE-dfhT (Hw) R SR s

# ufteers & &9 § fohar S 21
56. Which one of the following commissions was
not associated with public services in India?
{ -|T AMET 9RA § ek
[arell ¥ Hag TE o

(a) Aitchison Commission/lfiﬂ?ﬁ T

(b) Islington Commission/3f&ciTe et

(c) Lee Commission/cft e

(d) Radhakrishnan Commission/T&Tht0Td T
Ans. (d) : SO & GYM T9ER, 1948 § 9RG TSR o
b RO¢ 37 2 mﬁ axregnﬁ %w iy

<l T3 a1

ﬁwwﬁs@m@nﬁaﬁﬁcﬁi 1 T WY
2 o TUHWE AR B G qRd § ol e @
LierA i
57. Who among the followin

'Lokhitwadi'?

& T W ST ATGT o2

(a) Keshub Chandra Sen/H¥@ °% T

(b) Gopal Hari Deshmukh/Traret &R avr@

(¢) M.G. Ranande/TH.Sf. T2

(d) Gopal Ganesh Agarkar/"ﬁ'CITF[ YT SR
Ans. (b) : TENIY § TAS GUR T_IGHI % JUIT 9Tt
gR IeME P ABRAAE IHH F T S A1 g
S WRRIY % qU H g N s fawar-qAfdaw &
T 3] sreHeEE § faerar e AHE e
F T & off| HeRE Tfe TR H WY & gHud
% &7 H 1 S0 av

58. Match List-I1 with List-II and select the correct
answer using the code given below the Lists:

gefi-1 &t gEit-11 & gafera st ik gfes

was known as
¢ 1]

o et faT 7T e w1 T w Wl ST g
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List-1/g=f-1 List-TI/g=h-11

(Harappan Site) (Location)
(ST TI) (¥m)
A.  Nageshwar/AmgR I Uttar Pradesh
ST U
B. Alamgirpur II. Rajasthan
% PO )
C. Kalibangan III. Saurashtra
TS
D. Rakhigarhi IV. Haryana
Code/he :
A B C D A B C D
(@3 1 2 4 ® 4 2 1 3
)4 1 2 3 d3 2 1 4
Ans. (a) : F-(I) &1 F=-(11) § oo fF=farad @
-1 (FZWT Tore) -1 (F2T)
A, AR I
B.  STIRE IR F
C. el T
D. {@e giamm
59.  Which one of the following pairs of books and
their authors is not correctly matched?
i o) k)
HIF-TT I TqE GAfera TE 82
(a) Bandi Jiwan Sachindranath
i Sanyal/SH=1
RIS
(b) The Philosophy Bhagwati Charan
of the bomb Vohra
e fepetrarost a7
% f& g
(¢) Indian Unrest Annie Besant
e sRE T e
(d) Desher Katha Sakharam Ganesh
R Deuskar/S@R™
Ans. (c) 3}?@5 AR 3Ih @R H e GHH
Th [SreCg
A. & SiEd - HEEEAY e
B. f& fpciiaiel o X afr - oraelt =RoT A
C. e sIme - Fclerd A
D. IR HqT - TGN T ¥R
60. Which of the following is/are important

markers for the archaeologists to identify an
archaeological site as a center of_  craft
production'?/ ERICEICTS
e & fafgad & %—g Waﬁra‘T
frafefaa fr q  HE-E/AA-E

wﬁﬁgﬁwm%@

Evidence of raw materials such as stone
nodules, whole shells, etc. HIA <Al

3. Evidence of unfinished objects, rejects and

waste material/ qTEU, =TT =
HTT AT hgl-<hiche hl THTIT
4. Evidence of variety of pottery
ferferer W o YWTS T FHTUT
Select the correct answer using the code given
below : T &S HT wT & 3T

(a) 1 only/&aa 1
(b) 1and 3 only/3daa 1 3R 3
(c) 2 and 4 only/&ad 2 3 4
(d) 3 only/%h“OIF[ 3
Ans. (b) : TTe9 3@ &5 & ®9 # fhdl i

Wil Bl fafed B 8 [Aeeal & g seeqe foes
(Markers) fHfafad 8-

=> S Tl &1 JHT, S TSR e, @ v ey
= 37quf aEqd, @ Y T A A FS-FHS F T
= e 37T, 3SR

61.

In humans, urea is mainly formed from the
metabolism of which one of the following
components of food?/Td ¥, IRAT TE&I:

o Tfafiaa fore oeeh o SUTT=T @ =T 32

(a) Fatty acids/d8T 37%1 (b) Vitamins/ferzif=

(¢) Amino acids/THHT 3T (d) Glucose/’?fﬁﬁ
Ans. (c) : A9 H, oo § 3ufed S %
i et H Wﬁ;{r&gﬁ%@%ﬁ@ﬁ:ﬁ A F YT H
T 81 T % T2 § WHH 3 s @ 3R 3w

T T TR T £
st feansdt g i emifr ﬁ Qmaagm
EGY
The lymph is mainly formed from the plasma

IRaffs R w6 § qF R fEr S g
Freiad % T S X e 9 &1

of blood and it surrounds the cells. The main
difference between blood and lymph is:

62.
bkl s G RG U

W Bl ¥ TR 3R i ©
& 3T & 82
(a) Lymph does

cells./aTgT

not contain red_ blood
A T HIVHT TG Bl & |
(b) Lymph does not contain white blood
cells./aTge | Th Eﬁ@ﬁﬂ@ T Bl %I
(¢) Lymph contains both red blood cells and
white blood cells. H o & y
AT Th I, A S

(d) Lymph does not contaln any cells.
e § FE %ﬁ’(

Ans. (a) : THH .ﬁmﬁa’«ﬁf%ﬁt%
FIfoerist 1 B Wl 81 W e 3R o § e
IR e 21

h Iguicay

o Tfishl Th LTI BT 7
98 O © Sy

oTh Tk ofldl UT & el
e 3 fed am

Wéﬁwﬁg‘ﬁwaﬂﬁ Wﬁw@w% . T Bt 2 .o
2. Geographical expanse of the site o NI o 31 oI FH HET
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o I8 YRITWT dF &1 THh
uTh
e Jg wsH, RBC, WBC,
%ﬁ'( weded § a9 @il
|

63.

oTE A TH H TH
TH 2

oY AT & TY-HY
WBC 3R wieded &
9 sl e g

For the digestion of carbohydrate, protein and
fat, enzymes such as amylase, trypsin and
lipase are required. It is_secreted _into the

duodenum through : ,

qET F UEH H , feftma eim

TEUS S UFTEHI @y STEveehal T 31w

Tereren wmeam & Tguft § Erfera grar 82

(a) Bile/ft (b) Plasma/<TSHT

(c) Lymph/a€isl (d) Pancreatic juice/3TE™ &
Ans. (d) : STAREY W SFARER SI¥EERT § @fad
B 21 THH 98% o adr ¥ 2% 9N F wEu wd
A 81 e W@ F dH

TEH B €1 98 & 59
et

U W S § 1 S9H Heeisl UH UHRGN $eeRse
&1 2fte ST &1 a9 ALY T9 1 qrET B 2
64. Lactic acid is formed in the muscles during
exercise or running. It is formed : L
=TT AT a1 dred 9T uivnn o
wfereeh 3 o=t 81 98 fopE fTw srar 32
(a) to give extra energy from fat.
e

(b) to give extra oxygen from lun
Fhel ¥ Sl eifedie o

s.

5 forg

(c) to give extra energy from glucose.
e )

(d) to give extra energy from vitamins.
[ & Iffes et & & forg

FEA o T AM F, dofl § e, g

TAH YAl 9 a9 3o o9

SR,y s o + ot
Fiscal deficit in the Union Budget means :
ole | o &

(a) the difference between current expenditure
and current revenue./d¢] =TI 3R SRS
& o i

(b) net increase in the borrowings of the Union
Government from the Reserve Bank of
India./§9 FHR gR IR 56 &% ¥ fow
S+ a1t 3UR § faaa afg

(c) the sum of budgetary deficits and the net
increase in internal and external borrowings.
SorT oIS S Sig 3R SAaRs Td arg 3UR A
o afs

Ans. (¢) : HEF oo § TS U2 F ARG s
oIS 1 g SN iais Ud @ Sun § faa gfg @ 2
g a5e # U S1er 39 AR Geffd e 7
o TR 1 o = 39 o I § S & S 2
66. Which one of the following is the largest

component of revenue expenditure in the Union
Budget 2022-23? TSE 2022-23 W AT

= & GH T U AfTRad §  HH-91 32

(a) Interest payments/s3TST % AT

(b) Defense expenditure/I&T I

(c) Expenditure on healthcare

@ W =Y

(d) Subsidies/@&Teh (HfsHET)
Ans. (a) : HF FeE 2022-23 H T FI H TN
TET TF A & PAE g1 a 2022-23 F a9 H T
fomw T 9,40,651 HUs &1 WaUE fHar T on, S
TS H 23.8% U1 2022-23 & T9 H 3 Th T
e Tore =9 fafeiiae 2-
HEFH (Subsidy)- Fel T =577 T 3,55,638 HIE &

ST Bl AT H 9.01% T

& - A T 3,85,370 IS
(BT =T BT 8%)
WA WA - T8,66,06 FS
67. Adequacy of foreign exchange reserves of a

country is captured by which of the following
indicators? ReEl

R &t watwrar feafataa & | fom gt
BT U @t AT 82

1. Reserves to import ratio.

3 3TTaTa W STIuTd

Reserves to external debt ratio.
S @ IIUTT
Reserves to GDP ratio.

faftrat i GDP &1 ST
Reserves to monetary aggregates./3TR{&Ta
faRtrt 3R et Hifses TIvTET <t 27T
Select the correct answer using the code below:
Hfror feu T Fe T TIIT Y & ST YT
(a) 1 and 3 only/&ae 1 3 3
(b) 1,2,3and 4/1, 2, 3 3T 4
(c) 2,3and 4 only/a\v'al?T 2, 3 3R 4
(d) 1,2 and 4 only/&ad 1, 2 3 4
Ans. (d) : fordl 3w & fooel gz omfem ffemi &t
qatad & fefr s & U F9 g dehas @ S
fore -
(i) TR fferdt 3R ST 1 ST |
(i) TR fferdt 3R fereft @t @1 ST
(iii) 3R fferedt 3R ot Hifses Tfewi @1 S|
68. If all the people of the economy increase the
proportion of income they save, the total value

of savings in the economy will either decrease

or remain unchanged. This_, phenomenon is
Known as :/afe SToerawe  FH A SO

O I AW & UM W gl A ¥, @
refeaaEelt W S T el Yo AT dt U S

2.

3.

4.

(d) None of the above/@'{[?ﬁ 79 T8

T aRafeia WM 36 TST S T FHad 82
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(a) Crowding out/(fsit IEEN ) afgTta
(b) Crowding in/(Frsft faer 1) Siaiae
(¢) Paradox of thrift/feafaar =1 faemamg
(d) Paradox of prosperity/Sgfs feremsmg

Ans. (c) : AT faeen & Tft o7 U 3 § SEq
% STUM F 91 3 (37U AR erdfemewn FH gEd H
@Wﬁ%ww%)ﬁaﬁwwﬁwaﬁ?

[ gfs 78 St srafa o9 o ot a=a § R
suRafda wift @ oRomm & fageafya & faemrg
FEd § S Je S @ b St A i el @ S
2 @ 9 HAEY gdad & au B 71

69. The banks are required to maintain a certain

ratio between their cash in hand and total
assets This ratio is known as :

T ﬁrfés?r FquTa @ I |
T STIUTA i T hed %‘7
(a) Cash Reserve Ratio (CRR)
T el ¥ 3 (CRR)
(b) Statutory Liquidity Ratio (SLR)
wifqfersh Tt A (SLR)
(c) Central Bank Reserve (CBR)
d TRRM AR (CBR)
(d) Statutory Bank Ratio (SBR)
' % U (SBR)
Ans. (b) : S ®I I HT T AR TS F 5D
T 9N TG, @l g O e SR £
w9 § T A T TG SAEEE A S o
et o SEwd B qU R ST W 39 oUW &
Hifefersh qCetdn 3T§Cﬂﬁ (Statutory Liquidity Ratio) gl
I B1 s WHR J U SEARY 23 SHEd 2007 &
gméﬁ%msmaﬁwwaﬁ T T
|

70.

t

A simple harmonic motion of a particle is
represented as, y = 10 cos ot 10. The

acceleration of the particle at time t = T will

®
be : (symbols here carry their usual meanings)

ek ShUT chi T AT 7T &l y = 10 cos ot 10
¥ U N Forefua fRar ST 1 99 ¢ =2i w
. . ()]

RUT KT OLUT AT EAN? (T Weltehl <Rt 3TUT
[T 279 ®)
(@10 (b)-10 &’
Ans. (¢) : & 8,

HUT T faeT9 y = 10 Coswt
L A
o dt

_dy _d%
dt  dt*

©0 @ %

—10w Sinwt

—10w?* Closwt

t =" qX HUT BT BT a = —10x w Cosw x ——
2w 2w

a=—-10w> cos(ﬁj =0 [ cos = 0)
2 2

71. A wire of resistance R is cut into four equal

parts. These parts are then connected in
parallel. If the equivalent resistance of this
combination is R', then the ratio — is:
3H& R Werer & A1 el =T THT 'zmﬁ T et
SATAT 31 3k oG 3 AR Rl WHIAT o W ST
w%laﬁiw T ged g R' €, A
agtn?r = HAE ?
1
(@ — (b (c)4 (d) 16
Ans. (a)
i'l‘l‘lvR.'.
Hfsr afeet AR FH H SIS o6 @ A 59 GAeH
F g HferrE
1 1 1 1 1
_———t———
R, R, R, R, R,
A_r .1
R R R R'R
4 4 4 4
116
R'" R
1
" R 1
R 16
72. In experiment #1, a bar magnet is moved

towards a conduction wire loop axially, with
the magnet's north pole facing the loop. In
experiment #2, the same process as in
experiment #1 is repeated except that the south
pole of the magnet faces the loop. Which one of
the followmg statements is true in this context?

1 ¥, & ag ok i feRdl =TT ar
oa ‘elﬁ' AR 0 : (axially) o AT AT g,
e o a;r IR & o0 Y I #
TENT 42 W, TENT #1 @ S wimar
T %, ﬁ:F:lTl{ o fon < @ qfaw e
= o aRTE 81 5w Heel § Pt ﬁ
-1 HAT T 82
(a) The direction of current in the loop will be_of
opposite nature in both the experiments.
AT # o or e fen fudd wew @ i
(b) The direction of current in the loop will be the
same in both the experiments.

4 T # 9 et # off g venfed T8 anf

(c) No current will flow in either of the two

erlments
ah% H g foodi & off arg wenfed =& @t

(d) More current will flow in the loop in
ex; eriment#l.

1 ¥, o # 1k oy wanfed 2t

Ans. (a) : 59 T g EREIEIREIGIR
nsa&?ﬁ éww%%wwgaqq;?aﬂi
SRR 81 SRR #2 H, T 41 A S woban
, 7' & amaﬁamgaqcrﬁaﬁx

’%?Wﬁqqﬁwaﬁfmﬂ
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73.  Which one of the following correctly explains
the change in seasons on Earth"
-4T, geet WX HWEw o
R st GEl SATEAT HIAT %"

(a) Tilt of the Earth's axis /g2t & 377 &l Afq
(b) Rotation of the Earth on its own axis
gt FT 3T 3T W Ui
(c) Revolution of the Moon around the Sun
=g &1 g & IR AR qReHHT
(d) Interaction of the Earth with other planets

geAT 1 3 T § e R
Ans. (a) : YT &1 37T TS HIeU(-sh @I & o 395 Had

T ° 66%°maﬁmm%,mgﬁwmm

FET-TA W I AT 23%0 (23°30") FHT I &1 3T
3T W FH a4 b FROT a4 gF F Ger ggeh Ry §
IRada A aifiiss T % HROT get W AEE aRadq (R
afard) g 2|

3. The mid-oceanic ridges form the longest
mountain chains./q&T- hdch

Hed et ydd YEerd st §)
4. The mid-Atlantic ridge rises thirty-three
metres above the floor of the Atlantlc

- ®eEh ATA(CH oh deT o
Aefte e e 38T g3
Which of the statements given above are correct?
UL HAA W W R %
(a) 1 and 2 only /é)—cl?Tlx?rﬁ'(Z
(b) 3 and 4 only /&aet 3 3N 4
(¢) 1,2 and 4 only /&de 1,2 3R 4
(d) 1,2 and 3 only /3 1,2 3 3
Ans (c) TNEETNT ®edh Jedl | gad ol gad
% o W H 7@ 40389 el 7 el g §1 We
meﬁmww%mw%ﬂﬁ
foemm 81 Ae-sredifes Fedh TR @ § e 3 ford,
S 3R 1000 ¥ 1500 fH. =ier 21 39 Fes & @il
1950 # g9k # g2 o1 o Wy ? 6 BUA (4) G@ W

74.  Consider the Eé(;jlr%w‘;{l statements.. % AT 3T T T 3
1. The Great Northern Plain are formed by 76. Match LlS.t-I with List-I.I and select the .correct
basing of three distinct river systems answer using the code given below the Lists:
the Indus, the Ganga and the Brahmaputra el -1 &t geft-1 &
911111%@ R eIy F i T U T w1 TET W E I g
, é—: Rt (ﬁf?ﬁ)fﬁ fergmret ﬁﬁ ‘*ﬂ‘f CER] List-1/a=it-1 List-11/g=h-11
. They are one of the most densely populated ;
aregs on Barth,d 7 o T ‘Hﬁ'ﬁyﬂgﬁp : (Temgerate Grassland) (Regmn)/(@'ﬂ‘)
aet &t # § T & A Prairies/S3T s 1 Eurasia
3. Between the Yamuna at Delhi and the Bay ) ) )
of Bengal, nearly 1600 km away, these is a =
drop of only 200 metres in elevation. B. | Steppes/¥urst 2. | South Africa
AT TN 1600 km T
T At WIS & sfier Ioerar | shaet 200 |[ C. | Pampas/aaare 3. | North America
eT T B 2 It smftent
Which of the statements en above are correct? ([ p. | Veld/des 4. | South America
Uk oAl A %
(a) 1,2and3/1,23ﬁ'{3 Code &z -
(c)land2only/ﬁﬁlaﬁ12 @ 2 1 4 3 b2 4 1 3
(d)land3only/%ﬁl3ﬁi3 03 1 4 2 d3 4 1 2
Ans. %m famy, Tmram %qrau@ |~1°F>c'1-l arrfvﬁ Ans. (c) : G () & T (1) ¥ T8 Foer FefaRad -
Tq -1 (Fitarsr o -1
ﬁsﬂﬁﬁaﬁr%wﬁaﬁ:ﬁ srwri%w‘r%a‘rtrﬁ( B = | ﬁﬂ“w%féa’
T faene SO #SM (AT 2400 km. @1 SR 240
320 feeft. <ien) = fmio gam 21 At S emyfd SR B- &t EURR
3T Slg WS # IURAl % HROT I Her gedt| | |C- THE aferoft s
T A o ST AT &| A ¥ w8 faeeht # A ((D- Acs afequT STieHT
T SR S A wEl % A @ 1600 feper. = @ 77.  Consider the following statements about millets :
F Faa 200 T B TAE (F9) 2 sfierr a% : HIT W
75.  Consider the following statements : ]%IT-,n'{' R :

EE

1. Many of the world's largest mountain
chains exist beneath the sea./fas &¥

FEm Udd JEA WS o ot formm )
2. Some mountain chalns are revealed as

1sland arcs. g'—w JEATE FT T F

Millets are often referred to as climate-
resilient crops because they can grow on
arid lands with minimal inputs and
maintenance./$f3Ts0 IR IR

T e el W ¥, Ffh 9
=an favr iR w-TEe ¥ e gfr §
3T T §
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2. Millets are a good source of minerals,
dietary fibre, antioxidants and protein.
sfter= , , T
3R Wi & 3t =ia R

3. Millets, including sorghum account for less
than 3% of the global grains trade.

I SAUR | S/ (HEw) afe,
sftersr =T AN 3% | &7 2
Which of the statements given abqve are
correct?/3UdTh HAA W © ‘elﬁg?—% & %"
(a) 1 and 2 only /Faa 131R 2
(b) 1 and 3 only /oAl 1 3 3
(c) 2 and 3 only /a2 3R 3
(d) 1,2and3/1, 2 3R 3
Ans. (d) : e (o) & TR Toag-SqEeA
A EJIT ?rzﬂg—ﬁi’fI ‘m(?ﬁ %) gq # S ?g 2 it
{G-1g4a I qy 37
Sl o B 3 o Qe A 6
3= Hid 81 afe IS SR § SaR Efed s
e 3% & off %7 21 o Wy 2 b faey # o3 T
A FoT g 21 e @ f6 A 2023 B Hgw U@
T g AT oo @Y & &9 # =i e 21
Directions : The next three items are based on a
survey on occurrence of vowels in a certain book
irrespective of whether they are in upper or lower case.
Brter « seret i ot it
TeraraTaT W gu weferur w amenii| €, = 9 9 31N
U € 91 B 2781 W
Vowel/&T
Percentage

1

)74

Sy

A E I
20 45

(0]
15 | 8

U
12

78.  For how many pairs of vowels is the chance of

occurrence of any one, of the two more than
34% in the book?

T Bt W @ Rt i fegaear @t

1,'|T&rzlﬁrr3.4%1%311‘*&315%5E

()4 (b)5 (©) 6 (d)7
Ans.(b%:@'ﬁ%STﬁEﬁHﬁ?TﬁT%%ﬁmélﬁ
feer 2-

(EA),(ED,(EO),(EU),(A]

79. Among the three vowels which occur minimum
number of times, what is the percentage of
occurrence of the letter that occurs the
maximum number of times amongs them?

A TR A AT T W A, W e w
wﬁgﬁmw%ﬁwﬁmw
ATTE ?

(a) 42%% b) 41%% (©) 4();% (d) 39%%

80. If"O'" and ""U", irrespective of upper or lower

case, occur exactly 5040 times, then how many
times does the letter "E" occur in the book in
the upper or the lower case? "Q"

;ﬁlg' Hﬁ%ﬁﬁwﬁsmoﬁw?ﬁaﬁ %,a%%gm
3T | ggvh gQ &, dF Y& |, 95 a1
Bl AT |, 3721 "E" feha-it I AT T 2

(a) 11840  (b) 11600  (c) 11430  (d) 11340
Ans. (d) : I¥TER,
0 3R U 9% ®9 ¥ 5040 X 374 2|
HqE O 3R U & gl x 21
0 3R U =l et 99 = 8+12=20%

GEI ﬂxx=5040

100
x = 5040%5 = 25200
fean 8, E o1 ufaw = 45
99 E % ®9 9 -

25200><£ =252x45=11,340
100

81. Suppose a, b and c are three distinct natural

numbers such that a + b + ¢ = abc.

T T a, b 3R ¢ = e emget dweemd
A& fHa+b+c=abe
Consider the following statements :

HAA W :

1. The arithmetic mean of a, b and c is a
natural number./a, b ¢ <l YFGHIAT

T W U0 ST
2. The harmonic mean of 3, b and c lies
between 1 and 2./a, b ¢ <hl EUcHKh

e 1 3K 2 & e H R

Which of the statements given above is/are
correct?

3UYh HA H W HA-AT/HA-T T T2
(a) 1 only /Fad 1
(b) 2 only /&I 2
(c) Both 1 and 2 /13{R 2 &
(d) Neither 1 nor2 /3 @ 1, 7 & 2
Ans. (¢): AT a=1,b=2,c=3
TYY HUF & IR -
a,b 3R ¢ T THR WA TH &= 07 9 7
7 atbtc 1+2+43 6

3 3 3
T 11 % 3R,
a,b 3N cH gAF A | R 2 F AT H 2 -
aqﬁ’l?lz 131:3X6 =1L
LTINS T A R

s e ] o 113 3

Ans. () : =AH AR 3 @ H [
ﬁ%(?ﬁﬁm . 15.8 12 &- 0. U% 82. How many three-digit numbers are possible
SR 15, 8, such that the difference between the original
T W) & qH I T AFH IR T & number and the number obtained by reversing
15 the digits is 396 ? (no digit is repeated)
3T 13T (%) = —x100 foraft di-afeta dead dver & TR T
35 et WEAT 3T ! o ISHAT W T AT H
= 31002390 _ 465, 3T 396 &? (Rt 3k &t Trgy &l sl Wit ©)
7 7 7 (a)4 ()5 (c) 50 (d) 40
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Ans. (d) : AT 3% a,b W c &
a9 T 3R F HEA = 100a + 10b +c
faqdild €= = 100c+10b +a
FEIER,
100a + 10b +¢ —(100c +10b +a ) = 396
99a-99¢ = 396
396
7c: —
99
a—c=4
I T ¥ a SN AW e @ -
a=5,c=1
a=6,c=2
a=7,¢=3
=8, c=4
=9, ¢c=5
b F AT 0 H 9 TH FE F & ThA & WG T &
STIR &% 3 TGN & g1 AT
ST ITed A = 5%8 =40
83. Which of the following statements _is/are
correct? Tq sl -® e

14'5°r &8

Population ageing is the process by which
the share of the older population becomes
proportionately lesser./SIHEEIT & T

2T U wftRar § RER g SEEET w6
R arruTires ®T ¥ HT B WA B
2. In most of the developed countries, the

population in higher age groups has
increased./ fererfaa <om 3, )

MY FAF it TG | Flag
Select the correct answer using the code given
below :

et fau T e &1 FERT Y W@ S g
(a) lonly/éﬂal
(b) 2 only /Fac 2
(c) Both 1 and 2 /1 3 2 &t
(d) Neitherlnor2/¢fﬁl TE2
Ans. (b) : SHHEA & G g1 ¥ acqd 60 a8 IR
a&mmﬁa@waﬁmaﬁimﬁﬁ
2 31yl SHEE ®1 95 81 U TS uihar 8, R
S R Y § e g S 2|
FoT-] A 31 S R FE § S S §
%Wﬁmwﬁaﬁaﬂﬁ@rﬁqﬁgg‘s‘%a
S R H FH & qY SHEE § Fedi & o9 § e
T 21
84.  Which of the following statements is/are correct
about 'Action for Climate Empowerment’
(ACE)?/ Stetarg '
(ACE) % & % freferias o & s-wr/a-
T HIT WL /82

1. TItis a term adopted by the UN Framework
Convention on a(é:imate Change.
39 U (term) Shi AT URAAA U HIThH
Y Thadh Hav FIT 3R feRam & 7

2. This term is related to the Paris Agreement.

g U R wreia ¥ getia 31

@%,

ﬁﬂz%“ﬁ

Select the correct answer using the code given
below :

fror few T e v wEET R ST g
(a) lonly/éﬂal
(b) 2 only /&Ha 2
(c) Both 1 and 2 /1 3 2 At
(d) Neither 1 nor2 /A @ 1, T & 2
Ans. (c) : Sag AR & T HRAE (Action for
ACE)W‘Iﬁa%? F‘%z

Climate Empowerment' -
6 3R

Ty (UNFCC) EN
Al & IR 12 %ﬂ%ﬁmﬁwﬁ%mm

WQ%W(term)%IACEWWW%ACEﬁ

RGeS ST,

W&%ﬂ?‘%wﬁa’rﬂ % gresfas Ted 3R
w§ W%WWQW geft
ISR Waéﬁsmﬂﬁ%mwm

21 37 W(l)aﬁz(z)a‘m‘rw%

85. What is 'Climate Neutral Now' initiative?
RIEA TS’ UgA AT E 2
1. It encourages organizations to act now in
order to achjeve a carbon neutral world b
2030./9€ o9 2030 T Teh e e

(e =ree) for wH *h
faw W o g;;rggg gawmﬁaﬁ E0)
areft T et T o T MR et

2. It derives its aims from _ the Paris
I UR\ wa%ﬁ

Agreement. AT
[ 7T feRe R

Select the correct answer using the code given

below :

Hor feu T e T YA W T ST A

(a) 1 only /Faa 1

(b) 2 only /&Haa 2

(c) Both 1 and 2 /1 3 2 &t

(d) Neither 1 nor2 /A @ 1, T & 2

Ans. (b) : ‘FIEHS A T8 YA (Climate Neutral
Now' Initiative) 3% 2050 T STearg e 4y w a&zr
T T o U GreH o 37 gegs fequifat &
ﬁmm%mmsﬁ?wﬁqm%sﬁ
AT 32YF URY I F FeUT a1 g1 T@ ey W
A s FRAE HI Tg@m I N 396 foru A=
YH FH H TF WM g1 48 UNFCC Sfare™ g1
|| [o& & € wedl § ¥ Uw 21 59 2015 F @ia fwar T o
86. Which of the following statements is/are
correct above KAVACH-2023?/ehd=r -2023
(KAVACH-2023) & R ¥ fofeiad seet o
¥ F-/A/A T 282

1. Itis a joint coordination committee of all

three wings of India's armed forces to
protect India's borders.

g W ohl Homed &t 1o o fog e
wYTEr el & |t = o it U 6gh
=T |itfer $1

2. It is India's national level hackathon

jointly launched by AICTE and BPRD to
tackle cyber threats.

Ig WigeR Wl ¥ fues & faw AICTE
3T BPRD §RT €I ®U ¥ 3R feRam T
A T T W T R
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Select the correct answer using the code given
below :

Hror feu T e T JET W T S AN

(a) lonly/é)—clal

(b) 2 only /&Ha 2

(c) Both 1 and 2 /1 3 2 &t

(d) Neither 1 nor 2/ FA1TE2
Ans. (b) : YT & HER JARAT I W d@ld gu, 218
aﬂaﬁwaﬁmm [ g fgea %
fore i [ 3R Al THEE # TedH e &
foTT Udtg = 1 2R HEE-2023 BER 2023 F @i
fopaT T 11 HAE-2023 USH AT B BN T g
g ST MOg % TIEIvH ¥, AICTE, It s/eeM 3R
fos = (BPRSD) 5N W &7 § AN fobarl St
21 o1 Wy 2 i F99 (1) 19 & @i Fo9 (1) 9 &)
87. Which one among the following statements

with reference to the 'Neolithic Period' is not
Frfafad

correct?/ TUTHTIT hre’
| E-91 T Get T 82
(a) The characteristic features of the period

included ground and polished stone tools,
agriculture, animal domestication and pottery.

39 FA F AT faemae § e gy
ﬁtﬁmmﬁw%aﬁw, Ff, Tgei
P UIel] ST AR gHis e

(b) This period is also known as the 'New Stone
Age'/T9 FTd F T3 TER I F Fad £

(c) The characteristic features appeared almost at

the some time in various parts of the
subcontinent.

T fyremerfirs  favmad Su-medy % fafm
it F T T @ e § fem & g
(d) Earliest evidence of agriculture is found from

Mehrgarh around 8000 BCE.

FN P G UG A AT 8000 BCE H

TEUTE ¥ I BN 2|
Ans. (c) : fog F= o Faummor g T 9000 2.9,
T g O ofhd g §ed § Faummr I [Ed
T 7000 Y. g M ASUOT FA@ H o fafE
st e SueET fafts ww § stav-atan
T | yohe EU 91 AU Hid & §=d § fF T o
FU T B

88.  Which one of the following is not a pottery
type? -Hl Uch YQHIS
gfoey T 82
(a) OCP (b) CCE (c) NBP (d) BRW

Ans. (b) : @ T fawed § OCP (Ochre coloured
pottery) TIHUMIOT &Hleid, NBPW (Northern Black
Polished ware), e, a9 BRW (Black and Red
ware) ESWEHCT JeHis Heeq 8 Sefh CCE Hadis
T & 21

89.

Which one of the following political centers
finds a mention in Ashokan inscriptions?

R A ¥ forde oo frerar €2
(a) Indraprastha/SS€  (b) kaushambi/®ieris
(c) Suvarnagiri/ﬁﬁl'ﬂ'fﬁrﬁ (d) kandahar/®ERER

Ans. (c) : 379 & fYraei@l ¥ Sfeafad a2l &
W A gEsg 31ad quiaT % Hia H 5 Wi (i #
famfsm or S e wESE % 5 YW TS FE 9
T T F Y I SR S Jema e -

o

T RERICHE
UL - [N

EEUER) - gavifi
afafed TF - EESIREI]
EININCCTIG) T
HictT - e

90. Which one of the following statements with

reference to the ancient Indian coins in_not

correct?

frrafafaa wat § 9 siF-a1 W T2 82

(a) The Indo-Greeks issued the first coins bearing
the name and images of rulers. /ST & 9m
T S frw

(b) The Kushanas issued the first gold coins.

T o |4 % e Sl few)

(c) The Kushana gold coins were different in
weight from the coins issued by
contemporary Roman emperors.

ERlkll gﬁ & e ® IR, gEEeE T
TERl § S et § S7er o)

(d) These Kushana gold coins have been found
from several sites in north India and central
Asia./3 FHOT fqFh 3T IR 3R 7=
ufvrn & fafte wrdt @ fret €1

Ans. (c) : JHIM 9 gl W IS H e R
T F Y GOl vee ek fa-gAn s 9 S
9 fogin fadia warsd €9, & sugery & Sae-ufad

TR F FE [RE | U o facd €)oo ww g fE
HH (c) T eI 2
91. Consider the following statements about the

practice of Vedic sacrifices : EJR DI

& 91 ° frafeiad shedt W faem st :

1. The shrauta (Vedic sacrifices) involved the
use of three fires- the garhapatya
(householder's fire), ahavaniya (offeratorial
fire) and dakshinagni (southern fire).
ol (afees o) T 9 U ot AT o1
SUITT YNl §- TRUS  (Teenft st
aft), SmEEdE  (Fagw ) 8w

greTumi (gferuT-31fi)|

2. These fires were supposed to be placed in
pits of different shapes, i.e., the garhapatya
to be square, ahavaniya to be round and
that of the dekshinagni, rectangle-shaped.
HIET S & R 3 TR
% el § wmud fRAT Smar em, st
TRUE & fAu aier, e % fag
TR 3T gfaruniia & o meamer
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Which of the statements given above is/are
correct?

Sudvh YAl § A HA-A1 / BA-H T/ 2

(a) 1 only /Faa 1

(b) 2 only /Fact 2

(c) Both 1 and 2 /1 3 2 At

(d) Neither 1 nor2 /A @ 1, T & 2
Ans. (a) : 517 (e agh) § 09 FHR A G @
T WA 3- TR (e ) # g
(Fa ) o sfRqonfig (aRor-eifi) | T A @ R
3 AfiTal @ fafe oTeR & i | wenfid fopar S o,
3rgfq TET % AU MR, e & Y aier 3
RN % fu ot MR o Wy § f6 U (1)
T 8 Tl HUT (2) 3T 2|
92.

Trans-Siberian Railway from St. Petersburg to
Vladivostok does not run across:

: qeh, TE-TIgaRaT

Yommt el @ grent e e €2

(a) Altai range /3TTE. Tad BICKll

(b) Caucasus mountains /Heh3Tg Tad

(c) Ural mountains /Jq0eT LEGH

(d) Ob and Yenisei rivers /31 3 A5 Afeat
Ans. (b) : 279 HEARIA I AFT &1 fEor 9 1891 |
I[E g AT T8 T 1905 H IR TR gaN| g fay
gad o Y et @ Rree amrE 9289 R §1 A

wEIET & ufEm § fer g dedet TR ¥ ¥w
qIT TS 9dd SEen ¥ 8id gU 94 SR HeERR & d
T R sefeare® TR & Sedl 21 39 3 96§ e
WA HGH, o, A, A o 9 )
93.

about

Consider the followg_llg ﬁstatements
h'

Barchans :/a0@ &
T feram st

1. These landforms are found in Thar desert
in India/9RE , - ar
&L § U STl 81

2. The windward side has concave slope with

94.  Consider the following statements:
HAA W
1. Geothermal energy can be used to produce
electricity for industry, agriculture,
bathing and cleaning.
g-qrdfT Hel @ U o Swed &
fera ST WeRaT & o1 3HeR T WA AT
e ST, HY, T AR gwE &
ST forg feRam < HeRar 2

2. Nuclear energy is often cheaper than some
other sources of electricity._ .
foeEm & I wEl W ger §
AT STt W W et R

3. Thermal power stations burn fossil fuels to
create steam to drive the turbines,

AT % TTT SaTe el o ge o B
Which of the statements given above is/are
correct?

SRR AT H W HIF-T/RA-H T /82

(a) lonly/éﬂﬂl

(b) 1,2and 3 /1, 2 3 3

(c) 1and 3 only /&ael 1 3 3

(d) 2and30nly/§h—°|ﬁ23ﬁ13
Ans. (b) : RT 7T y37 ¥ gff F97 T § HS 9
afadH & it § TeUsdl W aw &
&l 4w @ S g

95. Match List-I with List-II and select the correct

answer using the code given below the Lists :
eA-1 & G -1 & gafea wieg i g
o e feu T Fe w1 TET T ST IET

i

maximum height at the centre. List-I/S=A-1 List-TI/g=A-11T
3 tlT%‘f Bl a?f[m e gt € (International (Theme)/(fare=)
Toraer 7 # 1Rreha® Some Bl g _Convention)
3. Two ends of the barchan are called horns. (i
S & Al R T i shad & A. Stockholm 1. Hazardous
Which of the statements given above is/are Convention chemicals and
correct? pesticides in
ST ot § ¥ AR T A B o e
3 : ] R
(a) 1and 2 only /&ad 1 3 2 T T S
(b) 2and 3 only /Had 2 3R 3 Hfrearsh
(c) land 3 only FA 1 3R 3 B. Minamata 2. Persistent
(d) 3 only /Fad 3 Convention organic pollutants
Ans. (c) : 99 % €@ T w9 X0 & S HETHHR , EERCLL
A &7 F A 2 A o g A fem F Freeed 2 FAIH
g 30 T@E #ed §1 @ % A R =7 ||| C. Basel 3. | Binding
ot B § e T Fed g1 A I I Convention instrument on
TEwE § U S § 1 URT H ¥ -3l R e : mercury/qRg WX
# o Sl €1 o W @ 5 e (i) iR (i) 9 € AT 3eTgeht ferem
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D. Rotterdam 4. Transboundary
Qonvention movement of
hazardous wastes
HAITT and their disposal
ECLEEIC &0
doofiar deres
AR 3T Tue=
Code/<h<e :
A B C D A B C D
@ 1 4 3 2 b)) 1 3 4 2
()2 4 3 1 d2 3 4 1
Ans. (d) :
Feht-1 =it -11
(T =) (feremm)
(A) WTHem HaIE - S ST S
(B) fAmm #avH - UG W TESH forad
(C) 9d HA3H - TEAE SivEl &
dda deae 3 39
fAqe™
(D) eT2H HAvH - TRIEE AR H Gas
W SR Greseh
96. The Judgment of the Supreme Court in

Peoples' Union for Civil Liberties. Union of
India 2004 is related to which of the following?

T = O "R
T 2004 A § Soelqu ATAAT T Ui
frrefoiiaa # & foraw gafaa 82

(a) Right to Shelter /39T T ARIHR
(b) Right against Custodial violence
stferet § Rar & foeg 1R

(c) Right to Information /g1 T HEHR

(d) Right to Speedy trial /351 fo=RuT F1 ARHR
Ans. (¢) : GIeq gfe R fofae fofeelst am ara 99
2004 HHA ¥ Ieaaw e H vl gEer % SR
T Tt o1 I & ARER dfeum % el
19()A & Td TS Hifers AR 2, gaifs dfgum §
3. 19 & WS (2) & ded TS, 3T ai o 3Tl T

% fad # 3fuq gfter o o ghel 2|

97. Which among_the folloying deals with Habeas
Corpus?/ﬁ'ﬁ%’rﬁgﬁ T ® -1, wer
ARt o Heifir 82

(a) State of Uttar Pradesh v. Raj Narain and Ors.
(1975)/3W T T T AR
3 (1975)

(b) Additional District Magistrate, Jabalpur_v.
Shivakant Shukla (1976)/3T% St <,
ST S FRTehic e (1976)

(¢) Mrs. Maneka Gandhi v. Union of India
(1978)/4elt ATehT el ST AR T (1978)

(d) Nandini Satpathy v. P.L. Dani (1978)/Afct
gt IH 91U, I (1978)

Ans. (b) : 3 5T AR e, M F¥rehid ‘%ﬂ
(1976)&&@%@@%% YR
gﬁﬂ?ﬁa 1976 &) fe& T3 G, wedt % 39 foaEeE

¥ % T o1 5 e =fs A W FE €T ¥
e & & o @1 AR (I S TRy T %

Which among the following statements
regarding the powers of the High Courts under
Article 226 of the Constitution of India in not
correct?/STRA ok 226

refi Seor =TSl W vINRAl o Heier W

frrafafaa # @ SiF-ar s g T 82

(a) It can issue write of habeas corpus,
mandamus, quo warranto, certiorari, and

prohibition./d8 , ,
AREBE-ge=T, AT R iy Re S
el B

(b) Writs can be issued to enforce any rights
conferred by Part-IIl and for any other
purpose. /911 31T Yad fopeft of stferspR =t
yafda s 3 37 Rt off walem & forw e
ST R S G €

(c) This power can derogate the power conferred
on the Supreme Court under Article 32(2).

T vRe =R 32(2) I Iy
AT H e Uk H 3Ted H FHd 2|
(d) Writ can be issued to any authority under its
jurisdiction.
TR &1 Re St fomam ST wen 2
Ans. (¢) : I Efa€E % 226 % I =
Wﬁm%gwm%m
DT 226(4) H 7@ f 39 =82 g 3=
T H VST U ", TR 32 F WE (2) & d_d
eI AT 1 Y&d Y BT STCUhUT gt g 3
wE § % B9 (c) I T ¢ I P T T
99,

Which among the following is not correct?
freferiaa @ & s-a1 9 @ 82

(a) Legislation on criminal law, barring
exceptions, is a subject under the Concurrent
List. / 6%33»’{ g fafyr @ faum

gredl gE & 7w fov 2
(b) Bankruptcy and Insolvency are subjects under
the Concurrent List./SNe 3% 3R faaman
guad gt % o1 fawa €
(c) Inter-State trade and commerce is a subject
under the State List./ E2IITY
Ao gt & 37 s fome 2
(d) Banking is exclusively under the Union
List./a e At & o7 7
Ans. (¢) : YRAF HEEE H Giddr T g9 3
TSt % wed wkhal % fadeH & AR A feIn e ?1 56
sta W gfeat Fer (i) ¥ g (i) TS g (i)
e G|
i MR 3R AT 99 gt & o9 uw faug
21 99 g § 31 97 fwEl (adAE & 98) # 3@ |
3 foshen H‘ﬁ?

UPSC CAPF (Assistant Commandant) Exam-2023

25

YCT



100. 'Basel Convention', 'Rotterdam Convention'

and 'Stockholm Convention' relate to which of

the following?
‘ o etew wavH’ iR ‘w=iewa
v’ frefee § & forad deiftra €2
(a) Human Rights of Prisoners

[ o HAHE SARER
(b) Management of Pollutants /g5 EARCIE]
(c) Conservation of Wetlands /2TTE¥fH &I S0
(d) Conservation of Rivers /A&t =1 e

Ans. (b) : TH FEYA Yeleq FAvH N TihgH

ﬁiﬁﬁwﬁ%we‘%maﬁwm%%@%
i TS Hel I AR B R i fwen s
& fuw 1989 # @A FEIE HI IUART WA N

R | WA WA 3 FHeAvEh &
yfe e e el JarEl S SgEr 24 & fow
1998 H TeTSH a3 i STTA™T T 7|

101. Which of the following is/are not correct about
the Mother's Absolute Affection Programme?
TTAT ST YUt g ShTeishd o o O frferiaa o
¥ FIF-TT/HA-T Ho T T 38
1. Allows all pregnant women to absolutely

free and no-expense delivery in public
health institutions.
zan meft mofadt wfeemen & fow W=
e HEIE | guia: fyew o) =m-
e yaa Y SHawe B
2. Provides assured, comprehensive and
quallt antenatal care
qad-
ua‘ ST W T g
3. Promotes undiluted focus on breastfeeding.
Tg WU W gul A & é
uﬁ?mg-rr ot 21
4. Provides medical and nutritional care to
severely acute malnourished chlldren
g TR ®U A geet o faw
faferear ik wiwor T a?r e
AT
Select the correct answer using the codes given
below :
Hror feu T e T JET W T ST I
(a) 1,2 and 3 only/ad 1, 2 3R 3
(b) 2and 3 only/é)—cl?T 2 33
(c) 1,2 and 4 only/3ae 1,2 3 4
(d) 3 only/gfﬂ?[ 3
Ans. (¢c) : A & qUf g &@%A (MAA- Mother's

Absolute Affection programme) 5 3T& 2016 Hl
WY o ag@T 3 W qUl e Hsd B & g |
WA R URAR HedmT HAe g YE fRAT T, TS
WW%MAAWWWWWH?%
YO, e SR wmdq F v # qESitad e g

102. Which of the following statements about the
Right to Information Act, 2005 is/are correct?

oA & W ST IR, 2005 % SR W
%ﬁﬁﬂﬁﬁﬁﬂﬁ?—ﬂ/ﬂﬁ?ﬁiﬁm‘aﬂ

There shall be not more than twelve (12)
Information Commissioners.

AT ATh S aHE (12) BRI
2. The Chief Information Commissioner shall
hold office for a term of five a%ears.

g‘@qmw&ﬁsw Ity & o
g gt

3. The Chief Informatlon Commissioner is
eligible for reappointment./J&I J AT

ST TAMGIRR < forg ot g

Select the correct answer using the code given
below :

et fau T e &1 TR = | S g
(a) 1 only /Fad 1
(b) 2 only /Fact 2
(c) 1and20nly/§>"°|?[13ﬁ12
(d) 1,2and 3 /1,2 3 3
Ans. (b) : I &1 ARER AAFEH, 2005 F 7T 3
ﬁﬁaﬂgwa@n%aﬁﬁeﬁ@mwésﬁ

3R gAFgRe & foe am @ e, 7 5 AR
ﬂ@gﬂmmmﬁﬁmﬁm%wﬁ
3G &Y § U8 gROT AL HAT|
gagéw%ﬁaﬁﬁnﬁﬁaﬁﬁﬁmasm(z)
|
Note-T=1 F1 3TFR gﬁ(@ﬁaﬂ) CERE 20% & HLER
Sl NSAll (% T TH
) 5% e ® fo 7 2 A 76
ﬁm%mwwm|
103. Who among the following was the first pro-tem

Speaker to be unanimously elected as _the
Speaker of the Lok Sabha?

g WIARIh ITEAST i o W wWawwfy ¥

Ik T a1 3remel Taifea gam?

(a) Rabi Ray /G 3

(b) Hiren Mukherjee/%ﬂi:f E[@Trﬁ

(¢) Somnath Chatterjee/SHTg Fsif

(d) P.A Sangma /9. €. G
Ans. (¢) : HEEEE B T % alw Ja o dee
e g A S § R adam § deedi @
A1 (2 S 2004 ¥ 18 TE 2009) *1 veaw faffaa fean
T e a—vﬁ-Tr:fﬁ 174 TehgeT & 3Tt 30 frgan

104. Consider the following statements with
b ﬁa;' & HHE Hceh SiMTechdl o, U W reference to Jainism : % Hed W
AU F A & UF S ARG W, Prafeias wet W e Fii
ﬁgaﬁ WA & AU PRI woe Tl SHeTs 1. Vardhamana Mahavira attained
T & Kaivalyajnana outside the town of
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Jrimbhikagrama, on the banks of river
Rijupalika and in the field of a householder
named Samaga.

e 7 Siftenm TR & e,
FHUTAeRT Tt o € W 3R |HRT AW
Tt & a7 B haeaaT e feRam
The state when the Karma particles

actually begin to flow towards the Jiva to
bind it is known as Asrava.

9E AT o ke dvd ardd B S st
faom ¥, 38 S % T, WETRA BN e
£ 30 e e #)
Which of the statements given above is/are
correct?

I YA W W RA-TI/HREA-T GE &2

(a)lonly/a\v'alﬂl

(b) 2 only /& 2

(c) Both 1 and 2 /1 3 2 At

(d) Neither 1 nor 2 /9 ar 1, d g2
Ans. (¢) : TRER @WH S o8 & 249 wd sifm didax
| HEdR @i & 42 99 1 Sfaeer # 12 a9 # FfeA
U= & g T <9 & Rifvsemm & e
ﬁ%mwww%@mﬁﬁw e
W(aﬁ%wgmﬁquﬁ%ﬁwﬁ P 9 weH
fsfar wdf it 81 TR SR & STIUR AT STewen 9@
T arad | Sffa & faen & =9 steq & foe yenfea (At
& Sha A 2N 8 o7 @ df 3§ 37Ed ed §
3a: e M9 i ST T £

105. Consider the following pairs with reference tg

textiles il} Southern Indiz! :/E'F&JNT 9RT ¥ &l
o Hed # frmfaiad g W foem st
(Tsx)/ (eRY) (Meaning)/(&Tﬁ)
1. | Panjupeeli on cotton yarn
ﬁvpﬁ(—-% HU & Gd W
2. | Nulayam/JeT&aH on cotton thread
HUTE & IR W
3. | Tari kadamai on silk clothes
HUST T
4. | Sella/HeT on silk thread
G T
Which of the pairs given above is/are correct?
-T/&-0 T 8/

(a) lonly/a\v'al?[ 1

(b) 1and 2 only /e 1 3R 2
(c) 2,3 and 4 only /hdael 2,3 3 4
(d) 1,2,3and 4 /1,23 3 4

106. Which one of the following animals does not
come under the category of four noble animals
(Maha-Ajaneya Pasu) carved on the round
drum (Anda-Phalakz% of the lion capitat at
Sarnath? u Eé:r-m qg] WA
iz ofid Mo g (3fs-wee) W Il O
eI u:%aﬁ (TET-3T= Ug)) st it o
I T2 22

(a) Deer /g7 (b) Lion /{47

(c) Bull /g9 (d) Horse /314
Ans. (a) : U | g 99 % A g9 (3HS-HH) W

AR ST agE @ S § gu wnfer 98 2
R ferd sene & g w9 & AT I TSR
I A S B R N T T e
5 @ §1 39 Y T et R R e W e, a1,
TH gIY IR TF fig o1 31 He& Iufme ¥ fon mn
‘e SEd’ SaATHT faft # o st o A sifhd 21
TP & Wi & & § 3§ 26 T 1950 Pl 9T TR
T 39T T AT

107. The ruler Vindhyashakti during the period
preceding the Gupta Age is associated with
which one of the following dynasties?

m gdedl HART T ITHe fHeavith
[ERECHE: o4
(a) Vakatakas/dalhlZsh  (b) Chalukygs/ﬂ'l?ﬂzf

(c) Kalachuris/®eddl  (d) Sungas/gT
Ans. (a) : 255 5. H arhEeh a3 & WA g5 A 39 a9
F T foreawits o1 awRs G T SR
| Y 9 H AEEh GEYH Yo T Jo9 o7 S 275
g U e o foeeite & 3Sar siftrerg | A
F9T g Hel T B
108. The ancient Indian medical treatise for houses

called Ashvashastra is attributed to which one
of the following persons?/3T

gt fafeer . gy w9
frrafefiaa ® & form =afss o) Star 32
(a) Vagbhatta of the seventh century
TIAE! I o AR
(b) The sage Shalihotra /& iR

(c) Bhartrihari of seventh century

(d) Varahamihira of the sixth century
It vl &% R

R

EilG| , el g 3R e faewg 9 @1

ﬁgﬂﬁmﬁ@q@qmésﬁwﬁmaﬁw
|

109. The celebrated group of poets in medieval

Ans. (b) : el ATAGT § HY & [T 400 G STl RGeS Mathura and Vrindavana calleq the Ashta-
= fiem £ B TE W st o8 gEfyg s fCl;lhaQa were the slulgﬁesl:qrs of ngch one of the
§ ollowin medlevaaﬁ_{ akti Saints? .
Sialdicy T T of ga % gfEy S
(&9 (37eh) T WOE, S IE-BIU whedd o, Frefefaa o
RECIE - FEF YR  ford HedehTelt Ok U o STRadr 92
qeraH - HUTE & T W (a) Kabir of Benaras /aRY & HR
REUEZUI ShTET L (b) Chaitanya of Bengal /&7l & =q=
Rl - ERLEERANEA (c) Guru Nanak of Punjab/4sTTal & T& %
o U 2 I (1) (ii) W 21 (d) Surdas of Braj region /51S & % &
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Ans.(%:‘-’lmm?ﬂﬁqﬂ'ﬂﬁ(' % wfdfied Hfaai &1
e, S S8 Frad 91 7 o 59 &9 & gE
(FEAHTA 9tk He) & STt 91

110. Consider the following
Laterite soil found in India :

ARA § U T AT eNge S K g H

frfafaa wel W faam i

(a) Lateriti soil is found in high altitudes of
Himalaya w

[SEAECR U IS Y
(b) Itis a very fertile soil.
g IR e TaT T
(¢) It is a red colour soil due to presence of

iron oxide. TS
THRUT TE 0 T T 8

(d) It is poor in Nitrogen, Potash and organic
matter.

* ¢ ’
wared arew T H B
Which of the statements given above is/are
correct?

UL U H W RA-TI/HREA-T GE /2

(a) 30nly/§>"°|?[3

(b) 2and4only/%h—°|ﬁ2 #N 4

(c) 3 and 4 only /&ad 3 3 4

(d) 1,3 and 4 only /e 1,2 3R 4
Ans. (¢) : ©ICUSS HaT 1 (G 3 &4 § gl @ i@l
3= q9AE ©g 9 auf (200 Y. & siferp) @i @
ek @t & RO ot %G1 AT AR fferhr o e

statements about

Which of the following statements about Ragi

crop grown in India is correct?

aRd " W aTelt W w wES wN W

frrefafge @ SH-T1 Haw T 82

(a) It is a millet crop grown in drier parts of south
India. /78 3RV WA & [ a5 e
arel T e () wEa 21

(b) It is a Rabi crop grown sown_between
November and March./d8 =9
& ST Al W # BEd 2

(c) It is rainfed crop grown on red, light black
and sandy loam soil./3Fg8 <<,
T A I W IME S a1 ao-Te %o 2|

(d) It is grown between 20 degree Celsius and 30
degree Celsius of temperature and 50- 100 cm

rainfall 20 fsat 30 e
ofeqag % &9 % d9EE 3 50-100cm H
Fut & I S R

112. Consider the following statements about rock

structure : RUSCEI
AT WX Faa e :
1. Conglomerates are clastic sedimentary
rocks./® WS e I B
2. Slate is a non-clastic sedimentary rock.
e Teh STEST aaTdl I B
3. Granite is a plutonic igneous rock.
Kl
4. Basalt is an extrusive glgous rock.
Kl

Which of the statements given above is/are
correct?/3UITH HAA B H HiA-9 3
(a) 1,2 and 3 only /e 1,2 3R 3
(b) 3 and 4 only /&aet 3 3N 4
(c) 1and 2 only /&ad 1 3 2
(d) 1,3 and 4 only / %act 1,3 37K 4
Ans. (d) : 9 & H2 H Ao e 99 ¥R % gard
9 3R g HI T AT T Hed &1 T fmior ffe
YR % WS o 9L § geT g1 vl & gay § e
FOT T §-
(i) e Tes EuE I g
(i) ITge femeta s 9 2
(iii) 9Iee e =T T 2|
W TF SYARA Il & | ST 0 Fere] Sedt ¥ g 2

113. Consider the following statements about
Ramsar Wetland sites in India:

ORd WO i Telt % aR o

frrafefaa swemt W faem st :

1. Gahirmatha is the habitat of Olive Ridley
Turtles.

anfera et wgstt = mam &1

2. Chilka lake is habitat of Irrawaddy
Dolphin as its flagship species.
fereant e, sgﬁ U@ wifa (TeTs) &
wY §, A et o1 AT 2

3. Nalsarover Wetland is also the habitat of

Indian Wild Ass (Khur).
AeTERE T TR St T ()
&1 ot arEE T

4. Tso Moriri Wetland is the habitat and
breeding ground of Black-necked Crane.

SMFAM I e arelt TR

(A~ TheT) T ST ST YT T B

Which of the statements %iven above is/are
correct? < o wE &2

(a) 1and 3 only /&ad 1311 3
(b) 1,3 and 4 only /e 1,3 3R 4
(¢) 2 and 4 only /Haa 2 R 4
(d) 1,2,3 and 4 only /1, 2, 3 3R 4

Ans.(a):ﬂmﬁwrs‘aﬁareﬁrﬂﬂaﬁmaﬂmm

F 21 T8 IR 9RT F TH 9E F I I A T

et (freie) F9d 21 98 BUe ST IR & 9 T &ml

iﬁaﬂaﬁaﬁélmﬂﬁﬁaﬁ,@ﬁaawww
|

Ans. (d) : TR gHeA & YEAT 1971 § TH &
TR AE WA ¥ g W TIR §Eed & i
SR o T 3] TEEH fRU TTI AR 3 1982 |
IS g FE a8 2 Wed @ faw o qfy feaw
AT ST 8 | UHER o Hay # feu 7w gt wod g §-
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(i) T ifes Reet Fgsit &1 a9 2|

(i) foew sia, ot wg@ fa (Tfefe) & &9 §,
A Sifeh &1 3 a 2

(iii) ORISR ST YA Sl T (Y F F 319 2

(iv) & A8 ey @l T Al e (sdw-ae
ohT) T STET SN FoT e 2

114. Which of the following soil formation process

taken place in Phumdis (floating fields) in
Loktak Lake of Manipur? wheeh

et ¥, wudl (wame @) # fafaftea 8§ 9

w-w ger-frutor gfsrar afed adt 22

(a) Laterization SRS

(b) podzolization L IESIREMES

(©) Gleizationﬂ'ﬂﬁﬁ‘\’ﬂ

(d) Calcification /HHifthhgH
Ans. (b) : I Aheh e b, (THH )
) m%;;g?m er-femfor Srgfur‘srﬁ‘cr g 2
dehesh 3ia IW-TEf U7 AT F o s #S ur
| 7% et forg & et G0 ol % w9 # fig 2
¥ Shdeet AT TS TEE T o )
et 21 N JAEhR Seldelt (T69) & forw S
2, R T e & §Ae & AW Y S S 2

115. Which one of the following statements is
correct about Spring tides?

ged TR AreRl (B gy & an o

frafafaa § ¥ ®F-91 waF 98 2

(a) High tide is higher than average high tide and
Low tide is higher average low tide? /3=d SAR
(BT TE) 3iEd 3= SR ¥ Ieaad Bl @ 3R
7 SR (a 21ge) ot e SR @ 3=W
B 21

(b) High tide is lower than average high tide and

Low tide is higher than average low tide./3%9
SR 3G 3v9 SR ¥ W @i @ i e

R e e SR g Swe g 21
(c) High tide is higher than average high tide and
Low tide is lower than average low tide./3<d

SR SEd 399 R ¥ IR Bl @ R
SR siiEd e SR g e @i R

(d) High tide is lower than average high tide and
Low tide is lower than average low tide. /3=

SIR 3G 359 SOR ¥ R gar @ eIk fae

SR 39d e SR § e 2 2l
Ans. (¢) : 99 T TSHT HI SHAT VhA & HROT IR
Sl H SR 334 a1 RA &I SIR-91ET HaT ST 21 24
52§ g% W W & aR SR S 21 5 gd, gedt
a9 T U el W A @9 & @ 39 SR 3ied =
IR ¥ IeAR T 8| & gd, G e IS Th-g §
AT W Red Bid & 1 (4 SR eited e SR 9
o) & 21

116. Consider the following statements about IPL
cricket tournament :/IPL

i

=

T frfeiaa sl o1 faem s
1. Two teams won tournament five times each.
= Ufe 9R gATHE STl

2. Chennai Super Kings remained runner-up
in five editions of the tournament.

TAHE & Uig GERUT W OeE g e
TE T W (T- 37) T

3. On three occasions, the final was played
abroad.

T AT W, WIEA faeeT ¥ W wEm

Which of the statements given above is/are
correct?

IUGTh oAl #§ A RA-A/RE-T T /82

(a) 1,2 and 3 /1,2 3 3

(b) 2and30nly/%§?[23ﬁ13

(c) 1and 2 only /&ad 1 3 2

(d) 3 only /a 3
Ans. (a) : 3UEaT HEER o1 (IPL) IR fhhe s
€ R eIferd 9RG H Wb YR Td=1-20 fpohe o
It % faendt 9 o9 €1 39 7% T gC IPL % 16
e #§ ¥ @ AW OEE W R ok qeg feww
wﬁr—wﬁraﬂﬁaﬁmsﬁﬁ%%wmlmgﬁé%
gfg FERT (2008, 2012, 2013, 2015, 2019) H TR ==
(TR-3) W @I a4 a9 (2009, 2020, 2021) R
HIge foRer # @l T

117. Consider the following statements about Khelo
India University Games (KIUG):
et gfgan T (KIUG) & &R o
frafafga el W e St
1. The first edition of KIUG was held in
Odisha./KIUG HERTUT T
sfifgem o feram T em

2. The name of the mascot of the third edition
KIUG was Jeetu./KIUG o TEHIUT o

FIHERT ST AT S 2m

3. The first edition of KIUG was postponed
due to COVID./KIUG & Uget HERIUT i
RITIS o HRUT IR T foar 1w em

Which of the statements given above is/are
correct?

Sudvh YAl § A BH-A1/BE-0 T T2
(a) 1,2 and 3 /1,2 3R 3

(b) 2 and 3 only /3 2 3R 3

(c) 1 and 2 only /T 1 3R 2

(d) 30n1y/a\v'5|?[ 3

¥ se||[§ ST @ T KIUG & Y ST @ ST

Ans. (¢c) : Wall 3fear Fafid T (KIUG) Wk #
SENF B S ATl Th TEF TR B sg-ae S
21 Wl e & foufammerl & Raardl sfawm & €
el gfrear T H UEEAl GEHWT ¥ 2020 H
stfeem # g3 o T TEU TEHOT W 2022 H
FIGE, FAleH § AR v T ar1 (Ffee & FW
2021 ¥ 2022 # WEFRA) | KIUG & SR S&h0T &
Y H AW S AT I8 HEHWT 7E 2023 H I A

FEd 2024 F GARK YR & 7 TS (3THH, STEUIEA
Y, Fed, foerm, fafyes, ammeve sk figm §

sEfSa foR
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118. Exercise Ajeya Warrior is a biennial training
event between the Indian Army and the army
Elie

of /31Ty A 991 3R

(a) Nepal /et

(b) United Kingdom /gA15ee fhrew

(c) Russia /&9

(d) Japan /STHTT
Ans. (b) : 3T 3T AN IRAE G 3R FARE
fhen % i Us faifis wfewur SR @ S gARes
féhTen 3 wNa # dfouss &9 ¥ AN fhar s g1
Y AT dRAT-23" N 78T TR ARSE e

¥ Afergelt wi=g § smafem faam T o)
119. The journey of the First Phase of Sagar
Parikrama Yatra, an initiative of the

Government of India, was started from:
RA THR & U, UR URHAT AT o Tgel
TRUT Y AT Fel | AT g2
(a) Andaman and Nicobar Islands
3 3R fpar gag
(b) Mabharashtra /AgRTY
(c) Karnataka [FATeSH
(d) Gujarat /TSI
Ans. (d) : 90 TR H Ted TR GRGEHAT & gl O]
AW 5 A 2022 FH WA & AEdl ¥ YE g8 o 3R
37 A TGN GRHAT % el 10 =0T Q & g% &1 G
TfEAT % 103 =TT H YESTT Heid T s STl
Td S oA . TA. I8 A 99 §9aUTg § @
120. The annual Kheer Bhawani Mela is qrganized
at : <hl
feram Strar &2
(a) Kabaw Valley /&@md =1t
(b) Kashmir Valley /&¥HR =1t
(c) DaH Hanu Valley /a8 8T BIci|
(d) Upper Dibang Valley /&5 fasiT =1t
Ans. (b) : @I¥% WR 9aT Al & AESH 9RT &
FERMT Yo T 6 FYHR F MewEa et & gere
e F STRIRM foRA ST @1 ¥ R I W & aral
fog defnfedi & Wy favm w9 ¥ FvEd dfeq @pEm
FRI Tetee et & s IO S w5 F ween S @
5= T &9 ¥ ‘g @R war’ & 9m § off S S
21 T iR fig deiet F AER Ww awd % fa
TR ST 2|
121. NISAR satellite is manufactured jointly by
Indian Space Research Organisation and:
fER (NISAR) 3uuig &1 fafmior 69w &0 9
TeRa T 2
(a) Japan Aerospace Exploration Agency
ST ’
(b) National Aeronautics and Space Administration
e e w9 ey
(c) Russian Federal Space Agency
R T ‘

(d) European Space Agency /IUfET WY Ty

Ans. (b) : R (NISAR) 3T &1 faf¥mior @ &9
9RAE  SARe OEHMM ®Wed  (ISRO) R HAYHA
TRACTT U WY TSy (NASA) 3N & o
21 fRR (NISAR) 1 90 314 NASA-ISRO Synthetic
Aperture Radar Satelliteg’l

122.

'Operation Kaveri' is a rescue operation
launched by the Government of India to
evacuate Indian citizen who were stranded in:

‘TR A foRe 29T § e Wt AmTReRt
w fere & T aRa TR g 3% fwan
AT ST AT &2
(a) Kuwait /@éﬁ (b) Ukraine/??ﬂ
(c) Afghanistan /3THMEE  (d) Sudan/Ys8T
Ans. (d) : STRIA FEd A’ § B IRAT TR Y
fed & T 90 TR 50 Y€ fa T s=e
A ani A 2023 § fRY W w§ e gW
‘SR Ha’ Y=o T o
123. 'Rail Vikas Nigam Limited' is a :
Yo ferepmr formw feAfie e’ o &2
(a) Maharatna CPSE/H8Rc1 CPSE
(b) Navaratrn CPSE/Fa{d CPSE
(¢) Miniratna I CPSE /&1 CPSE
(d) Miniratna IT CPSE /fffe1 11 CPSE
Ans. (b) : I faE fm fafies (RVNL) 9Rd TR
F I §aeE & o1€iH Uk Fa CPSE (CPSE-Central
Public Sector Enterprises) a1 2
124. What are Airawat, Param Siddhi, Pratyus and
Mihir? , T fafeg, wegw oiw fufew o= &2
(a) Super Computers of India/¥Rd % g HIL
(b) Battle Tanks of India /HRd * REE 3%
(c) Supersonic Missiles of Inda
IRA & GeafTeh (Gaedien) firmget
(d) Indian Naval Ships /R 8T it
Ans. (a):ﬁl‘lﬁlﬁ, wﬁrﬁ;, Waﬁiﬁﬂﬁw
W FFL 81 YW FFfEl G ST %

125. Which one of the following Indian Naval Ships
has recently concluded a 17,000-nm trans-
ocean intercontinental voyage?

fera aefiar r@=T W ¥ g & | 17,000-nm
Ht URHEENR iqugrgidier amsm gff et &2

(a) INS Tarangini / INS TRt

(b) INS Mandovi / INS Higrdt

(c) INSV Mhadei / INSV Hereg

(d) INSV Tarini/ INSV diRoft

Ans. (d) : 9RAF 49T 9 INSV aiftolt 3 7€ 2023 |
17000-nm ( ) N IREEEIR SavEEdE amr g
&1 9 a9 INSV aRoft 3 28 geeig g %
Y 23 9 H 188 &l # AW & LM Ml ST

ikl
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UPSC CAPF Assistant Commandant Exam 2023
Solved Paper II : Essay, Precis Writing and Comprehension

Time allowed : Three Hours

Maximum Marks : 200

1. frafafed & @ fl = ow e 300 wredi
(FarR) W Teier fafam -
Write essays on any four of the following in
about 300 words each : 20x4 =80

TG THAT - Teh AT ThX il Jog
Cyber attacks - a new kind of warfare
forvar sramen & wRA T IRAT
India as an emerging leader in the new world
order
TG WA § Yaret ARATET sht ArTar
The Indian diaspora and its contribution to
ost independent India
%T&IT q WTEehal YIas i GheTdl & T&T
wa ¥

Education and awareness are the critical pillars
for the success ofa delnocracy. .
SeTaR(T-eh ol TSINTEeT Shifd T Teh 38T
e g

E waste : the dark side of the digital revolution

Ta wrerg fafeerar awa @&
wafe 3

The geographical and linguistic diversity of
India is its real wealth

Ans. 1: (a)

Cyber attacks - a new kind of welfare :-

A Cyberattack is any offensive maneuver that
targets computer information systems, computer
networks, infrastructures, personal computer devices, or
smart phone. This attacks have indeed emerged as a new
form of warfare in the modern world. Unlike traditional
warfare, which often involves physical confrontation and
destruction, cyber warfare leverages digital means to
disrupt, damage or gain unauthorized access to computer
systems, networks and data.

The following key aspects of cyber warfare are -

1. Targets - Cyber warfare can target various entities,
including government agencies, military
installations, critical infrastructure, financial
institutions, business and even individuals.

2. Objectives - The objectives of cyber warfare can
range from espionage, sabotage (disrupting or
damaging systems), to psychological operations. It
can also include theft of intellactual property or
financial assets.

3. Methods - Cyber attacks can take many forms,
including malware, distributed denial-of-service
(DDoS) attacks, phising, social engineering, and
more.

4. Attribution - One of the challenges of cyber
warfare is attribution, or identifying the party
responsible for an attack. This lack of clear
attribution can complicate diplomatic and military
responses.

5. International Law and Norms - The international
community is still grappling with how to address
cyber warfare within the framware of International
law.

(@)
(b)

(©)

()

(e)

®

6. Escalation Risks - Cyber attacks have the potential
to escalate conflicts between nations, especially if
they target critical infrastructure or military systems.

7. Defense and Deterrence - Governments and
organizations invest significant resources in
cybersecurity measures to defend against cyber
attacks.

Overall, cyber warfare represents a complex and
evolving challenge for governments, militaries, business
and individual alike. As our reliance on digital
technology continues to grow, the importance of
cybersecruity and resilience against cyber attacks
becomes increasingly paramount.

Ans. 1: (b)

India as an emerging leader in the new world
order : India's emergence as a leader in the new world
order is undeniable, rooted in its rapidly growing
economy, geopolitical importance, and cultural influence.

There are several factors contributing to India's rise -
1. Economic Growth - India has sustained significant

economic growth over the past few decades,

becoming one of the world's largest economic. Its

large and growing middle class, along with a

youthful demographic dividend, positions it as a key

market and a driver of global economic growth.

2. Geopolitical Importance- India occupies a strategic
location in South Asia and serves as a bridge
between the East and the west. Its geographical
proximity to key regions such as the middle East,
Southeast Asia, and the Indian Ocean makes it a
crucial player in global geopolitics.

3. Soft Power - India's rich culture heritage, including
its history, art, music, cinema and literature,
contributes to its soft power.

4. Democracy - As the world's largest democracy,
India sets an example for democratic governance in
a diverse and complex society. Its commitment to
democratic principles and rule of law strengthens its
standing in the international community.

5. Global Diplomacy - India actively engages in
multilateral forums like the United Nations, G20,
BRICS and SCO, advocating for issues such as
climate change, global trade, and counter terrorism.
Its diplomatic outreach and initiatives contribute to
shaping global agendas and alliances.

6. Technological Advancements - India has emerged
as a hub for technology and innovation, particularly
in fields like information technology, biotechnology
and space explorations.

7. Military Strength - India maintains one of the
world's largest and most capable armed forces,
enhancing its ability to safeguard its interests and
contribute to peacekeeping efforts globally.

Despite these strengths, India also faces significant
domestic challenges such as poverty, inquality,
infrastructures deficits and geopolitical tensions with
neighbouring countries. Overcoming these challenges
will be crucial for India to realize its full potential as an
emerging leader in the new world order.

UPSC CAPF (Assistant Commandant) Exam-2023

31

YCT



Ans. 1: (¢)

The Indian diaspora and its contribution to post
independent India

The Diaspora encompasses a group of people who
can either trace their origins to India or who are Indian
citizens living abroad, either temporarily or permanently.

The Indian diaspora, spread across the globe, has made

significant contributions to both independent India and

their adopted countries.
There are following ways in which they have

impacted post - Independent India-
(i) Economic Contribution - India diaspora members
have been instrumental in driving economic growth
both in their adopted countries and in India. They
have been successful entrepreneus, professionals and
skilled workers in various sectors such as
technology, medicine, finance and engineering.

Political Engagement - Indian diaspora members

have been politically active in their adopted

countries, advocating for the interests of both their
communities and India.

(iii) Cultural Influence - Indian diaspora communities
have helped spread Indian culture, tradition, and
values across the globe.

(iv) Technology and Innovation - The Indian diapora
has been at the forefront of technological innovation,
especially in countries like the United States. Many
Indian origin entrepreneurs have founded successful
tech companies, contributing to advancement in
fields such as information technology, biotechnology
and renewable energy.
Diplomatic Bridge - The Indian diaspora serves as a
vital link between India and its host countries,
fostering stronger diplomatic, economics and
cultural ties. Diaspora network facilitate trade and
investment, promote tourism and enhance people-to
people exchanges, contributing to India's global
outreach and influence.

(vi) Philanthropy and Social Impact - Indian diaspora
members have been involved in philanthropic
activities, supporting social causes and development
projects in India.

The Indian diapora's contributions have been diverse
and significant playing a crucial role in shaping India's

(i)

V)

development trajectory and enhancing its global
presence.
Ans. 1: (d)

In a democratic country, people elect their

representatives to work for a quality life and inclusive
growth opportunities for them.

Absolutely, education and awareness are indeed
fundamental pillars of democracy.
(i) Accountability - Education enhances accountability
by enabling citizen to hold government officials and
institutions accountable for their actions. Informed
citizen are more likely to demand transparency,
integrity and responsiveness form their leaders,
thereby strengthening democratic governance.
Informed Participation - Education provides
citizens with the knowledge and understanding
necessary to engage meaningfully in the democratic
process. Informed citizens are better equipped to
make informed when voting, participating in public
debates, and holding elected officials accountable.
(iii)) Democratic values and Norms - Education instills

democratic values such as tolerance, respect for

human right, and the rule of law. By promoting

(i)

these wvalues, education fosters a culture of
inclusively, equality and social justice which are
essential for the functioning of democratic societies.
(iv) Social Cohesion & Understanding - Education
promotes understanding and tolerance among
diverse communities, fostering social cohesion
essential for the functioning of a democratic society.
It helps mitigate social divisions and prejudices,
fostering an environment where dialogue and
compromise can flourish.
Long - Term Stability - Democracies thrive when
citizens understand the importance of democratic
norms and institutions.
(vi) Promoting Sustainable Development - Education
is closely linked to economic development and

)

prosperity. In turn, sustainable development
strengthens democratic institution and social
stability.

In summary, education and awareness serve as the
pillars upon which democracy stands, enabling active
citizen participation, fostering critical thinking,
promoting accountability, protecting against
authoritarianism and advancing democratic values and
development.

Ans. 1: (e)

E-waste : the dark side of the digital revolution

E-waste (electronic waste) is the term used to
describe the rapidly growing stream of waste from
discarded electronics and appliances. The digital
revolution has brought immense benefits, but it has also
generated a staggering amount of electronic waste or e-
waste that poses significant environmental and health
hazards. E-waste comprises discarded electronic devices
such as smart phones, computers, tablets, TVs and other
gadgets. These devices contain various toxic materials
like lead, mercury, cadmium and brominated flame
retardants.

Moreover, E-waste recycling practices in many parts
of the world are often inadequate. Informal recycling
operations in developing countries may involve crude
methods like burning cables to extract metals, exposing
workers to toxic fumes and pollutants. This informal
sector, while providing employment opportunities, often
operates in unsafe conditions and lacks proper
environmental safeguards.

The shear volume of e-waste generated globally
exacerbates the problem. With the rapid turnover of
electronic devices driven by consumerism and
technological advancements, the accumulation of e-
waste to escalate.

Addressing the dark side of the digital revolution
requires a concerted effort from governments, industries,
and consumers. Implementing strict regulations on E-
waste management, promoting sustainable design
practices, and fostering a circular economy approach
where products and designed for longevity and
recyclability are crucial steps. Additionally raising
awareness among consumers about the environmental
and social impacts of E-waste and encouraging
responsible consumption and disposal habits can help
mitigate the problems.

Ans. 1: ()

India is a land of diverse languages, the major ones
being the Indo-Aryan language spoken by 75% of
Indians and Dravidian language spoken by 20% of
Indians. It has 22 schedule languages and several dialects
which are in mutual co-existence in a contiguous space.
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India's geographical and linguistic diversity is its
true wealth. Geographically, India boasts a stunning
range of landscapes, from the towering peaks of the
Himalayas to the serene backwaters of Kerala. This
diversity supports a wide array of ecosystems and
biodiversity, making India one of the world's most
ecologically rich countries.

Linguistically, India is incredibly diverse, with over
1,600 languages spoken across its vast expanse. This
linguistic richness reflects the country's long history of
cultural exchange and migration.

This diversity is not just a source of pride but also a
strength. It fosters a sense of unity in diversity, as people
from different backgrounds come together to celebrate
their shared identity as Indians. Its also promotes
tolerance, understanding and mutual respect among
various linguistic and cultural communities.

Moreover, India's diverse geography and languages
offer immense opportunities for economic development
and cultural exchange. They attract tourists from around
the world, eager to explore India's natural wonders and
cultural exchange. They also provide a fertile ground for
innovation, as diverse perspectives fuel creativity and
problem solving.

In essence, India's geographical and linguistic
diversity is not just a reflection of its past but also a
foundation for its future. Embracing and celebrating this
diversity is key to unlocking India's full potential as a
nation.

2.  Write arguments for and against each of the

following statements : 20x2=40
(a) Genetically modified crops are essential for
food sufficiency.
(b)  Capital punishment is a deterrent for heinous

crimes.

Ans. 2 : (a) For the motion—
The Genetically modified crops can potentially
contribute to sustainable food production by
increasing crop yields, reducing input costs,
enhancing food security, and mitigating climate

change.
There are following points for genetically
modified crops being essential for food

sufficiency are -

biodiversity and increased reliance on chemical
inputs such as fertilizers and pesticides.

Economic Dependency - Genetic modified seeds
are often patented by biotechnology companies,
leading to increased costs for farmers and creating
dependency on these corporations.

Loss of Traditional Farming Practices -
Promoting Genetic Modified Crops may
undermine traditional farming practices and
indigenous knowledge systems that have sustained
communities for generation.

Alternative Solution - There are alternative
approaches to improving food sufficiency, such as
organic farming, and sustainable agricultural
practices.

Ethical consideration - The corporate control and
patenting of GM seeds raise ethical concerns
about the commodification of life and the
exploitation of natural resource for profit.

Ans. 2 : (b) For the motion-

Advocates of capital punishment often assert that
it serves as a deterrent for heinous crimes. Here
are following arguments supporting this
viewpoint-

Moral Celerity and Justice - Capital punishment
sends a clear message that society will not tolerate
the most egregious crimes.

Potential Criminals Weigh Risks - The prospect
of facing the death penalty may deter individuals
from committing heinous acts.

Specific Deterrence - For those who are already
inclined towards committing violent crimes, the
fear of facing capital punishment may deter them
from acting on their impulses.

General Deterrence - Capital Punishment acts as
a deterrent not only for the individual being
executed but also for others who may complete
similar crimes.

Consistency in Sentencing - Enforcing capital
punishment ensures consistency in sentencing for
the most serious crimes.

While there arguments are presented in favour of
capital punishment as a deterrent its essential to
acknowledge the opposing viewpoints and the

(i)

(iif)

(iv)

)

(1)

(i)

(iif)

(iv)

)

(i)  Increased yield - Genetically modified crops are complexities surrounding the issue.
engineered to be more productive resilient. Against the motion -

(i) Improved Nutritional Content - Genetic The argument against capital punishment being an
modification can enhance the nutritional content effective deterrent for heinous crimes is
of crops, making them more beneficial for human multifaceted and draws upon various aspects -
consumption. (1)  Lack of Empirical Evidence - Numerous studies

(iii) Pest and Disease Resistance - Genetic modified have failed to establish a conclusive link between
crops can incorporate genes that confer resistance the existence of the death penalty and lower rates
to pests and diseases. of violent crime.

(iv) Environmental Sustainability - Some Genetic | (i) Complexity of Crime Motivation - Heinous
modified crops are engineered to be more Crimes are often committed under circumstances
environmental sustainable. For example - crops where the perpetrator is not primarily concerned
can be modified to require less water or to thrive with the potential consequences, including the
in marginal land. death penalty.

(v)  Customization for local needs - Genetic|(iii) Potential for Miscarriages of Justice - The
modified technology allows for the customization irreversible nature of capital punishment means
of crops to suit specific local needs and condition. that any miscarriage of justice resulting in the

Against the motion - exec;ution of an innocent person cannot be
There are following points against the genetically | rectified.
modified crops are essential for food sufficiency - | (iv) Inconsistent Application of the Death Penalty -

(i)  Environmental Concerns - Genetic modified The application of capital punishment often
crops often rely on monoculture farming practices, reflects systemic biases, with marginalized
which can lead to soil degradation, loss of communities disproptionelty affected.
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V)

(a)
(b)

Alternative Approaches - Advocates for
abolishing capital punishment argue that resources
and efforts should be redirected towards more
effective crime prevention strategies, such as
improving education, addressing socio-economic
inequalities.
Write reports on the following in about 200
words each. Do not mention any name or
address in the report, use XYZ/ABC if needed.
10x2 =20
Depletion of water table levels in major cities.
Increasing presence of women in Indian sports.

Ans. 3 : (a)

(1)

(i)

(iif)

(iv)

(i)

(iif)

(1)

(i)

(iii)

(iv)

Title-Depletion of water table levels in major
cities : Causes, Impacts and Solutions
Introduction - The water table depletion in major
cities has become a pressing concern due to rapid
urbanization, population growth and unsustainable
water usage practices. This report aims to analyse
the causes, impacts and potential solution to this
escalating problem.

Causes of Water Table Depletion -
Over-Extraction - Excessive withdrawal of
groundwater for various purpose such as drinking
water supply, industrial processes, and agriculture
is a primary cause.

Urbanization - The expansion of urban areas
leads to increased surface sealing, reduced
infiltration and alteration of natural hydrological
cycles, contributing to groundwater depletion.
Climate Change - Alterations in precipitation
patterns and temperature regions can exacerbate
water scarcity issues, affecting recharge rates and
exacerbating water level decline.

Lack of Regulations - Inadequate regulation and
monitoring of groundwater extraction can result in
unsustainable use and accelerated depletion.

Impact on Cities -

Water Scarcity - Depleted water tables lead to
diminished water availability, resulting in water
scarcity for both domestic and industrial purposes.
Subsidence - Excessive groundwater extraction
can cause land subsidence, resulting in
infrastructure damage, increased flood risks and
even the permanent loss of land in coastal areas.
Ecological Damage - Depletion of water tables
can disrupt ecosystem dependent on groundwater,
leading to habitat loss, reduce biodiversity, and
the collapse of delicate ecological balances.

Solutions to address water table depletion -
Water Conservation - Promoting water
conservation measures such as efficient irrigation
techniques, leak detection and public awareness
campaigns to reduce water demand.

Improved Management - Implementing stricter
regulations on groundwater extraction, monitoring
aquifers levels, and enforcing sustainable water
management practices.

Diversification of water sources - Investing in
alternative water sources such as rain water
harvesting, water recycling, and desalination to
reduce reliance on groundwater.

Land Use Planning - Incorporating groundwater
considerations into urban planning strategies,
including  green infrastructure, permeable

surfaces, and land use zoning to enhance
groundwater recharge.

Conclusion -

The depletion of water table levels in major cities
poses significant challenges to sustainable
development, requiring concerted efforts from
governments, communities and stakeholders to
implement effective solutions.

Ans. 3 : (b)

(1)
(i)

(iif)

(iv)

(1)

(i)

(iii)

Title - Empowering Women : The increasing
presence of women in India sports

Introduction -

The realm of sports in India has traditionally male
- dominated, but recent years have witnessed a
significant surge in the presence and performance
of women athelete across various disciplines. This
report aims to analyze the factors contributing to
this increasing presence of women in Indian sports
and its implications.

Factors Driving Change -

Changing Societal Perceptions - There has been
a gradual shift in societal attitudes towards women
participating in sports, with increased recognition
of their talent and capabilities.

Government Initiatives - Scheme like the Khelo
India program and initiatives promoting women's
participation in sports have provided crucial
support and infrastructure for budding female
atheletes.

Corporate Sponsorship - Corporate sponsorship
and endorsements have played a pivotal role in
providing financial stability and opportunities for
women athletes to excel in their respective fields.
Role Models and Inspiration :- The success
stories of trailblazers like Mary Kom, PV Sindhu,
Sania Nehwal and others have inspired a new
generation of girls to pursue sports as a career.
Key Achievements -

Olympic Success - Female athletes have excelled
on the International stage, with notable
achievements in events like badminton, wrestling,
shooting and boxing, contributing to India's medal
tally at prestigious competitions like the Olympics
and Asian Games.

Increased Representation:- Women's teams in
sports such as cricket, hockey, football, and
kabaddi have gained prominence and recognition,
attracting larger audience and sponsorship deals.
Grassroots Development - Initiatives aimed at
grassroots - level participation, including school
sports programs and talent identification schemes,
have helped identity and nature young talent from
diverse socio-economic backgrounds.
Conclusions -

The increasing presence of women in Indian
sports signifies a positive shift towards greater
inclusively and gender equality in the field. While
significant strides have been made, sastained
efforts are needed to address remaining challenges
and create an environment where female atheletes
can thrive and reach their full potential.

Attempt a precis of the given passage in one-
third of its length. Do not suggest a title. Write,
as far as possible, in your own words. The
precis should be attempted only on the precis
sheets.
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The relationship between art and technology has
long been a subject of debate, with some arguing that the
two are incompatibles, raising questions about the nature
of creativity, aesthetics, and the role of the artist, and
others seeking to integrate technology into the artistic
process. The question of whether the harmonisation of
art and technology is possible is a complex and
multifaceted one that requires careful consideration of
the potential benefits and drawbacks of such an
integration.

On the one hand, technology has the potential to
expand the possibilities for artistic expression in new and
exciting ways. Digital technologies, for example, have
opened up new avenues for artists experiment with
interactive and immersive installations, augmented and
virtual reality experiences, and other forms of
multimedia art. Technology can also provide artists with
new tools and techniques for creating and manipulating
images, sounds, and other sensory inputs. At the same
time, there are concerns that technology can undermine
the traditional values and practices of art. Some critics
raise the argument that technology can result in the
commodification of art, turning it into a mass-produced
product that can be easily replicated and distributed.
Others worry that technology can dehumanise the artistic
process, reducing the role of the artist to that of a mere
technician or programmer. The question of
harmonisation of art and technology is further
complicated by the fact that technology is constantly
evolving, which means that its possibilities and
limitations are always changing. As a result, the
relationship between art and technology is a dynamic one
that requires ongoing exploration and experimentation.

Philosophers have provided a range of
interpretations of art created through artificial
intelligence, offering insights into the ethical,

epistemological, and ontological implications of this new
art form. One of the key philosophical debates
surrounding artificial intelligence art concerns the nature
of creativity.

Some philosophers believe that artificial intelligence
cannot be truly creative, since it is ultimately the product
of a machine rather than a human being.

While there is no consensus on the philosophical
implications of artificial intelligence, the debates
surrounding this new art form have opened up new
avenues for philosophical inquiry and reflection. By
exploring these questions, we can better understand the
implications of artificial intelligence for human creativity
and artistic expression.

Using deep learning techniques, machines are able
to learn from massive amounts of data and produce
unique pieces of art that can range from abstract
compositions to realistic portraits. Artificial intelligence-
generated art is often a reflection of the data it has been
trained on, leading to unexpected and unique results. In
this way, artificial intelligence art provides a new lens
through which we can view the world and inspire new
perspectives on traditional art forms. (453 words)
Ans. 4 :

In modern times art and technology are never that
far apart from each other. They don't always work in the
same way, but both of them strongly influence each
other.

Technology has the potential to expand the
possibilities for artistic expression in new and exciting
ways. On the other hand, Artists are now creating art that

is not just a representation of something in their minds
but an interaction with technology itself. Technology can
also provide artists to experiments with interactive and
immersive installations, augmented and virtual reality
experiences, and other form of multimedia art.
Technology can also provide artists with new tools and
techniques for creating and manipulating images sounds
and other sensory inputs.

Many philosophers have provided a range of
interpretations of art created through artificial
intelligence, offering insights into the ethical,
epistemological and ontological implications of this new
art form. Some philosphers believe that artificial
intelligence cannot be truely creative, since it is
ultimately the product of a rather than human being.

Overall, technology has opened up new possibilities
for artists and allowed them to push the boundaries of
what is possible in the world of art.

5. Read the following passage and answer the
questions that follow : 4x5=20

Bombay was initially seven islands. As the
population grew, the islands were joined to create more
space and they gradually fused into one big city. Bombay
was the commercial capital of colonial India. As the
premier port on the western coast it was the centre of
international trade. By the end of the nineteenth century,
half the imports and exports of India passed through
Bombay. One important item of this trade was opium
that the East India Company exported to China. Indian
merchants and middlemen supplied and participated in
this trade and they helped integrate Bombay's economy
directly to Malwa, Rajasthan and Sind where opium was
grown. This led to the growth of an Indian capitalist
class. Bombay's capitalists came from diverse
communities such as Marwari, Konkani Muslim,
Gujarati Bania, Bohra, Jew and Armenian.

When the American Civil War started in 1861 cotton
from the American South stopped coming into the
international market. This led to an upsurge of demand
for Indian cotton, grown primarily in the Deccan. Once
again Indian merchants and middlemen found an
opportunity for earning huge profits. In 1869 the Suez
Canal was opened and this further strengthened
Bombay's links with the world economy. The Bombay
government and Indian merchants used this opportunity
to declare Bombay Urbs Prima in India, a Latin phrase
meaning the most important city of India.

From the mid-nineteenth century there was a need to
expand railways and shipping and develop the
administrative structure. Many new buildings were
constructed at this time. These buildings reflected the
culture and confidence of the rulers. The architectural
style was usually European. This importation of
European styles reflected the imperial vision in several
ways. First, it expressed the British desire to create a
familiar landscape in an alien country, and thus to feel at
home in the colony. Second, the British felt that
European styles would best symbolise their superiority,
authority and power. Third, they thought that buildings
that looked European would mark out the difference and
distance between the colonial masters and their Indian
subjects.

Initially, these buildings were at odds with the
traditional Indian buildings. Gradually, Indians too got
used to European architecture and made it their own. The
British in turn adapted some Indian styles to suit their
needs. One example is the bungalow which was used by
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government officers in Bombay and all over India. The
name bungalow was derived from bangla, a traditional
thatched Bengali hut. The colonial bungalow was set on
extensive grounds which ensured privacy and marked a
distance from the Indian world around. The traditional
pitched roof and surrounding veranda kept the bungalow
cool in the summer months. The compound had separate
quarters for a retinue of domestic servants. The
bungalows in the Civil Lines thus became a racially
exclusive enclave in which the ruling classes could live
self-sufficient lives without daily social contact with
Indians.

(a) How did Bombay develop into a commercial hub

in the nineteenth century?

(b) How did the demand for Indian cotton escalate?
(¢c) Why did European architecture dominate the

skyline of Bombay in the mid-nineteenth
century?
(d) How did the British adapt the Indian 'Bangla’ to

suit their needs?

(¢) How did the bungalow symbolise colonial
attitudes?
Ans.5:

(a) Bombay develop into a commercial hub in the
nineteenth century as half of the imports and exports
of India passed through Bombay. One important
item of this trade was opium that the East India
Company exported to China.

The demand for Indian cotton escalate when the
American Civil War started in 1861 cotton from the
American South stopped coming into the
international market.

European architecture dominate the skyline of
Bombay in the mid-nineteenth century because there
was a need to expand railways and shipping and
develop the administrative structure. European
architecture style would best symbolise their
superiority, authority and power.

(d) The British adopt the Indian 'bangla' to suit their
needs as the bungalow which was used by
government officers in Bombay and all over India.
The bungalow symbolise colonial attitudes as the
colonial bungalow was set on extensive grounds.
Which ensured privacy and market a distance from
the Indian world around. The bungalows in the Civil
Lines thus became a racially exclusively enclave.

6. (a) Rewrite the sentences as directed : 1x10=10

(i) Your behaviour greatly astonishes me. (Change

the voice)

(ii) He said, "Where will I be this time next year
year!" (Rewrite the sentence using indirect
speech)

As soon as she reached her home, the
messenger arrived. (Use ""Noe sooner ... than")
He walks in an awkward fashion, ?
(Add a suitable question tag)

My son always confides me. (Supply the
appropriate preposition)

He visits me rarely. (Change into a negative
sentence without changing the meaning)

He is no clever that he cannot be trusted. (Use
"too ... to")

Neither of the plans
(Choose the correct option)

(b)

(©)

(e)

(i)
(iv)

)
(vi)
(vii)

(viii) (suit/suits) him.

(ix)
(x)
6. (b)

Tanya is the most intelligent girl in her class.
(Use the comparative degree)
Deep snow (laid/lay) on the railway
track. (Choose the correct form of the verb).
Write one sentence each using the following
phrases to bring out their meaning clearly. Do
not change the form of the given phrases :
2x5=10

(i) held up

(ii) carry out

(iii) take after

(iv) look down upon

(v) givein
6. (c) Correct the following sentence without making
any unnecessary changes : 1x5=5
(i) Everyone, except the five boys, have reached
the destination.
(ii) Unless he does not return the library books, he
will not be relieved from service.
(iii) They have arrived from Chennai yesterday.
(iv) Your answer is replete from errors.
(v) The book is missing from my room from
yesterday.

Ans.
()
(ii)
(iii)
(iv)

6(a) :

I am greatly astonished by your behaviour.

He exclaimed where he would be that time the next

year.

No sooner had she reached her home than the

messanger arrived.

He walks in awkward fashion, doesn't he?

(v) My son always confides in me.

(vi) He doesn't visit me very often.

(vii) He is too clever to be trusted.

(viii) Neither of the plans suits him.

(ix) Tanya is more intelligent than any other girl in her

class.

(x)  Deep snow lay on the railway track.

Ans. 6(b) :

(i) held up - to delay something.

Example - The traffic jam held up my journey to the
stadium.

(i) Carry out - to complete or perform a task.

Example - The team was assigned to carry out the
project by tomorrow.

(iii) Take after - to resemble someone
Example - Children generally take after their parents
in their behaviour.

(iv) look down upon - to view someone as inferior.
Example - It is not right to look down upon people
who come from different background.

(v) give in - to accept defeat or to surrender.

Example - After a long argument, I have to give in
and have to compromise.

Ans. 6(c) :

(i) Everyone except the five boys, has reached the
destination.

(ii) Unless he returns the library books, he will not be
relieved from service.

(iii) They arrived from Chennai yesterday.

(iv) Your answer is replete with errors.

(v) The book has been missing from my room since
yesterday.
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UPSC =T |9TE JieTd o (WeTdeh shuige) e, 2022
UPSC CAPF (Assistant Commandant)
Paper-I : General Ability and Intelligence
AT Higd g YoH-U

Which one of the following is the difference of the
sum of cubes of first ten natural numbers and the
sum of squares of first ten natural numbers?

feafafea & € &E-91, Ugel €9 gHuul
TETeT & T o ANTHRA iR Ugelt g| eAgut
T3 o S o TNTReT oAt e §72
(a) 2400 (b) 2640
(c) 2880 (d) 2000
Ans. (b) : IHR,
SR i o B e - T e
{n(nJrl)}2

2
SR, gemsil & €& (n) = 10
_{Mzﬂ)} — (55)° = 3025
- UgCl 39 gAYl TSt & i o1 AThd
_ n(n+1)(2n+1)

6

_ 10x11x21 385

afa: iy 3 = 3025-385 = 2640
2.

A person buy an item from a shop for which
the shopkeeper offers a discount of 10% on the
marked price. The person pays using an e-
wallet which gives 10 % cash back. Which one
of the following is the value of effective
discount?

wE s fdt gwe @ g g wdear §
ek faT geMeER 3§ 3ifha Tear WX 10% st
YE A ¥ g€ AR IHHT A 3-atele *
ey | Rar €, TEE 10% St AeRer-aradt
(9T k) Toerdt &1 fafafaa & @ -,

gl ge (fewrrEe) @ u= 872
(a) 20% (b) 18%
(c) 19% (d) 21%
Ans. (c) : " J9E BE —[eryﬁ]%
100
. ST g9rEl B :[10+10—M]%
100
=20-1=19%

3. A solid spherical ball made of iron is melted
and two new balls are made whose diameters
are in the ratio of 1 : 2. The ratio of the volume

of the smaller new ball to the original balls is

e @ ot ferelt S| mieftar g i freereRt @
3 WS T el foees ST 1:2 % g o
21 BIEt 72 7T & AT 1 WA g o AT

¥ ITUT T 7?2
(@) 1:3 () 1:5
() 2:9 (d1:9
Ans. (d) : T 92 Tt &t B =R
1
ﬁﬁ@ﬁ@ﬁﬁWWWﬁ:RI:R2:E:1
T, &:ljszle
R, 2
‘) .
- T8 TiE & I = & BIE TaI H A
iTER3:iTER31 JrinRz
3 3 3
R*=R}+R} (. 2R, =R,)
R’=R;+8R} =9R]
R®=9R;]
B 7€ g BT 3T
Y A T I =
I T FT FAH
4
Ean R 1
:4 = 3 = — 1:9
4 RO
3
4. Suppose a bank gives an interest of 10% per

annum compounded annually for a fixed
deposit for a period of two years. What should
be the simple interest rate per annum if the
maturity amount after two years is to remain
the same?

T it ®IE o 9 9 @i eratr & feg
ferelt wrafer ST 3g wfaad 10% anfifes wrshgfs
TS AT ¢ Al A a6 K e uRuear qivr
A o Tt €, O wleed |@em s

=T BT wTfew?
(a) 10% (b) 10.5%
(©) 11% (d) 12%
Ans. (b) : - TG AN & HAEAH G ART (A)
i)
=14+ —
100
R = 10% (f&n @)
: A:P[1+1—0] :p[ﬂxﬂ]zn_lxp
100 10710/ 100
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TIEROT =TT & Aed ¥ T (A) =P +S.L.

121 121, p 2PXR 2PxR
100 100

121, ,[100x2R
100 N 100
121 = 100+2R

= 2710 5%
2

A runner's average speed reduces by 25%
every hour. If the runs 16 runs 16 km in the
first hour and he runs for 3 hours, then what is
his overall average speed?

fertft emarer st 3frEa =t wiw e 25% wW
Tt %1 Al I v WS W 16 km g § iR
9% 3 ©e drgar ¥, of Sl 9uy 3frad =t
T §?
(a) 12 km/hr (b) 12.33 km/hr
(c) 10.33 km/hr (d) 13 kn/hr
Ans. (b) : - uFH & T G HE 25% FA T I 2 A
a8 16km, #1 gf 3h 77 @ & @ T wEA
5 &I =1 = 16 km/h

TR = F A _167$:l2km
R 52 A = 1212 = 9km

4
ftea T :(16+12+9)/3:¥:12.33km/h

The boundary layer of the forest at which the
energy exchange occurs and some insulation is
returned directly to space is

I T 9% URHTT &1 &E-91 ¢, 58 W St

fafrmar @ar ® iR &9 AU EAevE) &

e efafer ¥ wiermaT & St §7?

(a) forest floor/aT%Id (EFTTR“ tIT*ﬁ'{)

(b) forest soil/a= FaT

(c) forest canopy/ad fdM (BT AT

(d) forest litter/a JUI-H&R (PR fetew)
Ans. (¢) : ST & THT T 9 W ST H1 3EH-TEH
B ? 3R 35 galau @9 fafer § aow o I 7, I
foam (FRe HArdh) Feerd g1 o4 faam @ oifw S
G % w0 F wReff e T 21w O, ImEi-Ae,
TR St wHuREr & el Sl B EE Yol B §,
S 6 &9 99 W wEe & & a1 S T8 2w S

8. The organisms that prefer high
concentration habitats refer to as

9 g =T wEAd &, S Svd daur |igdr

T | TEAT UHE o &7

(a) alkaliphiles/Tesheirthigel

(b) calcifuges/a\v"fc*\qqﬂﬁ

(c) halophiles/8a®Tget

(d) nitrophiles/AEEIHEA
Ans. (¢) : 3 519 S 3= A9 GigaT a1 3ME H @& q6S
B €, 3¢ SR FET I g1 T 3Hihar, SHEIRA 3R
ZHRAY F T ¥ W6 g1 9% el 3R g9 geR § R
ST 2| A S S T 3SR & |

salt

6. Trough and ridge are

At (Th) AR Few (R == &7

(a) elongated area of low pressure and of high
pressure respectively/shAeT: = @ i Qftfa

& 3R 3= 3 o e &
(b) elongated areas of low pressure
o= 3@ &% fefa &
(c) elongated areas of high pressure
I @ % i &
(d) elongated area of high pressure and of low
pressure respectively/shART: 3=d qd hl Sifefe

&7 3R e T@ 1 dfla &

Ans. (a) : SO (T%) 3R Hes (RS) w99 7= 5@ &
diftfa & oK 3=9 T % it & g1 Sl ik wew
T & % 0T & R W 3% 9 W 3@ S el £
2ot HH qaE e @ § UR 99 R, S Hed I
O ard &l # o 9 €1 ol 39 dimfas e &
FEq ¢ W61 Wl T Eed at & ae A, q8d R
el ¥ T8 Th & T W U 8 Sl 2| hesh, TE
AT B et 8, o el ot A Rl e
TAPaH TR B TH IWT gI X AW W FB @
A AR et 2|

TehelhIgl, 9 3=d &dd pH &I ¥ed & Ghd &1
Y 99 €, S %9 pH (3=lT Tel) W Ed 8

TEEIEET, T Y 8, S Aede ¥ wys g § wd §)
9. Which one of the following is not an operating

system?

frafafga & ¥ RF-91 JomaT dF (ST

ez & 82

(a) MS-Windows/UH. TH. fdei

(b) Linux/ferer

(c) Ubuntu/38g

(d) MS-Excel/TH. TE.-Ta0d
Ans. (d) : @ T fOFcd ¥ WUH.UHEA YEOE oF
(AR few) 7 &1 @ wATE e, fome qon
e Fem ok Sfen foew & weem @, T
mwwésﬁﬁm@ﬁ%%waﬁ
freifid o 31 T8 SIEaeR e Wi % f9 g &
FE BT § SN B GREAR F T Uh ol 2|
mmﬁﬁwﬁwﬁﬁmaﬁ%
10.

Which one of the following protocols is not an
application layer of the TCP/IP model?
frfafaa weememt

TR (Wethien) § | &=-91
At /g, o, uiget s JTEEnT T T &2
(a) FTP/u®. &1, (b) HTTP/T=. 21,8141
(c) DNS/E1.uA.1H. (d) 1P/3TE. 4.
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Ans. (d) : & T3 faswedl # o H., TR (M)
¥ oo WA 8, wes whAd (FTP),
(@ﬁﬁlﬁ) (HTTP) @ SL.TA.TH. (DNS) RENIEI
(Sheiehten) # % W 21 TCP/IP Wied OSI %
fqda et &9 ¥ wrffad ded g 3R et |
THSl ITAN fHar ST g1 TCP/IP ®MWaor feEmn
Yieihicl AR g Tieishiel sl Geffd &l 81 TCP/IP
Hed & gl (difees 3R 221 fof T i Be-T-Aead
e & gyfed & 2|

11.

Which one of the following is a semi-conductor
device that is used to increase the power of the
incoming signals by preserving the shape of the
original signal?
T { a8 HIA-TT Agelleren fSaEd

&, Ry oo W @ ek (@) @@
AT @A Y HATMH Fehal (FAHRET T
it 9IfYh Se & forg fepar irar 872
(a) Register/TR™TE (b) Transistor/ZifSRET
(c) Flip-flop/fRT9-wafd (d) Diode/STE
Ans. (b) : TR T reoe fearyg () @ e
YT fagd gkl SR Wi & 9gq a1 fEe g7ad %
fow fhar Smar 21 gHeE ST gol e (Gdh) &

STHR FH1 TRFT FTh 3T ATt aa\aa# F vtk I g2H
ﬁiq fopar ST 81 TR U JehR S STgarels SUHT
2| e 3w ford o @ dieew @ Heifem R
TR H F IC fHar S HebaT 81 U iR qa &9
ﬁ@ﬁaaaﬁiwmvﬁw%wﬁmm?
12.

Which of the following combinations correctly
represents the genetic materials in prokaryotes
and eukaryotes respectively?

frafaflas & @ @F-w @dOw= wE9n
WhfEe iR gafEe § ogdles s @t
adt fwufer s 82
(a) Nucleoid and Chromatin

JfrAsiigs 3R shfeT
(b) Chromatin and Nucleoid

IR frasizes

(¢) Nucleoid and Nucleolus

JfrAsiizs 3R frasiod
(d) Nucleolus and Chromatin

frersiiag 3 e

Ans. (a) : IfFASETS 3N AR HISH HA: THRAE
R IHRAR | @RS 5= H 9 fef| w2l
THRAH 3N FHRAT F1 FEie 1@ T, 7
ThRAey # qid: WE F5s T8 o &1 350 FIH &
FR IfFAszs (FEW) T &1 IPRALH H A
5 B0 &1 THHT s A F1 IR Fa

13. Lysosomes are sacs of the cell filled with

digestive enzymes. These digestive enzymes are
synthesized by

I (CSAIG) UTeleh USey | 9 it
& dferat €1 37 ureres uwmEat @ fefafad § &
ferten g1 Hyaifte fema imar &2

(a) Golgi bodies/Test &
(b) smooth endoplasmic reticulum
(c) rough endoplasmic reticulum

Tey Sfase et
(d) lysosome itself/&TE TITH

Ans. (¢) : W(Hﬁ%ﬁ%ﬁﬂ)mwﬁﬂﬁ
aﬁﬁmeﬁfﬁm%lsﬂwq@nﬁ T & aged
STt g WS e S &1 IHRaey § fredh @
R 3T Bid 1 Siasel e § deft @il 81 U8
gl e e faedl sragell e d1 e
STac e GIGU BT ¢ N 3! Tag W gEEn
T 2| T FSF B I T F¥ay I 2

14. Which of the following best represents the cells
of a meristem of palnt?

frefaflas & @ -1, TR & faasas

@Rew) =t Rt & waaT ® A

frefue st 77

(a) Dense cytoplasm, thin cell wall, large nuclei
and absence of vacuoles/¥® 5,
Tl HIH-R, Jeg Fsh AR Wt
SEIE]

(b) Dense cytoplasm, thin cell wall, large nuclei
and large vacuoles/&& g, gde
HITTH-F, Teg Fxeh N geg wenfrar

(c) Dense cytoplasm, thin cell wall, small nuclei
and absence of vacuoles/H¥d S,

m@ﬁmﬁqﬁf T Hsh SR eI H

(d) Dense cytoplasm, thick cell wall, small nuclei
and large vacuoles/S® A,

FferRr-fafe, o H5e 3R gas T
Ans. (a) : 999 HIVEH 5=, Tl SR, Iag
Wﬁwwﬁmww%ﬁﬂ%
(A=) # Ffveet # gt 9 I Fefd w5 2

15.

Which one of the following animals has a four-
chambered heart?

frafafaa wital & & e o ®e-g
&S B &7

(a) King cobra/ANS (fSHT hle)

(b) Turtle/BH (22

(¢) Chameleon/fiRATE (FHHfifersiiT)

(d) Crocodile/ATHTS (FhIHISE)

Ans. (d) : 3 T faged § A= ¥ AR Fel-
BT 81 ged & 3T il (3nfeie e fer) # fawi

T 8, S SRR I o SRl WA w6 @l
ﬁﬁﬁmmélmﬁ@wwmﬁ

?ﬁ‘sﬁ&r
o
ﬁfﬁﬁ

T T B &1 U & 2ed § o 59 o 2

16. One way of incorporating desired characters
into crop varieties is hybridization. In this
process, there is crossing between genetically
dissimilar plants. Which one of the following

crossings will not refer to hybridization?

UPSC CAPF (Assistant Commandant) Exam-2022 7

YCT



wEA & el o Fifea Uil @ wutay wE
T It ST (FERESESvE) 1 39 uiwan
", SIETeh ®U ¥ A YUl o e HehiuT
(SR SR ST &1 Ffafae o @ -t
SRR (Hertur) ot Sroft & =Y et 272
(a) Intervarietal/3TaXIferen
(b) Interspecific/aTSTd"
(c) Intergenic/3TaRrsti=t
(d) Intragenic/3TiaTsiT
Ans. (2) : BEA h hE H aifed O B GHETGE HE &
s fafyr der (FRfreEsem) 81 39 s § srafve
®q Y GHH YUl b HEF GehLOT (SHITHT) SHram ST 2|
STRRET T ST &1 207 § AR S &1 HHT U
e s 8, e aifod o e @E ww 8§
TetoT 8, A Q8 & e T I A 81 i
TR T & TSI ) AR i o 9 e 8|
17.

Depending on the requirements, plant nutrients
are classified as micronutrients and
Macronutrients. Which one of the following is

an example of a macronutrient?
SMAYTHRATAT h JJET, UIEU U qedi i
TeH UHeh A 3R gEg WUk a o @O H
Fiffepa femam STt ®1 frafafaa & | wq-r,
Teh T&Q_ UI¥eh el ShT SETEUT &7
(a) Manganese/ﬁ"'l‘ﬁﬁ (b) Copper/dE (HIY)
(©) Magnesium/ﬁ@ﬁﬂl‘l (d) Chlorine/F=
Ans. () : BHIRTH Jeg W9 dd & TH I 2|
it @t gy T o % g dives o SEvEs B 2
HR 3¢ Jo3 TS dF R FPH UNH ad & &9 H
Fiffep fRaT ST 21 9 9N acd S AT % &9 § g
10 focht /a7 9 oiftes 1 sravashar el 81 AiiEm
A (M) & &7 § oEwifd a1 a8 Farifed
Fufeh ST SebTeT o HECryur # qfthr foremar 21
18.

Buds produced in the notches along the leaf

margin of Bryophyllum fall on soil and develop

into new plants. This is an example of which

one of the following types of reproductlon"
qui-3Uid WX @ieh ° Ss gHe

(%) a1 W A § 3k 7 urew Rt o

{1 wg frafafea § 9 ff9 7R & S99 @&

Teh IqTEAT &7

(a) Vegetative propagation/&ish BCLE]

(b) Budding/qJ&peq

(c) Spore formation/atso] fmfor

(d) Regeneration/JT%ga-

Ans. (a) : FEAMGEEAT & JUi-397d W G § 39T qFA

(@) ga1 W fiRd & 3R 79 ey fiyd € €, 7

FIfeh T T B T ST 8| FASH TG€H, FoT B

il AT 81 39 FAd UH S @ A @ i

Y F AT § S A O S S § 1 F 3R s,

3 oqEy S % 81 78 T U F 9 o B

Phloem tissues are mostly responsible for
transport of

WATE (FATTH) Sk eTa: fehaeh uitas &
T STRETER 77
(a) water/SdT (b) oxygen/3irdsH
(c) minerals/@fst (d) food/@m@
5. (d) : TR (FATH) Ik GEAd: @ URaed &
IaerEt @1 i # Hegl e U S & | S Sgem
TATH B & | FATH I GEAT: Ao b IReaed &
T BT 81 U FE SE-AauEs 3R a5
FTh TS YATUT HI ST FR e H fmior
1 dE ST GISE Ghe 6 ®9 # 99 §)1 SR
Jen & forw @ # uRafda & s 21
Two objects, x and y, have equal mass and are

moving with speeds u and 3u respectively.
Their kinetic energies k, and ky are related as

EUCIS e aﬁywmm%maﬁ
THUIT: u T 3u Gl oA ¥ Thew= F1 ST
TS et k, 3 k, TR wehw Heifia €2
(a) ke =k, (b) 2k, =k,
(c) 9k, =Kk, (d) 3k, =k,
Ans. (c):ﬁ'alTé-mlz m;=m
Vi=uV,=3u

>

n

139%7

%

[°]

2
mu

Ku:l
2

Ky = %m(Su)2

1 2
Ky = > mx9u
.
Ky =9x Emu
it (i) T-
I Ky =9 Kx
21. Which one of the following is not the unit of
pressure?
¥ | SF-9T, TG AR (IHE)
& 8?
(a) pascal (Pa)/di%hdl (Pa) (b) N/m’
(c) J/m’ (d) bar/aR

Ans. (c) : i@ T fogedi § Jm® @ F AES (FHR)
& 2, Sef% ufemed (Pa)/ N/m® d91 aR @& & fafw
a8l aE e F TAE H A IHE AP R
T T e d 21 Uhel a1 =e/H. q@ ST
THE &1 T Pl HE AIHSHT I b T § AR F §9
¥ o7k foRar ST el &

22.

Which one of the following materials cannot be
used to make a convex lens?

frefafeaa & & fFd wared &1 wa 39 o
T & ot T feram ST Hehar?

(a) Aluminium/ﬁ?iﬁlﬁ?m

(b) Glass/®=

(c) Sapphire/HTe™ (THRR)

(d) Water/STdd
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Ans. (a) fe 3 feent

fomedt & & Tegffam &1 I 3ad
o TN & U 98 Re ST 9edT B, % 9@ T
SRRl o @, S Fie, Jfom au S F ORI 9

mﬁﬁ%mmw%éqqmwmﬁqmﬁé
fSreent SUFI ehrer fRtuil I Srvefdd & SR sfaEl @i
T % oI fomar S 21

23.

at

The optical phenomenon responsible for the
blue colour of sky is

AT & At 1 & fau wme-d yesia
TfereT STReTE 872
(a) dispersion/qﬁ?ﬁqm
(c) refraction/3T9a

(b) reflection/9ad=
(d) scattermg/m'ﬂ'h

s,

Wﬁmmﬁfﬁiﬁmé i 7
TN % & F IE0 HET S| AL BT & 6 g
e SR R w A
24.

The electrical device used for converting
mechanical energy into electrical energy is
called is

Firk Sett @ Agd el B ufafdd & &

foTT weirT fow WY ATt g @ (ReamgE) @ ||k -

T e &7

(a) Voltmeter/arceHet

(b) Ammeter/THET

(¢) Motor/HIeX

(d) Generator/Sif+=a (@:ﬁ?{)
Ans. (d) : THF ST F FGT Foit # GRART B H oIg
ST R W A e W A SRR (SR FE f
39 I 78 W widehe e % fagd e SR &
gl s ST e 21
25.

The magnitude of focal length of a concave lens
is 2m. What is the power of the lens?

foreft oTaer o=@ it wied T w1 wRETT 2

e &1 =9 T LTHAT T A7

(a) +0.5 dioptre/+ 0.5 Epiicay

(b) —0.5 dioptre/—0.5 SHTET

(¢) +2.0 dioptre/+2.0 ST

(d) —1.0 dioptre/—1.0 STATEX
Ans. (b) : FF s/Eda o @ wied g H gRAmT 2
Wt & o g H oama P:%:%:—O.Sgﬁﬁ"?}
grft wieg 3 F SR F 9 F AR F w7 F JA

ST R A AW I owh RO A g A wRe
Tt 21

26.

At the time of short circuit, the current in an
electric circuit

Y 9L % 2 ferre ufuey # e
(a) becomes zero/I[ g S @
(b) remains same/THM Tl &

(c) increases sharply/ﬁeﬁ@a—sfﬁﬁﬁé

(d) decreases sharply/ﬁ@‘ﬂ?ﬁﬁ’[%
Ans. (¢) : T T % IR T IR9T | O oS0 ¥ 9%
ST 81 U AR % AN § vaied faedun #f 39 ar &
e ¥ UG 3R 99 o 9 YO &k &9 H S
S 21 form oW @ SI A TR 71 fagpen &
ferem SHe qh SelaEl % FATE  faoa g 2
27.

If the linear momentum of a moving object
changes buy two times, then its kinetic energy
will change by a factor of

Tfe feret Tfem a%g o1 WRaew FaT & T
Tfafda & I, @ SHet Tfaw el fehaa

TR W FEEI?
(a) 2 (b) 4
(c) 6 (d) 8
Ans. (b) : RIS et o1 Ho H iy K2
m
S T (P) § A1 I I AT Froll
1:21)—2 (i)
m
& G (2P) B Al awg TS Sl
2—4—1)2 (i)
2m
Tl (i) § Wy g 5 aug A e S AR e
STt @ IR T & ST

28.  Which one of the following oxides reacts with

both acid and base?

frafafaa & @ @E-91 MfaEs, ot iR

&Teh ST o |1 TR ahiar 7

(a) Aluminium oxidefq?:[&fﬁm'q s

(b) Calcium oxide/h{e3raH S

(¢) Sodium oxide/Tifeam 3HiFaEE

(d) Potassium oxide/TREw atfeaEs
Ans. (a) : & T fawedl § 9 wogHifEm sifass, ov
3R &R 3T % G AFHAT Hh AU SN A S
21 s afferarge off wsh Swaedl sffEe ? S oA 3
&7 &1 % Q1Y 3IfAfhaT shieh oauT A ST ST §
29.  Which of the following makes bread soft and

spongy when baking soda is added?
I @ T |ieT e S §, 9 freafeiad

T o forash T 9 T iR goraw aer wistt

AT &2

(a) Sodium salt of acid/3T=t 1 HIfETT 0T

(b) NaHCO,

(c) CO,

(d) H,0
Ans. (¢) : & @M & HieT FA@ ST 2l e
TRATHEE (CO,) % HRUT 5 TRA N Ty o Toft
A 2| B FET SEIHEEE NG A H HH I 8 AR
TR Frenet STt @ 798 e AW SR S o 21
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30. the average age of father and elder son is 35

years, the average age of father any younger
son is 32 years and the average age of the two
sons is 17 years. What is the average age of the
father and his two sons?

e ofiw &2 9% Wi 3o oy 35 a ¥, fow
3T B ¢ @t frEa g 32 T ¥ e Al
et T fr|a 3w 17 9 #) far o 3R et
el i a3y = Brft?
(a) 30 years/30 a8 (b) 27 years/27 a8
(c) 28 years/28 CLi (d) 29 years/29 CLi
Ans.(c):qﬂTﬁﬁTH?[EWI?E:x
a@aéaﬁx?vﬂ'ﬂ:y
?)ﬁ%a@?ﬁﬂ'{[:z
TR,
Xty _
=
x+y=70
X+z

35

()
=32

an

X+z=64

ytz _
=

Ay+tz=34

. (i) T (i) -

x+y=70

xt+x=064

y—z=6

. (iii) T (iv) T -

y+Z:34

y—-z =6

2y = 40

qP y =20

y & 79 g4 (1) § WH W,

X +20=70

x=70-203 x=50

3 y H AF T (jii) § WA ®

20+z=34

I z=34-20=14

aq z=14

o I (x) T2 I (y) T BR I (2) FI 39d 3G

:X+Y+Z:50+20+14*ﬁ:285ﬂ§

..(i)
17

... (i)

- (iv)

3 3 3

A number is 124 more than its one-third. What
is that number?

IS HEAT U Teh-Torate ¥ 124 1k ¥ 98

31.

e = &2
(a) 194 (b) 180
(c) 189 (d) 186

Ans. (d) : 9FT §&T =x
X=2+4124
3
x—= =124
3
2 =124
3
26
3
x =186
32. A car travels 3/4th of the distance at a speed of

60 km/hr and the remaining 1/4th of the
distance at a speed of v km/hr. If the average
speed for the full journey is 50 km/hr, then the
value of v is

wE &R 3/4 ff T 60 km/hr & T | SR
st 1/4 of T v km/hr Y T @ 790 Tt R

Tfe gff A i SfEd T 50 km/hr §, T v @

T = 8?7
(a) 40 (b) 30
(c) 100/3 (d) 35
Ans. () : AHI, SR 5N 79 FHT gl = 4 (e
i )
301 4
- —_—=—
60 v 50
12 1 85 3
v 25 20 100 100
V:%km/h

33.  Suppose A and B can complete a work together

in 10 days. If B alone can complete the work in
15 days, then in how many days can A alone
finish the work?

o i A iR B firerent ferddt =t =t 10
fet & g o weRa €)1 Tfe B ot 5@ & Y
15 f&T & g0 oY WeRell §, AT A 3Tohet 39 w1
=1 fera femt o g1 T HehaT &7

(a) 20 days/20 f&q (b) 24 days/24 fa

(c) 25 days/25 f&q (d) 30 days/30 fa=

Ans.(d):(A+B)§W1f§¢f$[EFr€f:% (1)
Bmlﬁﬂaﬁfaﬂ?ﬁf:%
. (1) 8-
A+B=—
10

Attt Amifrwed oL oL o1

15 1 10 15 30
A S FE TG HH § o g99 = 30 fo

34. If the average of the first four of five numbers
in decreasing order is 25 and the average of the
last four numbers is 20, then what is the
difference between the first and the last

number?
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Tfe FrEw wH | uie et § ¥ uget 9w
HeeTeTt w1 e 25 § 3R 3ifam = W
T 3 20 &, 7 Ut 3T ffaw e & e

T 3T AT 27
(@ 5 (b) 10
(c) 15 (d) 20

Ans. (d) : T8l IR AT H AET = 25%4 = 100
ifqw IR gestt & 3T = 20x4 = 80

39. Calcium oxide reacts with water to produce

slaked lime. It is an example of

hHICIET ATHFATZS T o AT FATHAT T
THAT TAT (FAFS TEH) SqS il ¢l T8 Ferdent
ST §7

(a) combination reaction/SaeTT SIufsHaT

(b) decomposition reaction/3Tqsre 31f¥feha

(c) oxidation reaction/aTerTehtur 3Tf¥AfoRa

37 3HE 3R = 100-80 =20 (d) addition reaction/anTsT SARfgRT
35. Borax is prepared from Ans. (a) : T TS T F TNY UK FTJg
erm YR e ST €2 AT (Wi A1ZH) I H 2| Fe YA AR H

(a) calcium carbonate/HeTaH HEHE

(b) magnesium carbonate/ST =M HEite
(c) potassium carbonate/TI2 =M e
(d) sodium carbonate/HfETH FETE

Ans. (d) : T (INF) AW FEMHe ¥ TAR fFar S
%ﬁi@mﬁamﬁﬁm(w)%mﬁw,ﬁaﬂ,
fici 3R TIH TF IR %@gs‘sﬁ@rﬁw
w%aﬁwss%aﬁwg fEohe S &
URSHT ®Y 7 3 3T ¢ Tfgar o £
36. Cinnabar is an ore of

Tereent 3Tarr &7

(a) mercury/9r1 (HE%{D[) (b) zinc/ST&ETT (féi"cﬁ)

(¢) copper/d (HR)  (d) lead/TrET (TE)
Ans. (a) : Wﬁwmmméw
TEES WA HgS (T WewEE) AR BT
SN A AT TT % HROT Sl IR T H S
% ®9 § fHa S 2
37.

White gold is an alloy of
T @l (grge Mes) feraant frsreng 272
a) gold, nickel and palladium
@ %Hm‘, fahat 3 g—v‘r@ﬁm
(b) gold, cobalt and palladium
, [ ﬁﬁ%m
(c) gold, titanium and platinum

)

(d) gold, magnesium and palladium

)

Ans. (a) : 97 @0l (FES Ties) @i, Feher 3 Tofeam &
forgreg @1 forr e, a‘rma‘r%aﬁmm@ﬁmﬁwsﬁm%
o7 @O § AT 60% 0T 3 T 25% R 3R
15% &l 8 8| Soifead 4q wof gesh 9 &1 Bl 2

38.

Hydrogenation of alkenes can be carried out in
the presence of

et &1 FEgreieRtur foraant sufterfa o

feram <1 |ehar 872

(a) copper/d¥ (HAW)  (b) zinc/STE (Sish)

(©) aluminium/‘i?\'[&fﬁm-'l (d) nickel/feher
Ans. (d) : ng@ﬁwﬁ%ﬁm@ﬁﬁ
fopam ST Heha 81 STEgE eEeiHET S % Yo, et
3 I3 A IURYR F SIS SR YW AESTEE
TR 1 T o SR FE R

ISR & | HAH 3Tfhar a8 fufhar gt €, sef @
q ¥ e a1 AT e T W A0 a9 8l
Hfegem EES S % WY GAR gl hfewEm
EESIFEE 1T 8| T8 Ueh FoAaidt Affshar off gt 21
40.

The atomic radius of hydrogen atom is
FIZSIS= URATY] skt uRaryy e feRaht 872

(a) 37 nanometer/37 EEI iRt

(b) 37 picometer/37 fushdex

(¢) 17 picometer/17 faepriicy

(d) 57 picometer/57 fushiex

Ans. (b) HESIEE Bl fisar 37 fUsiex B
Wr;%w BlEED %Ta@ e G TS

78 B1 gESiE WA # wEm] B 0.037
e 21

41.

There is a group of 5 people among which there
is one couple. In how many ways can these 5
people be seated in a row having 5 chairs if the
couple is to be seated next to each other?

5 @M T Tk e @, e e dufa (ufa-
Ut e ¥ afe ufe-ueht B UE-gE &
STA-TATA SASTAT ST &, af 37 5 AN @l 5
At arelt Tk ufts foha alienl & SomEr =T
TRl §7?
(a) 24 (b) 48
(c) 60 (d) 120
Ans. (b) : J%9 % 319R dufy gH9N I WA THIC
TR & ZHE AT SR EH = 4 TSt Al 4 &
Safterd S 2 3R <R eay # 21 % ®9 H S
fefe EM-TE i 2
5 @ntt # 5 PR o T U § dem F ale =
=[4x|2 =4x3x2x2 =48
42.

Two friends 10 km apart start running towards
each other at speeds of 10 km/hr and 14 km/hr
respectively. After how much time will they
meet each other?

TH-g@ ¥ 10 km T HiNE & oy weh-gak ot
3T SRAYT: 10 km/hr 3R 14 km/hr & T &
T A w21 foha 99T & oE I Teh-
T | farei?

(a) 20 minutes/20 9 (b) 25 Minutes/25 A<

(c) 28 minutes/28 9 (d) 30 minutes/30 e
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Ans. (b) : IHR,
arefte, frer o1 9
10 _10_5h_ 5 ) 60 minute = 25 firfe
10+l4 24 12 12
43. A coin is tossed 3 times. The probability of

getting exactly 2 heads is
Teh TerRT 3 9 IBTAT WIT 81 Sk 2 Fora @9)

T hi TFIeRaT oI 87
(a) 1/3 (b) 3/8
(c) 172 (d) 5/8
Ans. (b) : T% fFh I 3 IR IV | T4 FaI gRomH
= (HHH, TTT, HHT, HTH, TTH, THT, HTT, THH}

2 T T F FA MAHA _ e o _ 3
Fod 9o 8
44. A test consists of 25 MCQs. Each correct

answer gives +4 marks and incorrect answer
gives —1 mark. If a candidate scores 74 marks,
then how many questions were left
unattempted?

feret uftam o 25 wgfaeredt woa €1 v A
I o AT + 4 37k & 7 T IO & T —
1 3tk 21 afe sremeff 74 3tk wie waam €, A

I feRa woAt o 3R e faw?
(a) 4 (b) 3
() 5 (d) 9

Ans. (a) : 1 T & F&1 = 25

H%%rs:r:mm:

IRAER,

xx4-(25-x)=74

5x=99

x=19.8

T F T F A A A Qi H o W
T L TR o IR N HE@ = 19

AT IR i FE& = 2

T S HE g W T & T = 25-(19+2)
=15-21=4

45. A person has a total of 100 coins consisting of ¥
2 and ¥ 5 coins. If the total value of the coins is
¥ 320, then the number of ¥ 2 coins is

foredft sifve S UM T 2 3R T 5 & HA 100
faar € afe faaml T Fa e T 320 %, W R

(25-x)

2 & Taerent oY HeAT farat &7
(a) 40 (b) 50
(c) 60 (d) 70

Ans. (c) : U1 2 ®YF i gl G&M x TE 5 €@ F
fss & @& (100-x) 21

TYAHER,

22+5(100—x) = 320

500-320 = 3x

3x =180

x =60

- 2 ®9 % ol # §E= = 60

46. The technology known as 'Electromagnetic Air

System' is sometimes talked about in reference to
wefi-weft FR@-dawta a1y e yurett
EAaRIiAfes TR fooe firew)’ & A @ 7
Hrenfirent st et ferten dewt ® o W R
(a) launching guided missiles from silos/S¥MH-
el (drge) ¥ FRERm framedt & gwEe
(b) launching aircraft from warships/ﬂ@“ﬁ?ﬁ g
A 1 IS T (Aife)
(c) navigation of nuclear-powered submarines/
A wfthefem weferl 1 Aeare
(d) development of reusable rocketstH:‘»'l'&ﬁW
kel a1 for
Ans. (b) : JEIMA § TAE H ITH T Fega-gEaa
I IR T (S R e faww) &
A Y S SR R de JuTel SR AT % fg w
fersty SR St argEE wegur yomeh @ 7 fafy oRufe
W fred ok difeR " & a9 HREw R
A HI AT B % T ST H A 2
47.

Consider the following statements:
frefafaa wat w faem s
1. Aluminium powder is used as a solid fuel for
rocket engines./Uhe 51 & T 39 o9 &
&9 § T Tof @1 s e S 2l

2. Compared to liquid fuel propelled rocket
engines the thrust per amount of fuel burned
is higher in solid fuel propelled rocket
engines./&8 389 Afed Yehe o1 1 ol H,
3 FoA Afed Yohe 91 H o & iy AE
%@ ¥ I JUIE A B B

Which of the statements %iven above is/are

correct? AT H HE-9T/RE T

e §/87

(a) Only 1/3ad 1

(b) Only 2/&ad 2

(¢) Both 1 and 2/1 3R 2 &t

(d) Neither 1 nor 2/7 @ 1 3 T & 2
Ans. (a) : Uhe ToAl & fIU o9 o9 & &9
Q@tﬁﬁmqﬂwwmwél Teet Tt ket #
et 7 foredl 7 & 31 o1 WSS YUlesh A1 STANT e
ST o1 FA9E § Tohe § HESE S9 o 81 s
TEIT: 69 % &9 § e sEeed e 8|
48.

-tli-ti/.

Consider the following missiles.

frefafiaa firamge w faem st

1. Agni-I/31R3-1

2. BrahMos/S@nd

3. Dhanush/&3w

Iudw B ¥ RE-U/&E- e e/
firget 2/87

(a) 1and 2/1 3 2
(c) 1and3/1 3 3

(b) 2 only/&Haa 2
(d) 3 only/%alﬂ 3
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Ans. (b) : T EEA F fOEA 81 S 9NG-§F H

T 3am ¢ e A e 290 L 2

o 31 W & wem gh ) Sfeifes frea @
S g ¥ ¥ag W 700-800 Sl G5 AR &ywar Fgur
T B

o YUY UAE ¥ HAE W AR H de dfcfes framd
21 ST AN &FdT 350 fH. 2

With reference to India's defence, consider the
following helicopters:

W st GReT & Heod #, frafafae dferentest

R T st

1. Cheetah/=ftar

2. Chetak/=Ideh

3. Rudra/®x

SuIE W ¥ ferad/fordl 23 T4, e faen

IR arg-Q-arg frremge &/87

(a) 1and2/1 3R 2 (b) 2 only/3ed 2

(¢) 1and3/1 3 3 (d) 3 only/ad 3
Ans. (d) : %5 AP & TG L T, The ey 3R
ag ¥ arg freed §) % @ e ey fafies
(TEUUe) g iy fpar e 2
o i1 feTrer 1 fegeH WHiea fafies (Tauua)
ER il & |y et S 81
o TF BfeTie & fHT 1962 F fegwm waRHead
faftes 3 w9 & 9y fers fean o
50.

49.

Recently, India gave a coastal radar system to
which one of the following countries?

T € H, aRa 3 frefaiaa o @ feea 39 @y

T TSR yuTTet &?

(a) Bangladesh/STTemasT

(b) Maldives/ATada

(¢) Sri Lanka/sfcieht

(d) United Arab Emirates/H§gth & SFHNIT
Ans. (b) : 27 A, 2022 % 9RA = AT & d 18R
et €1 d@E feE TeR oy Bt AE, meel
UHEH % el H TEAH HOTHA 8, 99 & gUR #
forell oft aray fafeferl & FreREl w5 gt @1
51.

Which one of the following artworks was hailed
by Sister Nivedita as the 'first masterpiece of
Indian art'?

Tz frrafear 3 fafafaa o & fore wemenfa

W YT | ARATS HAT P Uge(t HEH Hid F

®U T Hl?

(a) Bharatmata by Abhanindranath Togora
ST ST el TAHT

(b) Arjuna and Subhadra by Raja Ravi Virma
T A a9t H o SR g

(c) Sita in Captivity in Lanka by Abanindranath
Tagore/3TaisAY 3R FF ol # Ha
(e g7 Hiefadt 7 )

(d) Sati by Nandalal Bose/7&eel g i Tt

Ans. (a) : Rz fafear 3 swfas 919 SR Fa IRAAME
FHAPNT B T “IRAT FHeAl H gl TgH Ffa F FY
# F 2 o ek S qa 9m arie sy
T oA TZ TH AA-TERT IS Freihdl, oE,

e wa Tt faaem @t R o

52.  'Operation Sankalp' was initiated and
implemented by the
ferEeh I ' SATORY Hehew' TRW 31T hrif-ad
Terar Tam?

(a) Indian Air Force/STRdd EIT{[@W

(b) Indian Army/9REE T

(¢) Indian Navy/9Rd= Eie

(d) Ministry of Home Affairs/Tg P
Ans.(c):ﬂmﬁ@mﬁ@@ﬁﬂﬁmwm
& HeAsK, S 2019 ¥ 37 @ @t § =l ' W
TAA % SR SIS TASHEnEd § oA a1l AR Srersii
& fou g #rf @ g &6 § /W 9 19 4,
2019 I TE &7 § 9 g dEed sfEe s
‘STRYE Hehed' YE fHAT o)
53.

Which one of the following statements is not
true with regard to tribal welfare?

TS oAUl o HaY H, freteiad § |
-1 e T T 272

(a) The Comprehensive Tribal
Programme aims at land development
activities, improvement of roof houses,
infrastructure development and so on./aT4Uh
Semde fom FRER @ kvd g fawm
foharhely, BU-Ih B (B BRH) & UR
3 SHRYA ST 7 fahr 3t 2

As per the Scheduled Tribes and Other
Traditional forest Dwellers Act, villages in
forests are provided with community

rights. /3T S 3R 377 WA A9
frardt sifafoem & oFER, & # feuq w6l &
R TR faT s &

The Special Area development Programme
aims at distribution of forest area produces to

the tribals equitably.fﬁl’kﬁ'ﬁf g7 T FrEwd
H ILYT I &F IAEI H SESIE H gHH
w7 U 0T 4T 7

The Special Central Assistance to Tribal
Subplan provides dairy cows to tribal groups
living below the poverty line./SHeldE 34-
e & forw fovm &= weEar & sfwia
e | ¥ AR © A S 96 6
fore 2ol T wew & S E

Ans. (c) : o9 &5 forhra iAo 32YF a9 &7 3l
&1 SIS § GH &9 faaeer s 98 21 o qeft
foehe Wt 21

Development

(b)

(©)

(d)
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54. Which one of the following statements is not

correct?

frafefan & ¥ SF-T1 waT w@d = §?

(a) The 'Swarna Jayanti Shahari Rozgar Yojana'
is an urban self-employment programme.

‘Tl St TRl TSR AT U vl @-
SR HEHT 2|

Dgrought-Prone Area Programme and Desert
Development Programme were launched in

1970s./5@1 Heifad A
foehTe HEHA 1970 % <9 § IR T 7 9

The 'Sampoorna Grameen Rozgar Yojana'
was launched after restructuring the
'Integrated Rural Development Programme in

2001./ThiHd &l
WEHEA FH & g Fyof gnfor IR
FSAT 2001 H R FH T A

The 'Swarna Jayanti Gram Swarozgar Yojana'
is a rural self-employment programme./‘

S I E-USR ST T A0 E-USTR
HET 8
Ans. (c) : 25 faamR, 2001 % qol FEfoT TSR AT
F YIRS’ a9 gufg deen &
e H AR e e m
o 1 fXEmR, 1997 % wuf St vl ISR AT &
o e g A e W § A" ®d A TRd
R g e g WRISTIN SUHH S SO
Aedifed H 21
o U@ TUfAd &7 FEHT IR wed fawm wEwn
1970 & 23 # I 5 19 9
o 1 3, 1999 & WUl SEN IH WUSTIR ISl
aredior ey dErerd g ar wlE &% fow 2, I'

(b)

(c)

(d)

(¢) Kharoshthi/TR&t

(d) Greek-AramaicEﬁEE-a?TITﬂ%EE
Ans. (d) : JHTEEE ¥ 3W0F & Rremordl 1 e
e fafy # fomr w21 Sefe 3 e
i sl fafy & s 8 21 1837 €. H weehl am
S 9T g o7 & S Sl Ued § Thordl g
N TE| AL B 1397 Rieleig FaY o g1 5 39S
F S a5 & 9l 31 Scae @ & orais OriEw &
IY HEN WEE o1 R S gew @ Al 9 ugaH &
fore T, freTerg T TRTeRa 1 SAT foRar o

57.

Which one of the following statements about
coins struck during 200 BCE to 300 CE in the
Indian subcontinent is not correct?

SUMETEY W $AT-Ud 200 ¥ 300 Ut F
R grer T fereRl & W1 O fefaiaa o @
HI-TT e T T 82
(a) The Indo-Greeks introduced bilingual and
biscript legends on their coins./fd=- (
fi) 7 o fyasi W funh sk f3 %ﬁ
AT N YA A |

(b) The Kushanas minted large quantities of gold
coins as well as cc;@l?er coms of low
denomination. /$SToit e 9 0 &

= I Rt aﬁI i & foaal St zars |

(c) The Satavahanas issued coins of silver,
copper, lead and potin./Fﬂﬁ’OTfE?ﬁ i SICR ﬁﬁl,
49 (dg) 3R U & e Sl fpw

(d) Absence of Negama coins suggests the
declining power and authority of merchant
guilds. e @1 IR

fest o1 9ot aife s 920 s 41 vl &)
Ans. (d) : 7T fES R fics g0 I 5T 99 91 a7
Tt TRIRren sAaRET g0 MER & § @ &R & g

ﬁmm [ 8 drfed e @t A 21 e TR T AT T SaRafy ¥ AR et i owed v
feeped (c) wét e 3N S T B T I S GebelT| 3 DI (d) T T
55. The Battle of Rakshasi-Tangadi is popularly % fowew § R ™ UG 3 N HIH T d
known as the 58. Match List-I with List-II and select the correct
Tet-TET Fog A WTHEE: foRe A | AT answer using the code given below the Lists:
T 872 g1 & gEh-n & wy gRfea wmifve eiv
(a) Battle of Talikota/TIAHIET 1 q5 gl o el faQ T Fe g W wE ST
(b) Battle of Khanwa/@TaT &1 I g
(c) Battle of Panipat/a=ad &1 I List-1/g=i-1 List-I1/g=-11
(d) Battle of Dharmat/Td 1 5 (Vedic name of river/ (Modern name/
Ans. (a) : TIE-TTE g@ﬁaé%‘z Wﬁ@ﬂ@% &t w afe ) J )
A Y ST S 211565 € H w5 b U (deg), A. |Drishadvati/g¥gdl 1. |Chenab/feHa
3TEHE A, Merher 3R fiel, TR FI BIghT) = 399 H B. |Askini/3amt 2. |Chautang/=TTT
iy T ot ST Arefisier g5 § o i Fue 38 T C. |[Vitasta/fome 3. [Ravi/TET
X fean D. |Purushni/g&sit 4. {Thelum/zrer
56. Ashokan inscriptions in Afghanistan are Codes/&e:
written in which one of the following scripts? odes
EME o ' A B ¢ D
frafafiaa & @ form fafu o fomar o €2 ((35 ‘1‘ 41‘ g
() Brahmi/siTefl 3 1 4 2
(b) Sharada/?MaT (d) 3 4 1 2
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Ans. (b) : T g ©

Tt @ Afees AW amerfees AT

G/ gl - et/ FrER

SRR - EEIG)

fererean - Bk

i - Tt

59. When was the Kothari Commission appointed

by the Government of India to look into the
education sector of India?

Ord o e & =t aefian & fag ara wer
BT ISR R & s el i 3 oft?
(a) 1967 (b) 1966
(c) 1965 (d) 1964
Ans. (d) : T THR 57T a9 1964 H e &= &5t gien
% fou €1 w9, Sl ST H UH A &1 S
feram e e e7ot R as 1966 & Sqa &1 oAt 1 7o
ot & 3@ RO 3R Qi SeRaie o fie fen
W IA 3 H A Fe T A
60.

Which one of the following is not correct?

frrafafea & @ S=-ur o =& 82

(a) The gulf Stream is a warm ocean current.
TOh T, ST AR 91 2 |

(b) The North Atlantic Drift is a warm ocean
current. i ar  (fewe), o0
TR T 7 |

(c) The Labrador Current is a cold ocean

current./ﬁ&ﬂ?ﬁ? YT, 3fid TR 9/ %I

(d) The California Current is a warm ocean
current/ &RT, 0T g B

Ans. (d) : To% TH, 30 FEETRKE 9”@ S ecliies
TR A # wWEl ¥ @ gedt g1 3ad
Fedifesd fgoe SW TREFHE 9N WdEER aw i
TR O qeT sl o 3 qerErdE 6w 2
a1a: foeheq (d)  fan T e e 4 2

(a) 2 and 3 only/&ad 2 3 3
(b) 1and 3 only/a\v'al?[ 1 33
(c¢) 1 and 2 only/&ae 1 3R 2
(d) 1,2 and 3/1, 2 3 3

Ans. (¢) : THRE g YAt & Tdg b (el off
W, 2, gdd, 74 o7 ) Refy & d9E @
FE T ®q § gular S @ AERED &6
e Geiel @i e & fou fohar S @1 U et
g F W ER AN W@, H SIET HA(H
(I ) HEd 2| AARET & GEAT § UH @E 9§
TR W W I F o ant seffa fhar s e 21

62. Which one of the following statements about
great circle' is not correcrt?

‘ggg g9 (I Wehel)' & o U frefaiaa & 9

| R T T §?

(a) Every great circle divides the Earth into equal
halves./ g I, oA FI quH amﬁ%
afear 21

(b) Every great circle is a circumference of

Earth./98% 988 34, gt s aRfer 21

(c) Great circles mark the longest travel routes
between  locations on  the  Earth's
surfgace. I, - W ETYH & o
&dfam FmEr-Amt B g B 2l

(d) Great circle is the largest circle that can be
drawn around the Earth through two

particular points./ggg 9d 98 JeaHd ?ﬂ% 5@
T freifa figedl & @ & geft & 9/ R

e fepam ST Tehem 21
Ans. () : T2 J0 feft Tt W W= a7 Gl ST 99 @
Yol W ged 99 U M il # snedr 81 988 g9
geaT = uRfY 21 982 99 9% geaw g ¢ P & fwiRa
forgatl & e ¥ gt & 9) SR oifed fRen s wea
21 988 99 1 g0 Mol I Fae W el & WE % a
1 T A T 21 37 B ¢! e 2

tyls

61. Which of the following statements about maps

are correct?

et % an # g § @ #9-9 e

Tt €2

1. Maps that maintain the true shapes of
areas are known as conformal maps.fll'ﬁ
TEfoS, S &5 T el AMRR ST W
g, I ITET Al (SR HU) wed
gl

2. Maps are used to show spatical
relationships.fq'ltl'f;'vlﬁ HT SUIRT TATHR
Heiell st TN & forw feram e 21

3. Maps cannot show route from one place to

another./ATAE Teh & E:) W W W

S o for wmt yefdfa T & wend €
Select the correct answer using the code given
below./Si=r feT T Fe &1 T TE ST

63. Which one of the following statements is

correct with reference to normal lapse rate?
TE SHfA-gX (AT AW @) & e H,
frrafafea § @ SF-1 a9 9 72

(a) Temperature is highest at ground level and
decrease with increasing altitude./dT9A 9fH
T W I BT § a9 HAR ded % Y-
T T2 2|

Temperature is lowest at ground level and
increases with increasing altitude./daT9®= qfH
a8 R a9 g1 8 71 398 Fed & Y-
T T

Temperature remains stable with increasing
altltuge JATHEE ST S & rg-Ty R ar
Edl gl

Temperature first increases with increasing
altitude and gradually starts decreasing.

AT 391 a7 & Wg-919 98t a3l 8 3K
SHAST: ST Y& & S 8

(b)

(©)

(d)
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Ans. (a) : T 9 760 T AHIT A AR TG
Y- TEd & W WHA H MR - 3w
e e 1 el M 2| SIEUsd # ges 165 HieX
F HAE Fed W agwH § 1 foft afcoew &t firee &=
FI S &

64.

Which one of the following is a tributary of the
Brahmaputra River?

frrafafea # 9 ®F-, sy T8 & Tees

Tt &7

(a) Ghaggar/=""X (b) Mahi/AT&t

(¢) Kosi/adr (d) Manas/m g
Ans. (d) : TE T, SR H TS T4 3Hh T &
femim 7 <ifed 7, el 7€, ST A e dar T
ﬁwﬁwﬁawﬁ%wﬁm%
AT TR ¥ fwerd 8 3R ame & @l § s
frr It 81 3 e &9 § ARG WO & AW G S
ST B
65. The landmark case of D.C. Wadhwa vs. State

of Bihar in the Supreme Court is related to

which one of the following powers of the
Governor?

Sooae e § € . anger aam faew
T @ Ufdemds  Umer, TSOuTE @t
Trrefafeaa st § @ ferad deifira &2
(a) To repromulgate ordinances
I TG BT
(b) To appomt a Chlef Minister
[EX] & fgeh HE
(c) To grant pardon, etc./&TH 37f& HTAT

(d) To revise the emoluments and allowances of
the MLAs/faumaei @t

TN

Ans. (a) : .49 TEET S SRR TSI WHCT STEARIN I
T: AT Fh AR EH I JEIANT F § Hafer
o719 HIFS % ded FAebehdl SN SeqH e § a8
A2 W& fopan T % foRR # ¥ 1966 § 1981 & HeA
FA 256 FAR S P T A 3 fAyEmvSd g)
forT STIfea fopT aR o St @ 14 af @ Sifaq @
T ATl STAH e 5N g6 HfawH & Wy e
AT |

66.

'Operation Flood' is also popularly known as
‘ ST TS’ Rl WHT: AR form amw & ot
T AT 87

(a) the Green Revolution/gRa shifd

(b) the White Revolution/&d hifel

(c) the Blue Revolution/=tett hifd

(d) the Yellow Revolution/da (diett) shifer

Ans. (b) : 3RIF TS H AT Hhifd & A0 F AT AT
21 T yEerd A 1970 § gE A1 gu wur . affer
Fea 91 o 8 f eRa w1 ddw R 9,
Feft ohifa &1 Gy AT IaAed ¥ agn diet wifa faea
I § Haife 2

67. The 'Stand-Up India Scheme'

which one of the following issues
‘Te-am Ifean whw' frafataa § | f6d g8
q Heiftr #7?
(a) Social security during old age
FETaET % A G R
(b) Providing technical knowhow to young,
educated or skilled workers from rural

areas/TTHIOT & & a1, fufem @ g
HIERI HT ThA1b! DN TG HEAT
(c) Promoting entrepreneurship amongst women,
SC and ST communities/AfeTani 347‘1}1%!?[
ST SR g SHea qg‘q’rqi % o=
e I agmEr
d) Insurance cover to people in the age group of
@ 18-50 years/18-50 %ﬁpas g aﬂfgéag@ﬁﬂ# ED
et s e
Ans, (¢) : ‘Te-30-3A Whw # YEIE a¥ 2016 F
# TR R Eew sRya wfwned, wifa ek
St TR & fte ST St gt @
T&d STgfaT aifvisas S &t 9t §% wrar § w9
§ A TH ST S/ YA S SR 6w
¥ FY TH A IUREA H 10 TG THA G 100 AE
% T 0T A g e B 3

68.

is related to

Which one of the following is not a feature of
Indian federalism?

frafafea & @ wE-d ardia guare =
fergrerar =& &7
(a) Courts can interpret the constitution and
powers of different levels of the
government./=IR&TAd, G IR gEFR F
foftm w® ot wfeal &1 fdea (FeTe) =
Tehd &1
(b) Sources of revenue for the Union
Government and the State Governments are
specified./H9 HEHR 3N T SR H feT
ToreE & Hid fafde Y e E
(c) Powers of the Union and the States are
specified in the Constitution./Sfae= § ¥9
3R At i wiRea i iy e w2
(d) Indian federalism is based on the principle of
Separation of Powers./SRd& Hoama
TYFHT & gia W enia 21
Ans. (a) : UM 3R TR & e @@ &t vfeat &
fod=m =amaTer g A S R g A e Tl
B AT G % Simla SR § g HEE WER eIk
dl # TR § uied @ fwem, ffed e #eR
T 97 T e 99 TEEH 5T T E)
69.

Consider the following statement:

frrefafaa et w foem wifg:

1. The early Malwa school of Paintings was
influenced by Shirazi school while the early
Mughal paintings initially followed Bihzad
school.
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YRR ATt feorsreherr-giett, Brst dieft| 71. Consider the following statements:
¥ gurfera oft, Sreifer wrifes qarer ferstenet frfafaa wel W faem wifu;
J I foreste It &1 T R 1. Mirage 2000 is a twin-engine fighter jet.
) TF . . . /RRTST 2000, Tk f3-397 T8 I 21
. e major exponents of Bihzad school in . . -
India were Sayyid Ali and Abdus Samad. 2. H?/I@Tga%ls a déét;a-wmg;(_l@}ﬁghter
aRa # feagee Yioft & v yede dee Jet/TE. T T, AT, T Swer-delt g
T R
areft ofiT stegw wWHE AN ;
Which of the statements given above is/are 3 Rafazlﬁe issma hypersonic fighter jet, ’
correct?/3UHTH HUA § ¥ HIA-GI/AA-T T A (ETETRITR) T T
38 Which of the statements given above 1s/are
: correct? <h hTH-HT
(a) 1 only/&daa 1 i /87
(b) 2 only/&aa 2 (a) 1and 2/1 3 2 (b) 2 only/&ad 2
(c) Both 1 and 2/1 3R 2 (c) land3/1 33 (d) 3 only/¥aa 3
(d) Neither 1 nor 2/ @ 1 3R 7 & 2 Ans. (b) : ‘RIS 2000’ HifaE FHT e TTTRE A
Ans. () : SRR Ao Feen el RSt e @ || et gom Al < did B ererg foEe @) e
yotfe off, St SR gl R 4 ¥E § e gmmﬁé'gAé@mmmg
Yot F1 ST BN an 9w # feee e ¥ e I g f €1 T e am f
Yade deag orell S ofgy §He 91 SoieHE @ fh 134 T 1 S e 2 W :
157wt 5 o s wpegfs o g v | 1 GRS G0 ind manufactared Fatcon
3 faferer 1 sffefad &2 & fore e s Fepever & @ 9' a reusable rocket?
F R T ST F &7 § s gam o) faafafea @ 9 v e @ud § g
70.  Which of the following statements about 'Ek WIS ehe "ok 9t tfieRfeud (fesmsT)
Bharat Shreshtha Bharat' programme is/are i fafife feran?
correct? ) (a) Blue Origin/sg RS
‘TF ARG 9F WWA’ e % O (b) Boeing/dTET
%ﬁgﬁa@a FHoA W W RA-AU/AA-E TE (¢) Lockheed Martin/@edis =
i
! (d) SpaceX/®HX
1. It was announcefl in the year 2014./88& | [Ans. (d) : TE X* TREE FEA EGURC G| ;RIS Tehe
e o 2014 F @ 0 ofh anﬁﬁﬁhﬁwwéwﬁ@:ﬂu% g
2. Tts aim is to create an environment which | [T TS Tehe % o weT fewdl 1 g
promotes learning between the States by F Hl oo 21 2 o A # S
sharing best practices and | 73. 'The Kh-47M2 Kinzhal', a nuclear-capable
experiences./SUhT eI TR GTATAUT <RI hypers‘onic missile,‘)belongs to which one of the
formior s ¢ el Tt & ofter t-gE following countries: P, ‘K.
:%ﬁgaﬂ%?ﬁ?-aﬂﬁﬁﬁaﬁwaﬂﬂa}ﬁﬁ@ﬁ 47M2 et , Preafufias & O e 3or 3% 37
Select the correct z;nswer ulsing the code given (a) China/H (b) France i
(c) Russia/&q (d) USA/g.Ta.T,
below/=t<t HE H FART & I .
¢ °W| fe T e Ans. (¢) : “Kh-d7M2' [hofer &9 &1 (160 SRoRaiTh
U Afeiftess frarse 81 8t & § &9 gR U SEH oot
(a) 1 only/&daa 1 & foeg far T o
(b) 2 only/ A 2 74. Mariupol city, frequently mentioned in news in
(c) Both 1 and 2/1 3t 2 gt t!le context of Russia-Ukraine conflict, is
(d) Neither 1 nor 2/ a1 3t 7 & 2 situated 0‘;1%‘;' coastoft v -
Ans. (b) : TH WA T A AT H EAT T w-mmaamamm%m
T WS Ued H WA oh AW W 31 IR 2015 2 W o 7
H T A g IRvd R # fafae § oo & (a) Aral Sca/3TTel TR
aazmaﬁméméwﬁﬁaaaw 1 T FH (b) Baltic Sea/dlfees T
g 35‘ Tl % A TG % seadd dj Ak s (c) Caspian Sea/H¥a TR
STl 9 Hig g F e e (d) Sea of Azov/3TSE TR
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Ans. (d) : TRgAA el g&f ok & aefte 7@ @1 T
TR 21 AR frasifaer & § Ffevaw o Fatus At
% M W ANE G F IOl a2 W Rem R =®
431859 S SHEE F W T FI GG G TT T B

75.

Recently, with which one of the following
countries did India sign the 'Comprehensive
Economic Partnership Agreement'?

T &t °, frrafafiaa # & fore 291 & @1 wRa

qJ ‘e e wrfieft R W gEEr

feram 272

(a) Egypt/foe

(b) Israel/sSIUged

(c) South Africa/afeTuT 3T

(d) United Arab Emirates/H§gth & SFHNI
Ans. (d) : 1A & § 9RT 3R TH 3 TN (TWE) F
e =g 3nfles arEier THehar (HEdT) W sERR gan
2| IO Y §fie F A 18 WEd 2022 FH
2T 39 9 79 THEid W EWRR U1 Fe wHgiar 1 0¥
2022 § TN g3
=9 e WPE! THEar aFl 39l & di= SR i
TeIfed F3 3R GuRA & oI U GLIIe 67 Ja et
21

76.

Which one of the following is the oldest Central
Paramilitary Force in India?

frafafea @ ¥ &E-91, 9RG ¥ TE9 qOET

ST arelifores oot 872

(a) The Central Reserve Police F orce/H=51a e
gfery 7

(b) The Border Security Force/SHT BRSNS

(c) The Assam Rifles/3THH Tghed

Select the correct answer using the code given

below./Ster feu @ we @ W WE I

Bl

(a) 1 only/&daa 1

(b) 2 only/&Haa 2

(¢) Both 1 and 2/1 3R 2 &t

(d) Neither 1 nor 2/ @ 1 3R 7 & 2
Ans. (¢) : ffeeT wra & woi gy aiftrfses wwfar
S SeNEd 94 % Suie o SHdl O & 9Rd #
Heeaqul aforfsaes w9 fafesr ama # fafaer sam,
MR SR GO 1 3T T a1 Hosddl § THGEl H
SETCr T S gl onl 184 3 199 ymed # Wra
H ARHTY 9T T e FAT & SRR F am
78.

Which one of the following statements about
Talkappiyam is not correct?
& ar ¥, fafated waat 7 9
-6 WE & 27
(a) It is a treatise on grammar/3Jg ST H Th
T 2|

(b) It was composed between first to fourth

century CE./J8 Tgeil T et vaed Sodt &
o= i T o
(c) It was part of the Sangam corpus.
g T Hifeed & T 31 o |
(d) It was composed by Panini.
Iz wifvT g1 & i off
Ans. (d) : TIeHeTgy el SAHLT &1 = T 81 Tg
T W™ & IUG Uh A TEAGH T 21 g6
TGS AR € | 3G T W et § B T 21 g
ST & g g, o, F9 ud A 1 et & @R
R gR T T g e S }1 S g
ST T Th T T B

(d) The commando Battalion for Resolute . :
. e g < 79. Which one of the following statements about
Action/ BRI TR 'Princely States' in India is not correct? )
Ans. () : YRA N FoG [T H519 FIATH oot 3190 WA § ‘29t Tt ok O ®, frefafiaa st
TEhed 21 38 gof ®9 § 1835 H wifue fpan wan em T q wi-a1 T T2 772
3THH Tghed bl HE&ATT AT H %I g & Fd IW (a) The British Government declared that States
T—;f iRl el &t fre e 3R ITeUTEe geET were free to Join either India or I%akistan %
TG, fiT ik AT § e i g FE 2 remain independent./f ? MINA ﬁ E
77. Which of the following statement about A & T ﬂW A A & &
'Agency Houses' is/are correct? fer = .. aﬁ:\gﬁ a; fer . i .
'Q"&Fﬂ TR’ F W W PrefaRad wmua ¥ o (b) The decision to join either India or Pakistan
3 Y- e & or remain independent was left not to the
- B : people of Princely States but to the Princely
1. They were important commercial Rulers./9Rd § 21 wifshea™ § wnffret €19 &1 4
formations in the late eighteenth and @ 99 © &1 fAofa, <ef asat & S
nineteenth century Ind?a./ﬁ STSWEat !quf 8, afess 3 TS F IIHS W BT W
& 3T i 35“}”“ T H o ° (c) The Ruler of Travancore first decided to
Hewaqul aTfuTfeeres |@e o remain independent. /999 UgA FEUHR &
2. The operation of managing agencies MG J T 51 T/ H i o
remained confined to Calcutta./qSErY (d) The State of Travancore Finally joined India
TSTHET T YeITeT Sheteh™ll deh S o= T through a plebiscite. ST 3
I SAA-EIE o WIEAH § ARG # i ga |
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Ans. (d) : R T T TR 37 v99 R § 9
T o, 99 99 & 99 foe T W gERR 1 9
IR 5 o wd F9 & T A9 W vt aE
o1 FA FHSEE T o Th Hee g Ol TR g
% IR T & 9% WA SR 7 9RG § T F
GHa R 3R 30 S[@E 1947 HI AGUHR 9RA §
e g1 T

3 TSR T F1 fed STHa-T18 T T2 afess foea
T W FERR Y g A ¥ ¥ Ry ey A Fem
T 2

80.

Which one of the following books was authored
by Harshavardhana?

Freafoefian el # 4 A1 of edaria g eh

g oft?

(a) Harshacharita/g¥afRa

(b) Kadambari/Ew=il

(¢) Ratnavali/T=Taait

(d) Gitagovinda/‘ﬂﬁ“‘ﬁﬁl’i‘
Ans. (¢) : TYIEH EU W TE W, IEC, ANHR
frerefyier 31 gdae, ada g %1 wrgw o1 3 606 €.
T 647 ¢ T IW 9RT W A fHAT gHERa qen
FEmEd & oigsh SUTIg adT Mauiie=s & oEsh J9ed § |
81.

'The King of Dance' is a description of
‘g e o1t Tiw’ femaent forstor €2
(a) Trimurti at Elephanta Caves

Tetthet e § Frgfd
(b) Kaliyamardan of Krishna/F®T 3T Fiferamas
(c) Bodhisattva Maitreya at Gandhara

TER # S
(d) Bronze nataraja of the Cholas

Al B I TS
Ans. (d) : T 57 1% S/ § =l &1 HE TS H
fepror &1 fre et i i Enedt waed # o ard
# =l el % I et (9d1-134 v €.) & &R
S T o S A # dftrorg ae § §)
T R § T A GET q W F ATl s
# Y U A9 ToEY 5 LY AR 3R S G
& O F e F A
82.

Anasagar Lake is located in which one of the
following States?

AMMETR e frafafga o 9 few o= ®
Ter €7

(a) Gujarat/ToI0d

83. The World Wetland Day is celebrated on which

one of the following dates every year?

Tk a6 frafefaa o @ form arfi@ &t fag

dfyy feaw (aes decis B) WA ATar 87

(a) 10th June/10 S[T

(b) 13th February/13 %ad

(¢) 9th March/9 A=

(d) 2nd February/2 ®{ad
Ans. (d) : Y% a8 2 wEd @ fay omHEyfy faaw
(World Wetland Day) AT ST 8| A, giedl, drersi
N 5 @ve et Rafy %1 3@d gu 2 wEd 1971 #
W F TR T G HAYT H TN T 4TI
Tofere 39 fom @ gt gfen § faw smdyfy fRew’ % ww
# e S 21 a 1975 # 39 HeAw @ an] A m@
a7 ugell IR fog oMy feaw 2 wEd 1997 # HARN
T ATl 9RA 1 e 1982 H 39 g W gy fHar
o fag sy faw 2023 &1 fawg- “Iede WEReE”
21 9 F 75 THER e 21
84.

Ganga water is being shared at Farakka with
which one of the following countries?

TeRRT § T Set ot Taeferfiaa # & fore Qo1

R W |IEAT feha <1 @1 872

(a) Nepal/ﬁ"ﬂa (b) Bhutan/¥9eT=

(©) Bangladesh/ﬂh’ﬁf%ﬂ (d) Myanmar/vlmﬂ
Ans. (¢) : R T T S Hl ITARY & QY G0
foRa ST @I 21 9RA 3N SRy 4 W S & 9Eed &
fore 12 fewwmr 1996 & weh gwgiar fhar on| ufyw &er
& fvferae ot § fodq waw o0 § el § 7 a6
U FT ST HY Wl 1 I GESNd & ded 39 sty #
a1 ST AT A T 3w wEed i e 30
a5 & 2|
85.

Which one of the following is a part of Deccan
Plateau?

frefafaa & | w=-91, S (goh) & TR

T W &2

(a) Aravalli Hills/3Taelt weifgat

(b) Karbi Anglong Hills/®re e weifeat

(c) Shivalik Hills/f¥ranferss aifeat

(d) Vindhyan Hills/foea weifsat
Ans. (b) : FE STAT FEIEAT IRIVT (IFF) b ISR H
foaR 81 7@ WA Tiieam gy # 9w g T
TP H 21 THH T JAR 600 F 900 H. F HA T
IR § SR H TELGE SR 3 wrl § e 2
THh TG HE], S SHAErE H USR, dSerars
HT TSN, IVSHNUT YIR IS Hl qahd & UK | wiker
o ST Heha 2|

(b) Uttarakhand/STrEs 86. In which one of the following- Sta.tes, more than
. 50% area is under Jhum cultivation?
(c) Rajasthan/TSTEETT frefeiaa & @ R T | 50% @ afrew @
(d) Karnataka/&iesh . ECkCat & Sfaria ITieT &7
Ans. (¢) : FIFHTR et o 7 e 21 78 wh FOm (a) Manipur/ARTq (b) Assam/3THH
el & Sl SIS AN % St S 8 | (c) Sikkim/fafspa (d) Mizoram/fsie
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